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B.Com. DEGREE EXAMINATION, NOVEMBER 2017 

First Semester 

Commerce 

ADVANCED ACCOUNTANCY –– I 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Journal? 

 SÔ¨÷£k GßÓõÀ GßÚ? 

2. What is ‘Contra Entry’? 

 Gvº £vÄ GßÓõÀ GßÚ? 

3. What do you mean by Error of Omission? 

 Âk ¤øÇ Gß£x £ØÔ E©x P¸zx ¯õx? 

4. What is Bank Reconciliation Statement? 

 Á[Qa \›UPmk AÔUøP GßÓõÀ GßÚ? 

5. What is Revaluation Method of Depreciation? 

 ©Ö©v¨¥mk •øÓ ÷u´©õÚ® GßÓõÀ GßÚ? 

6. What is Depreciation? 

 ÷u´©õÚ® GßÓõÀ GßÚ? 

Sub. Code 
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7. What do you mean by Final Accounts? 

 CÖvU PnUSPÒ Gß£x £ØÔ E©x P¸zx ¯õx? 

8. Differentiate between Capital and Revenue items. 

 ‰»uÚ ©ØÖ® Á¸Áõ´ CÚ[PøÍ ÷ÁÖ£kzxP. 

9. What is red ink interest? 

 ]Á¨¦ ø© Ámi GßÓõÀ GßÚ? 

10. Define: Average due date. 

 Áøμ¯Ö: \μõ\› uÁøn|õÒ. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the advantages of accounting? 

  PnUQ¯¼ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Enter the following transactions in the primary 
books of Mr. Anathan: 

2007 January  Rs. 

1 Started business with cash 90,000

2 Deposited into bank 9,000

3 Goods purchased for cash 1,500

4 Withdraw from bank for office use 1,500

5 Credit sales to Krishna 1,500

6 Credit purchase from Mohan 2,500
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  ¤ßÁ¸® |hÁiUøPPøÍ BÚ¢uß AÁºPÎß •uØ 

SÔ¨÷£miÀ £vÄ ö\´P. 

2007 áÚÁ›  ¹. 

1 öuõÈÀ öuõh[S® ÷£õx •u½k ö\´u öμõUP® 90,000

2 Á[Q°À ö\¾zv¯x 9,000

3 öμõUPzvØS \μUS Áõ[Q¯x 1,500

4 A¾Á»P ö\»ÂØPõÚ Á[Q°À £n® Gkzux 1,500

5 Q¸ènõÂØS PhÝUS \μUS ÂØÓx 1,500

6 ÷©õPÛh® \μUS PhÝUS Áõ[Q¯x 2,500

12. (a) What are called error of principle? 

  öPõÒøP¨ ¤øÇ GßÓõÀ GßÚ? 

Or 

 (b) From the following details prepare a Bank 
Reconciliation statement on 31.12.2015. 

  (i) Balance as per cash book Rs. 7,885 

  (ii) Cheques deposited but not collected Rs. 665 

  (iii) Cheques issued but not presented for payment 
Rs. 679 

  (iv) Bank charges debited in pass book Rs. 200 

  (v) Interest credited in the pass book Rs. 105. 

  RÌÁ¸® Â£μ® öPõsk 31.12.2015 AßÖ J¸ Á[Qa 

\›Pmk AÔUøP u¯õ›UP. 

  (i) öμõUP Hmiß £i C¸¨¦ ¹. 7,885 

  (ii) ö\¾zv¯ Põ÷\õø»PÎÀ Á`¼UPõuøÁ ¹. 665 

  (iii) AÎzu Põ÷\õø»PÎß ö\¾zxøPUS ÁμõuøÁ 

¹. 679 
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  (iv) Á[QUPmhn® ö\À÷»miÀ ¹. 200 £ØÖ 

øÁUP¨£mhx 

  (v) Ámi ö\À÷»miÀ ÁμÄ øÁUP¨£mhx ¹. 105. 

13. (a) Differentiate between Fixed Instalment Method and 
Reducing Instalment method of depreciation. 

  ÷u´©õÚzvß {ø»z uÁøn •øÓ ©ØÖ® SøÓ¢x 

Á¸® uÁøn •øÓ BQ¯ÁØøÓ ÷ÁÖ£kzxP. 

Or 

 (b) On 1st April 2005 a firm purchased machinery worth 
Rs. 1,50,000. 

  On 1st October 2007 it buys additional machinery 
worth Rs. 30,000 and spends Rs. 3,000 on its 
erection. The account are closed each year on  
31st March. Assuming the annual depreciation to be 
10%. Show the Machinery account for 5 years under 
written down value method. 

  J¸ C¯¢vμzøu {ÖÁÚ® 1-&4&2005À Áõ[Q  

¹. 1,50,000 ö\¾zv¯x. AU÷hõ£º ©õu® JßÓõ® ÷uv 

2007 ÷©¾® ¹. 30,000ØS C¯¢vμ® Áõ[Q¯x. ÷©¾® 

¹. 3,000&US ö£õ¸zxuÀ ö\»Ä ÷©ØöPõÒÍ¨£mhx. 

PnUS 31 ©õº]À •iUP¨£k®. Á¸h÷u´©õÚ® 10% 

GßÓ FPzvÀ ©v¨¦ SøÓ²® •øÓ°ß RÌ  

5 BsiØS C¯¢vμU PnUS u¸P. 

14. (a) Bring down the importance of income and 
expenditure accounts of non-profit organization. 

  »õ£ ÷|õUP©ØÓ {ÖÁÚ[PÐUS ÁμÄ ö\»Ä PnUQß 

•UQ¯zxÁ[PøÍ öPõnºP. 

Or 
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 (b) Compute the expenditure to be shown in income 

and expenditure account from the following : 
 Rs. 

Sports materials purchased for cash 40,000
Opening stock of sports materials 10,000
Closing stock of sports materials 16,000
Opening creditors for sports materials 14,000
Cash paid creditors for sports materials 44,000
Closing creditors for sports materials 12,000

  ¤ßÁ¸ÁÚÁØÔ¼¸¢x Á¸Áõ´ ö\»ÂÚU 

PnUSPÎÀ Põs¤UP¨£k® ö\»ÂøÚU PnUQkP. 

 ¹. 

ÂøÍ¯õmk¨ ö£õ¸mPÒ öμõUPzvØS Áõ[Q¯x 40,000
ÂøÍ¯õmk¨ ö£õ¸mPÎß öuõhUP°¸¨¦ 10,000
ÂøÍ¯õmk¨ ö£õ¸mPÎß CÖv°¸¨¦ 16,000
ÂøÍ¯õmk¨ ö£õ¸mPÐUPõÚ öuõhUP PhÜ¢÷uõº 14,000
ÂøÍ¯õmk¨ ö£õ¸mPÐUPõÚ PhÜ¢÷uõ¸US  

öPõkzu öμõUP® 44,000

ÂøÍ¯õmk¨ ö£õ¸mPÐUPõÚ PhÜ¢÷uõ›ß 

CÖv°¸¨¦ 12,000

15. (a) List out the limitations of average due date. 

  \μõ\› uÁøn ÷uv°ß SøÓ£õkPøÍ¨ £mi¯¼kP.  

Or 

 (b) A partner has withdrawn the following sums of 
money during the half year ending 31st Dec., 2008. 

 Rs. 
1st August 2,000
18th August 200
3rd October 50
18th December 1,000

  Find the average due date. 
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  31.12.2008À •i¢u Aøμ¯õsiÀ Tmhõsø©¯º 

RÌPsh Gk¨¦PøÍ ö\´uõº. 

 ¹. 

1. BPìm 2,000

18. BPìm 200

3. AU÷hõ£º 50

18. i\®£º 1,000

  \μõ\› uÁøn |õøÍU PõsP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. From the following informations pass journal entries and 
prepare the trial balance. 

2001 April  Rs. 

1 Capital introduced by Mr. Parthiban 18,000

2 Purchased goods from Ganapathi 4,000

3 Cash purchase 5,000

4 Purchased a steel almirah from  
Raman & Co. 570

5 Cash purchases 6,500

6 Sold to Mr. Narayanan 3,000

9 Goods bought 7,500

13 Paid by Narayanan 3,000

16 Interest paid 250

22 Paid rent 500

30 Paid salary 4,500



AFF–4316

  

  7

Sp 6 
 RÌUPsh |hÁiUøPPÐUS E›¯ SÔ¨÷£mk £vÄPÒ 

©ØÖ® C¸¨¦a ÷\õuøÚ²® u¯õº ö\´P. 

2001 
H¨μÀ 

 ¹. 

1 v¸. £õºzv£ß ö\´u •u½k 18,000

2 Pn£v°hª¸¢x \μUS Áõ[Q¯x 4,000

3 öμõUPzvØS \μUS Áõ[Q¯x 5,000

4 Cμõ©ß P®ö£Û°hª¸¢x C¸®¦ A»©õ› 

Áõ[Q¯x 570

5 öμõUPzvØS öPõÒ•uÀ ö\´ux 6,500

6 |õμõ¯nÝUS \μUS ÂØÓx 3,000

9 \μUS Áõ[Q¯x 7,500

13 |õμõ¯nß ö\¾zv¯x 3,000

16 Ámi ö\¾zv¯x 250

22 ÁõhøP ö\¾zv¯x 500

30 \®£Í® ö\¾zv¯x 4,500

17. The Cash Book of a Trader showed credit balance of  
Rs. 875 on 31st December, 2008. On verification with the 
Bank Pass Book it was found that: 

 (a) A Cheque for Rs. 300 dishonoured was not entered 
in the Cash Book. 

 (b) Bank Charges amounting to Rs. 10 were not 
recorded through the Cash Book. 

 (c) There was a wrong credit of Rs. 750 in the Cash 
Book. 

 (d) Cheque for Rs. 580 paid into a branch of the Bank 
on 31st December had not been entered in the Pass 
Book. 
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 (e) Interest amounting to Rs. 970 was recorded by the 

Bank and entered only in the Pass Book. 
 (f) A Cheque for Rs. 250 was paid into the Bank for 

collection but the Cash Book showed no entry for it. 
  Prepare a Bank Reconciliation Statement as on  

31st December, 2008. 

 i\®£º 2008À J¸ ÁºzuP›ß öμõUP C¸¨¦ ¹. 875 ÁμÄ 

C¸¨¦ PõmkQßÓx. Á[Q ö\À÷»k ÷\õuøÚ ö\´²® 

ö£õÊx ¤ßÁ¸® Psk¤iUP¨£mhkÒÍx. 

 (A) ¹. 300 Põ÷\õø» AÁ©vUP¨£mhx. AuøÚ öμõUP 

HmiÀ £v¯ÂÀø». 
 (B) Á[Q Pmhn® ¹. 10 öμõUP HmiÀ £v¯ÂÀø». 
 (C) öμõUP HmiÀ uÁÖu»õP ¹. 750 ÁμÄ 

øÁUP¨£mkÒÍx. 
 (D) ¹. 580 Põ÷\õø» Á[Q°À 31 i\®£›À 

ö\¾zu¨£mhÚ. BÚõÀ ö\À÷»miÀ £v¯ÂÀø». 
 (E) ¹. 970 Á[Q ÁÇ[Q¯ Ámi ö\À÷»miÀ ©mk® 

£v¯¨£mhÚ. 
 (F) ¹. 250 ©v¨¤øÚ Põ÷\õø» Á[Q°À Á`¾US 

AÝ¨£mhÚ. BÚõÀ öμõUP HmiÀ £vÄ 

ö\´¯ÂÀø». 31.12.2008À Á[Q \›Pmk® £mi¯À 

u¯õº ö\´P. 

18. On 1st January 2010, a firm purchased five machines at 
Rs. 10,000 each. On July 1st, 2013 it bought two 
additional machines at the price of Rs. 20,000 each. 
Installation charges Rs. 1,000. The accounts are closed 
each year on 31st December. Depreciation is provided at 
10% p.a. Show the machinery account for 5 years under 
Reducing Balance Method.  

 áÚÁ› 1, 2010À J¸ {ÖÁÚ® ¹. 10,000 ©v¨¦ÒÍ 5 

C¯¢vμ[PøÍ Áõ[Q¯x. áüø» 1, 2013À ÷©¾® Cμsk® 

C¯¢vμ[PøÍ u»õ ¹. 20,000 Ãu® Áõ[Q¯x. 

{ÖÄÁuØPõÚ ö\»Ä ¹. 1,000. PnUSPÒ JÆöÁõ¸ 

Bsk® i\®£º 31À •iUP¨£k®. Bskz ÷u´©õÚ® 10% 

GÚU öPõsk C¯¢vμU PnUQøÚ 5 BskPÐUS SøÓ¢x 

ö\À C¸¨¦ •øÓ°À u¯õ›UPÄ®. 
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19. The following is the Trial balance of Mr. Somu as on  

31st Dec. 2007, prepare trading and profit and loss a/c and 
balance sheet as on that date. 

Trial balance 

Particulars Dr. 
Rs. 

Cr. 
Rs. 

Capital – 40,000

Sales – 25,000

Purchases 15,000 –

Salaries 2,000 –

Rent 1,500 –

Insurance premium 300 –

Drawings 5,000 –

Machineries 28,000 –

Bank (cash at) 4,500 –

Cash in hand 2,000 –

Stock 1.1.2007 5,200 –

Debtors and creditors 2,500 1,000

 66,000 66,000

 Adjustments : 

 (a) Closing stock Rs. 4,900 

 (b) Outstanding salaries Rs. 3,300 

 (c) Prepaid rent Rs. 200. 
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 v¸. ÷\õ• Gß£Áμx HkPÎ¼¸¢x öPõkUP¨£mkÒÍ 

C¸¨£õ´Â¼¸¢x 2007 i\®£º 31B® BskUS›¯ 

Â¯õ£õμ C»õ£&|mh PnUQøÚ²®, A¢|õÐUS›¯ C¸¨¦ 

{ø» SÔ¨¤øÚ²® u¯õ›UP. 

C¸¨£õ´Ä  

SÔ¨£PÒ £ØÖ 

¹. 

ÁμÄ 

¹. 

•uÀ – 40,000
ÂØ£øÚ – 25,000
öPõÒ•uÀ 15,000 –
\®£Í® 2,000 –
ÁõhøP 1,500 –
Põ¨¥mk •øÚ©® 300 –
Gk¨¦ 5,000 –
C¯¢vμ® 28,000 –
Á[Q 4,500 –
öμõUP® 2,000 –
\μUQ¸¨¦ 1.1.2007 5,200 –
PhÚõÎPÒ, PhÜ¢÷uõº 2,500 1,000
 66,000 66,000

 \›PmkuÀPÒ : 
 (A) CÖv \μUQ¸¨¦ ¹. 4,900 
 (B) öPõk£h ÷Ási¯ \®£Í® ¹. 3,300 
 (C) •ßTmi ö\¾zv¯ ÁõhøP ¹. 200. 

20. Mr. B had the following transactions with A during the 
year 1992. 

1-7-92 Bal due from A 600
15-7-92 Sold goods to A 1900
 10-8-92  Received cash from A 1100
19-8-92 Purchased goods from A 700
3-9-92 Returned goods to A 300
16-9-92 Received cash from A 500

 Prepare an account current to be rendered by B to A as on 
30-9-92 by calculating interest @ 10% per annum. 
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 B Gß£Áº A Gß£Á›h® RÌPsh Â¯õ£õμ |hÁiUøPø¯ 

1992À öPõsi¸¢uõº. 

1-7-92 A US öPõkUP ÷Ási¯x 600

15-7-92 A US ÂØ£øÚ 1900

 10-8-92  A °h® öμõUP ö£ØÓx 1100

19-8-92 A °ß öPõÒ•uÀ ö\´ux 700

3-9-92 A US v¸¨¤¯x 300

16-9-92 A °h® öμõUP® ö£ØÓx 500

 30.09.92À Gß£Áº A US öPõkUP ÷Ási¯ |h¨¦ P/S 

u¯õ›UP. Á¸h Ámi 10% GÚ öPõÒP. 

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2017 

First Semester 

Commerce 

BUSINESS ORGANISATION 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is service industry? 

 ÷\øÁzxøÓ GßÓõÀ GßÚ? 

2. What is meant by trading concern? 

 Â¯õ£õμ {ÖÁÚ® GßÓõÀ GßÚ? 

3. What is Sole Proprietorship? 

 uÛ •u»õÎ GßÓõÀ GßÚ? 

4. What is partnership? 

 Tmhõsø© GßÓõÀ GßÚ? 

5. Define small units. 

 Áøμ¯Ö&]ÖöuõÈÀ. 

6. What do you mean by representative firm? 

 ¤μv{vzxÁ {ÖÁÚ® GßÓõÀ }Âº AÔÁx ¯õx? 

Sub. Code 
4BCO1C2 
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7. What are qualification shares? 

 uSv¨ £[SPÒ GßÓõÀ GßÚ? 

8. Who are called Chief executives of the company? 

 {Ö©zvß •ußø© {ºÁõQ GßÓøÇUP¨£k£Áº ¯õº? 

9. What is Pricing? 

 Âø»°hÀ GßÓõÀ GßÚ? 

10. What are Public enterprises? 

 ö£õxzuøÓ {ÖÁÚ® Gß£x ¯õx? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the Industrial revolution in India. 

  C¢v¯õÂÀ öuõÈÀ ¦μm] £ØÔ ÂÍUS. 

Or 

 (b) Explain the nature of business. 

  Â¯õ£õμzvß ußø©PøÍ ÂÁ›. 

12. (a) What are the differences between partnership and 
company? 

  Tmhõsø© ©ØÖ® {Ö©zvØQøh÷¯ EÒÍ 

÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) Explain the signs of ideal form of organization. 

  J¸ |À» {ÖÁÚzvß Aøh¯õÍ[PøÍ ÂÁ›. 
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13. (a) Explain the Economies of large scale production? 

  AvP EØ£zv°ß ö£õ¸Íõuõμ ]UPÚzøu¨ £ØÔ 

ÂÁ›UP. 

Or 

 (b) What are the evils of big business? 

  ö£›¯ {ÖÁÚ[PÎß wø©PÒ ¯õøÁ? 

14. (a) Explain the rights of share holders. 

  £[Suõμ›ß E›ø©PøÍ ÂÁ›. 

Or 

 (b) Describe the duties of managers of the company. 

  {Ö© ÷©»õÍ›ß Phø©PøÍ ÂÁ›. 

15. (a) Explain the problems that are faced by public 
utilities. 

  ö£õxzxøÓ E£÷¯õP {ÖÁÚzvß wø©PÒ ¯õøÁ? 

Or 

 (b) Explain the recent industrial policy resolution. 

  \«£zv¯ öuõÈØöPõÒøP ¦μm] £ØÔ ÂÁ›. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Describe the Evolution of business. 

 Â¯õ£õμzvß ÷uõØÓzøu ÂÁ›. 

17. Explain the difference between Partnership and  
Co-operative Society. 

 Tmhõsø©US® TmkÓÄ {ÖÁÚzvØS® EÒÍ 

÷ÁÖ£õkPøÍ ÂÁ›. 
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18. Enumerate the Criteria for measurement of business 

firms. 

 Â¯õ£õμ {ÖÁÚzøu AÍ¨£uØPõÚ uμ® £ØÔ ÂÁ›. 

19. Describe the normal problem in management of an 
organisation. 

 {ÖÁÚzøu {ºÁQ¨£vÀ Põn¨£k® ö£õx¨¤μa\øÚPøÍ 

ÂÁ›. 

20. Describe the problem of public enterprises. 

 ö£õxzxøÓ {ÖÁÚ ¤μa\øÚPøÍ ÂÁ›UP. 

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2017 

Second Semester 

Commerce 

ADVANCED ACCOUNTANCY – II 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. What is retiring of bills? 

 ^mk K´ÄÖuÀ GßÓõÀ GßÚ? 

2. What is dishonor of bills? 

©ÖUP¨£mh ^mk GßÓõÀ GßÚ? 

3. What is Salvaged Stock? 

 «m¦ \μUS GßÓõÀ GßÚ? 

4. What is Average clause? 

 \μõ\› \μzx GßÓõÀ GßÚ? 

5. What is Normal loss? 

 C¯À¦ |mh® GßÓõÀ GßÚ? 

Sub. Code 
4BCO2C1 
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6. What is loading factors? 

 HØÓªS PõμoPÒ GßÓõÀ GßÚ? 

7. What is Joint bank? 

 CønÁ[Q GßÓõÀ GßÚ? 

8. What is Joint venture? 

 CønÂøÚ GßÓõÀ GßÚ? 

9. What is single entry system? 

JØøÓ¨ £vÄ •øÓ GßÓõÀ GßÚ? 

10. Mention the limitations of single entry system. 

JØøÓ¨ £vÄ •øÓ°ß SøÓPÒ ¯õøÁ? 

 Section B  (5  5 = 25) 

Answer all the questions 

11. (a) Explain the dishonor of bills and also state the legal 
implications in it. 

©ÖUP¨£mh ^møh ÂÍUQ Auß \mh ÂøÍÄPøÍ 

TÖP.  

Or 

 (b) Prakash draw on Praveen a bill of exchange for  
3 months for Rs. 25,000 which Praveen accepts on 
1st March 2004. On 3rd March, Prakash endorses the 
bill in favour of Pradeep. Before maturity, Praveen 
approaches Prakash with the request that the bill 
be renewed for a further period of 3 months at 9% 
per annum. Prakash agrees to the proposal of 
Praveen. Pass journal entries in the books of 
Prakash and Praveen, assuming that the second bill 
is duly met. 
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   ¤μÂß «x ‰ßÖ ©õuzvØPõÚ ©õØÖa^mk JßÖ  

¹. 25,000 US ¤μPõè Áøμ¢uõÒ. Aøu 2004 ® Bsk 

©õºa 1–® |õÒ A¢u ©õØÖa^mk ¤μw¨ Gß£Á¸US  

3 ©õºa  AßÖ ¤μPõæÚõÀ ¦ÓUSÔ¨¦ ö\´¯¨£mhx. 

©õØÖa^miß •vºÄ |õÐUS •ß¦ A¢u 

©õØÖa^miøÚ ÷©¾®3 ©õu[PÐUS BskUS  

9 \uÃu® Ámi°À ¦x¨¤US©õÖ ¤μÂß 

¤μPõæøÚU ÷PmkU öPõshõº. ¤μÃÝøh¯ 

•ßö©õÈ ÂøÚ¨  ¤μPõè \®©vzuõº. CμshõÁx 

©õØÖa^mk uÁøn |õÎÀ Gvº öPõÒÍ¨£mhx GßÖ 

P¸u¨£mk ¤μPõè ©ØÖ® ¤μÃß HkPÎÀ 

SÔ¨÷£mk¨ £vÄPÒ u¸P. 

12. (a) What is meant by loss of stock? 

  \μUS |mh® GßÓõÀ GßÚ? 

Or 

 (b)  A firm has insured its stock against fire On  
15th  December, 2004 a fire occurred in the premises 
of the firm. From the following particulars, calculate 
the claim for the loss of stock. 

  Sales from 1-4-2004 to the date of fire — 
Rs.12,80,000 

  Purchases from 1-4-2004 to the date of fire —  
Rs. 8,40,000 

  Stock on hand on 1-4-2004 Rs. 2,36,000 

  The average gross profit ratio for the last five years 
was 35% on sales. 

  The value of stock salvaged Rs.30,000. 

  w Â£zxUS GvμõP J¸ {Ö©®, \μUSPøÍ Põ¨¥k 

ö\´v¸¢uux. 15 i\®£º, 2004 AßÖ {Ö©zvß 

PmihzvÀ w Â£zx HØ£mhx. RÌUPõq® 
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ÂÁμ[PÎ¼¸¢x, \μUS |mhzvØPõÚ Põ¨¥mkU 

÷PõμÀ öuõøPø¯U PnUQkP. 

  1.4.2004 •uÀ w Â£zx |õÒÁøμ ÂØ£øÚ 

¹.12,80,000 

  1.4.2004 •uÀ w Â£zx |õÒÁøμ öPõÒ•uÀ 

¹.8,40,000 

  1.4.2004 AßÖ \μUQ¸¨¦ ¹.2,36,000 

  Ph¢u I¢x BskPÎÀ ö£Ó¨£mh \μõ\› ö©õzu »õ£ 

ÂQu®. ÂØ£øÚ°À 35% BS®. «mP¨£mh \μUQß 

©v¨¦ ¹. 30,000. 

13. (a) What is consignment? What are the differences 
between consignment and sales? 

AÝ¨¥k GßÓõÀ GßÚ? AÝ¨¥miØS® 

ÂØ£øÚUS® EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ?  

Or 

 (b) Geetha Oil Ltd. consigned 2000 kg. of oil to Suresh 
& co. to be sold on consignment basis. The cost of 
one kg. of oil was Rs. 45. Geetha Oil Ltd. spent  
Rs. 5,000 on freight, packing etc. After sometimes 
Suresh &Co. sent the following report. 

  Normal (leakage) loss — 100 kg. 

  Abnormal loss due to mishandling — 100 kg. 

  Sales — 1500 kg. @ Rs. 60 each 

  Commission 5% on sale proceeds 

  Prepare consignment account in the books of Geetha 
Oil Ltd. 



AFF–4318

  

  5

Sp 5
Ruõ B°À ¼ªöhm 2000 Q÷»õ Gsönø¯ _÷μè 

P®ö£ÛUS AÝ¨¥k •øÓ ‰»® ÂØ£uØPõP 

AÝ¨¤¯x. J¸ Q÷»õ Gsön°ß AhUPÂø»  

¹. 45. AÝ¨¥k ö\´|º \zu®, Pmk©a ö\»Ä 

•u»õÚøÁPÐUS ¹. 5,000 ö\»ÁÈzux. _÷μè 

P®ö£Û RÌUPsh AÔUøPø¯ ]» |õmPÐUS¨¤ß 

AÝ¨¤¯x, uÂºUP •i¯õu |èh® 100 Q÷»õ; 

uÂºUPU Ti¯ |èh® ÷©õ\©õP øP¯õshuõÀ – 100 

Q÷»õ;  ÂØ£øÚ 1500 Q÷»õ ¹. 60 J¸ Q÷»õ, uμS – 

5% ÂØ£øÚ°À, Ruõ B°À ¼ªöhm ¦zuPzvÀ 

AÝ¨¥k PnUS u¯õº ö\´P. 

14. (a) Describe the differences between joint venture and 
partnership. 

CøÚÂøÚ ©ØÖ® Tmhõsø© ÷ÁÖ£kzxP. 

Or 

 (b)  A and B enter into a joint venture, sharing profits in 
the ratio of 5:3. A supplies goods worth Rs. 42,000 
and incurs Rs. 3000 as expenses. B supplies goods 
worth Rs. 38,000 and incurs Rs. 2,000 as expenses. 
B is entitled to a commission at 10% on sales.  
B sells goods for Rs. 1,20,000. B settles the account 
by a cheque. Prepare Joint venture account and B’s 
account in the Books of A. 

5:3 GßÓ ÂQuzvÀ C»õ£ £QºÂØS J¨¦UöPõsk  

A, B, BQ÷¯õº CønÂøÚ |hzxQßÓÚº. ‘A’  
¹. 42,000 ©v¨¦ÒÍ \μUQøÚ ÁÇ[SQÓõº. ¹. 3,000 

ö\»Ä ö\´QÓõº. ‘B’ ¹. 38,000 ©v¨¦ÒÍ \μUQøÚ 

ÁÇ[SQÓõº. ¹. 2,000 ö\»Ä ö\´QÓõº.   

B ÂØ£øÚ°À 10% PÈÄ ö£Ó E›ø© ö£ØÖÒÍõº. 

B \μUQøÚ ¹. 1,20,000 US ÂØQÓõº. B Põ÷\õø» 

‰»® PnUQøÚ wºÄ ö\´QÓõº.  CønÂøÚ P/S 

©ØÖ® A HkPÎÀ B °ß PnUQøÚ u¯õº ö\´P. 
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15. (a) What are the differences between a single entry 

system and double entry system? 

  JØøÓ¨ £vÄ •øÓUS® Cμmøh¨ £vÄ •øÓUS® 

EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b)  From the following information determine total 
purchases. 

 Rs. 
Opening balance- Bills payable 15,000
Opening balance- creditors 18,000
Closing balance — Bills payable 21,000
Opening balance- creditors 12,000
Cash paid to CRS during the year 90,600
Bills payables discharged during the year 26,700
Purchase returns 3,600
Cash purchases 77,400

  RÌPõq® ö\´vPÎß £i ö©õzu öPõÒ•uÀ 

PnUQkP.  
 ¹. 

öuõhUP C¸¨¦ – ö\¾zx ^mk 15,000

öuõhUP C¸¨¦ – PhÜ¢÷uõº 18,000

•iÄ C¸¨¦ – ö\¾zx ^mk 21,000

 öuõhUP C¸¨¦  –  PhÜ¢÷uõº 12,000

Á¸hzvÀ PhÜ¢÷uõºUS ö\¾zv¯x 90,600

Á¸hzvÀ ö\¾zxa^mk ÂkÂUP¨£mhx 26,700

öPõÒ•uÀ v¸¨£® 3,600

öμõUP öPõÒ•uÀ 77,400

 Section C  (3  10 = 30) 

Answer any three questions. 

16. Mrs. Ram draws a Bill for Rs. 15,000 on Mr. Gopal on  
1stJanuary payable three months after the date at 
Canara Bank. Ernakulam. The Bill after acceptance is 
discounted by Ram at 6% pa. and he remits 1/3 of the 
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proceeds to Gopal. On the due date. Ram sends the 
necessary amount to Gopal who meets the Bill. Record 
these transactions in the Journal of both the parties. 

áÚÁ› 1, AßÖ μõ®, ÷Põ£õ¼ß «x ‰ßÖ ©õuzvØPõÚ 

©õØÖa^mk JßÖ ¹. 15,000 US Áøμ¢uõß. ©õØÖa^miøÚ 

6% ØS μõ® uÒÐ£i ö\´x AvÀ 1/3 £[QøÚ ÷Põ£õ¾US 

AÎzuõº. ©õØÖa^mk uÁøn|õÎÀ μõ® ÷Põ£õ¾US uμ 

÷Ási¯øu ö\¾zvÚõº. μõ®, ÷Põ£õÀ HkPÎÀ 

SÔ¨÷£mk¨ £vÄPÒ u¸P. 

17. A fire occurred on 15th Sep.2009 in the go down of a 
company. From the following figures, ascertain the claim 
to be lodged. 

 
Stock (1-4-2009) Rs. 1.05,300 
Purchases from 1-4-2009 to the date of fire Rs. 3,50,400 
Manufacturing expenses and wages Rs. 2,60,000 
Sales from 1-4-2009 to the date of fire Rs. 6,76,000 
Goods taken by the owners for personal use Rs. 10,750 (at cost)
The rate of gross profit 30% on cost 
The stock salvaged was valued Rs. 36,000 

 15.9.2009À w Â£zx HØ£mhx. RÌPõq® ö\´vUS 

÷Põ¸›ø© PnUQkP. 

\μUS (1-.4.-2009) ¹.  1,05,300 

1.4.09 •uÀ w Â£zx |õÒÁøμ öPõÒ•uÀ ¹.  3,50,400 

EØ£zv \®£Í® ©ØÖ® ö\»Ä ¹.  2,60,000 

1.4.-2009 •uÀ w Â£zx |õÒ Áøμ ÂØ£øÚ ¹.  6,76,000 

•u»õÎ ö\õ¢u E£÷¯õPzvØS Gkzu ö£õ¸Ò  

(AhUP Âø») 

¹.     10,750 

ö©õzu »õ£ ÂQu® 30% (AhUP Âø»°À)

Põ¨£õØÓ¨£mh \μUS ¹. 36,000 

18. Karthik of Chennai consigned 150 tins of oil to Sekar of 
Nellai, invoiced at Rs. 200 per tin. Karthik paid Rs. 1,000 
as carriage and other expenses. The consignor drew a bill 
of  exchange for Rs. 8,000 which was later discounted at  
Rs. 7,850. The consignee rendered an account sales 
showing  the following details: 
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 140 tins sold at Rs. 250 per Tin  

 10 tins sold at Rs. 260 per Tin  

 Storage and selling expenses Rs. 2,500  

 Clearing and cartage Rs. 800 

 Commission at 6%  

 The consignee sent a draft for the balance. 

 Show the important ledger accounts in the books of 
consignor. 

 ö\ßøÚ°¾ÒÍ PõºzvU, ö|Àø»°¾ÒÍ ÷\Pº Gß£Á¸US 

iß JßÖUS ¹. 200 GÚ Chõ¨¤mk 150 iß Gsön´ 

AÝ¨¥k ö\´uõº. _ø© T¼ HøÚ¯ ö\»ÄPÒ GÚ  AÁº 

ö\»ÁÈzux. ¹. 1,000. AÁº ¹. 8,000–US ©õØÖa ^mk 

GÊv, Aøu¨ ¤ÓS ¹. 7,850 US Ámh® ö\´uõº. AÝ¨¥k 

ö£Ö|º AÝ¨¤¯ ÂØ£øÚU PnUPÔUøP uõ[Q°¸¢u 

uPÁÀPÍõÁÚ. 

 iß JßÖ ¹. 250 Ãu® ÂØ£øÚ ö\´ux 140 ißPÒ : iß 

JßÖ ¹. 260 Ãu® ÂØ£øÚ ö\´ux 10 ißPÒ: £shPU 

Põ¨¦a ö\»Ä®, ÂØ£øÚ ö\»ÄPÐ® ¹. 2,500: APØÖU 

Pmhn•®, ÁsiU Pmhn•® ¹. 800: PÈÄ Ãu® 6% E›¯ 

{¾øÁUS AÝ¨¥k ö£Ö|º Á[Q¨ £nÂøh AÝ¨¤ 

øÁzuõº. AÝ¨¥k ö\´|º HkPÎÀ ÷uõßÓzuUP 

•UQ¯©õÚ ÷£÷μmkU PnUSPøÍ²® PõmkP.  

19. A and B were partners in a joint venture, sharing profits 
and losses in the proportion of 10:9 respectively. Each 
party maintains a complete record in his own books. A 
supplies goods to the value of Rs. 25,000 and incurs 
expenditure of Rs. 500 on them; and B supplies goods to 
the extent of Rs. 21,000 and his expenses those on 
amounted to Rs. 1,000. A sells all the goods for Rs.70,000 
for which he is entitled to receive a commission at 5%. 
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Accounts are settled by Bank draft. Prepare necessary  
Journal Entries and Ledger accounts in the books of both 
the parties. 

A ©ØÖ® B J¸ CønÂøÚ°À TmhõÎPÍõP •øÓ÷¯ 

10:9 ÂQuzvÀ ¤›zxUöPõshõºPÒ. AÁºPÒ 

JÆöÁõ¸Á¸® u[PÒ ö\õ¢u HkPÎÀ PnUSPøÍ 

uÛzuÛ¯õP £μõ©›zuõºPÒ.  A ¹. 25,000 ©v¨¦ÒÍ 

\¸USPøÍ ¹. 500 ö\»ÁÈzx AÎzuõº. B ¹. 21,000 

©v¨¦ÒÍ \μUSPøÍ ¹. 1,000 ö\»ÁÈzx AÎzuõº.  

A GÀ»õ \μUSPøÍ²® ¹. 70,000 US ÂØÓõº. AuØS 

AÁ¸US 5% PÈÄ ö£ØÓõº. PnUSPÒ Á[Q Áøμ÷Áõø» 

‰»® •izx øÁUP¨£mhx. ÷uøÁ¯õÚ SÔ¨÷£mk 

£vÄPøÍ²® ÷£÷μmk PnUSPøÍ²® C¸Á›ß HkPÎ¾® 

u¯õ›UP. 

20. Mrs. Vanitha keeps her books on single entry basis. Find 
out the profit or loss made the period ending 31.3.2015. 

Assets and Liabilities 1.4.2014 31.3.2015 

Bank balance 3,500 (Cr.) 4,500 (Cr.)

Cash on hand 200 300

Stock 3,000 4,000

Sundry debtors 8,500 7,600

Plant 20,000 20,000

Furniture 10,000 10,000

Sundry creditors 15,000 18,000

 Mrs. Vanitha had withdrawn 10,000 for her personal use 
and has introduced fresh capital of 4,000. A provision of 
5% on debtor is necessary. Write off depreciation on plant 
at 15% and furniture at 10%. 
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 v¸©v. ÁÛuõ uÚx HkPøÍ JØøÓ¨ £vÄ •øÓ°À 

£μõ©›zx Á¸QÓõº. 31.3.2015–® |õ÷Íõk •iÁøh²® 

BskUS›¯ C»õ£® AÀ»x |mh® PshÔP. 

ö\õzxUPÐ®, ö£õÖ¨¦PÐ® 1.4.2014 31.3.2015

Á[Q C¸¨¦ 3,500 (Á) 4,500 (£)

øP öμõUP® 200 300

\μUQ¸¨¦ 3,000 4,000

£Ø£» PhÚõÎPÒ 8,500 7,600

ö£õÔ²®, ö£õÔzöuõSv²® 20,000 20,000

AøÓP»ß 10,000 10,000

£Ø£» PhÜ¢÷uõº 15,000 18,000

 v¸©v. ÁÛuõ uÚx ö\õ¢u £¯ß£õmiØPõP ¹. 10,000 

GkzxU öPõshõº. Bsiøh°À ¹. 4,000 TkuÀ •u»õP 

Cmhõº. £Ø£» PhÚõÎPÒ «x 5% JxURk E¸ÁõUP¨£h 

÷Ásk®. ö£õÔ²®, ö£õÔzöuõSv «x 15%. AøÓP»ß «x 

10% ÷u´©õÚ® }USP. 

 

 

—————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2017 

Second Semester 

Commerce 

MARKETING 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all the questions. 

1. Define: Market segmentation 

 Áøμ¯Ö : \¢øu¨ £QºÄ. 

2. What is Homogeneous market? 

J÷μ ußø©a \¢øu GßÓõÀ GßÚ? 

3. What is Regional brand? 

Ámhõμ SÔ±k GßÓõÀ GßÚ? 

4. What is secondary packing materials? 

 Cμshõ® {ø» Pmk©¨ ö£õ¸Ò GßÓõÀ GßÚ? 

5. What do you mean by storage? 

 ö£õ¸Ò ÷\ª¨¦ GßÓõÀ GßÚ? 

 

Sub. Code 
4BCO2C2 



AFF–4319

  

  2

Sp 5
6. Define: Goods distribution 

 Áøμ¯Ö : ö£õ¸Ò £QºÄ. 

7. What is called Trade Discount? 

 Â¯õ£õμ uÒÐ£i GßÓõÀ GßÚ? 

8. What is even pricing? 

 Cμmøh¨£øh Âø» GßÓõÀ GßÚ? 

9. What is sales promotion? 

 ÂØ£øÚ E¢xuÀ GßÓõÀ GßÚ? 

10. Define Salesman. 

 Áøμ¯Ö : ÂØ£õßø©¯º. 

 Section B  (5  5 = 25) 

Answer all the questions. 

11. (a) How will you segment the market on the basis of 
age of the consumers? 

  ~Pº÷Áõº Á¯x Ai¨£øh°À \¢øu G[VÚ® £QºÄ 

ö\´¯¨£k®? 

Or 

 (b)  Write the evolution of marketing. 

\¢øu°ß ÷uõØÓzøu ÂÁ›UP. 

12. (a) What are the uses of packaging? 

  Pmk©zvß |ßø©PÒ ¯õøÁ? 

Or 

 (b)  Discuss the types of brand. 

ÁõoP¨ ö£õ›¨¤ß ÁøPPøÍ ÂÁ›. 
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13. (a) Why goods transportation claims importance in 

marketing? 

  Hß ö£õ¸Ò ÷£õUSÁμzx \¢øu°¯¼À 

•UQ¯©õQÓx? 

Or 

 (b)  Financing is a core requirement in marketing . 
Elucidate. 

   \¢øu°ku¼À {v •UQ¯ ÷uøÁ¯õS®. ÂÁ›UP. 

14. (a) Explain the differences between skim price and 
penetration price. 

  E¯º Âø»°¯À ©ØÖ® F¸ÖÁÀ Âø»°¯ß 

÷ÁÖ£õkPøÍ ÂÁ›. 

Or 

 (b)  How demand decides the price of the product? 

G[VÚ® ÷uøÁ  ö£õ¸Îß Âø»ø¯ {ºn°UQÓx? 

15. (a) Why sales promotion is important in marketing the 
products? 

  ö£õ¸øÍ \¢øu°h¼À Hß Â¯õ£õμ E¢uÀ 

•UQ¯©õQÓx? 

Or 

 (b)  What are the drawbacks of advertisement? 

ÂÍ®£μzvß wø©PÒ ¯õøÁ? 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. Explain the bases of market segmentation. 

 \¢øu¨ £QºÂß Ai¨£øhø¯ ÂÁ›UPÄ®. 

17. Explain various stages of product life cycle. 

 ö£õ¸Îß ÁõÌÄ _ÇØ]°ß £i{ø»PøÍ ÂÁ›. 
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18. Describe the functions of marketing. 

 \¢øu°h¼ß £oPøÍ ÂÁ›. 

19. What are the determinants of price of the product? 

 ö£õ¸Îß Âø»ø¯ wº©õÛUS® PõμoPÒ ¯õøÁ? 

20. TV advertisements are very powerful in marketing the 
product in the recent times. Do you agree? Explain. 

 \«£ Põ»[PÎÀ öuõø»UPõm] ÂÍ®£μ® \¢øu°ku¼À 

•UQ¯ \Uv¯õP ÂÍ[SQÓx. Cøu }Âº HØÖU öPõÒÃμõ? 

ÂÍUP® u¸P. 

—————— 



 

  

Wk 4

AFF–4320   

B.Com. DEGREE EXAMINATION, NOVEMBER 2017 

Third Semester 

Commerce 

PRINCIPLES OF INSURANCE 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. Define “Risk”. 

 Áøμ¯Ö : Chº. 

2. What is meant by ‘‘Subrogation”? 

 E›ø© ÷PõμÀ GßÓõÀ GßÚ? 

3. Define : Annuity contract. 

 Áøμ¯Ö : Á¸hõ¢vμ J¨£¢u®. 

4. What is Theorem of large numbers? 

 AvP GsoUøPz ÷uØÓ® GßÓõÀ GßÚ? 

5. What is hazards of residence? 

 Si°¸¨¤À w[S GßÓõÀ GßÚ? 

6. What is proposal in insurance? 

 Põ¨¥k •ß ö©õÈuÀ GßÓõÀ GßÚ? 

Sub. Code 
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7. What is “Nomination”? 

 {¯©Ú® GßÓõÀ GßÚ? 

8. What is additional insurance? 

 TkuÀ Põ¨¥k GßÓõÀ GßÚ? 

9. Mention the types of Fire Policies. 

 w Põ¨¥miß ÁøPPøÍ SÔ¨¤k. 

10. What is “Abandonment’ in Marine Insurance? 

 PhÀ Põ¨¥miÀ øPÂhÀ GßÓõÀ GßÚ? 

 Section B  (5  5 = 25) 

Answer all questions. 

11. (a) Explain the origin of insurance. 

  Põ¨¥miß ÷uõØÓzøu ÂÁ›. 

Or 

 (b) What are the essentials of a sound insurance plan? 

  |À» Põ¨¥mk vmhzvß ÷uøÁPÒ ¯õøÁ? 

12. (a) What are the principles of life insurance? 

  B²Ò Põ¨¥miß öPõÒøPPÒ ¯õøÁ? 

Or 

 (b) Explain the types of Premium. 

  •øÚ©zvß ÁøPPøÍ ÂÁ›. 

13. (a) What are the various factors affecting Risk? 

  Chøμ wº©õÛUS® PõμoPÒ ¯õøÁ? 

Or 
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 (b) Why past history is needed while taking an 

insurance policy?  

  Põ¨¥k ö\´²® ö£õÊx Hß •¢øu¯ {PÌÄPÒ 

÷uøÁ¨£kQßÓÚ? 

14. (a) What are the occupation considered as hazardous 
for youth? 

  CøÍb›ß EhÀ |»ÝUöPvμõÚ ÷Áø»PÒ ¯õøÁ? 

Or 

 (b) Explain the rules regarding nomination of Life 
Insurance. 

  B²Ò Põ¨¥miÀ {¯©Ú® £ØÔ¯ \mh \μzxUPøÍ 

ÂÁ›. 

15. (a) Explain the rights of Insurer under a Fire Policy. 

  w Põ¨¥miÀ Põ¨¥k ö\´£Á›ß E›ø©PøÍ ÂÁ›UP. 

Or 

 (b) Explain the uses of fire insurance. 

  w Põ¨¥miß £¯ßPøÍ ÂÁ›. 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. Explain the Types of insurance organizations. 

 Põ¨¥k {ÖÁÚ[PÎß ÁøPPøÍ ÂÁ›. 

17. What is meant by “surplus” and how is it distributed in 
life insurance? 

 E£› GßÓõÀ GßÚ? ©ØÖ® Ax G[VÚ® B²Ò Põ¨¥miÀ 

£QºÄ ö\´¯¨£k®. 
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18. Explain the procedures for taking a Life Policy. 

 B²Ò Põ¨¥k ö\´Ávß £i{ø»PøÍ ÂÁ›UP. 

19. Explain the merits and demerits of privatization of 
insurance business. 

 Põ¨¥mk xøÓø¯ uÛ¯õº©¯©õUP¼ß |ßø© wø©PøÍ 

ÂÁ›. 

20. What are the various clauses in a Marine Policy? 

 PhÀ Põ¨¥miß £À÷ÁÖ \μzxUPÒ  ¯õøÁ? 

  

————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2017 

Third Semester 

Commerce 

BANKING THEORY 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. What is unit banking? 

 A»S Á[Q GßÓõÀ GßÚ? 

2. What is branch banking? 

 QøÍ Á[Q GßÓõÀ GßÚ? 

3. What is merchant banking? 

 Â¯õ£õμ Á[Q GßÓõÀ GßÚ? 

4. What is Leasing?  

 SzuøP GßÓõÀ GßÚ? 

5. What is credit creation? 

 Phß E¸ÁõUPÀ GßÓõÀ GßÚ? 

6. What is Regional Rural Banks? 

 Ámhõμ Qμõ© Á[Q GßÓõÀ GßÚ? 

Sub. Code 
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7. What is selective credit control? 

 ÷uºÄ ö\´¯¨£mh Phß Pmk¨£õk GßÓõÀ GßÚ? 

8. What is meant by SLR?  

 SLR GßÓõÀ GßÚ? 

9. What is Banking Ombudsman? 

 Á[Q wº¨£õ¯® GßÓõÀ GßÚ? 

10. What is e-banking? 

 ªßÚq&Á[Q°¯À GßÓõÀ GßÚ? 

 Section B  (5  5 = 25) 

Answer all the questions. 

11. (a) Briefly explain the features of banking. 

  Á[Q°ß ußø©PøÍ ÂÁ›. 

Or 

 (b) What are the advantages of Branch banking? 

  QøÍ Á[Q°ß |ßø©PÒ ¯õøÁ? 

12. (a) Discuss the modern trends in deposit mobilization 
in banks. 

  Á[QPÒ øÁ¨¦ ÷\P›zu¼À |ÃÚ •øÓPøÍ ÂÁ›. 

Or 

 (b) What are the uses of credit cards? 

  Phß Amøh°ß E£÷¯õP® ¯õx? 
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13. (a) Discuss the limitations of credit creation. 

  Phß E¸ÁõUP¼ß wø©PøÍ ÂÁ›. 

Or 

 (b) Banks investment policy should aim at safety. 
Discuss. 

  Á[QPÒ £õxPõ¨ø£ SÔU÷PõÍõP öPõÒÍ ÷Ásk®. 

ÂÁ›. 

14. (a) Describe the role of commercial banks in the Indian 
money market. 

  C¢v¯ £n \¢øu°À Á[QPÎß £oø¯ ÂÁ›. 

Or 

 (b) How SBI helps small scale industries? 

  SBI GÆÁõÖ ]ÖöuõÈ¾US EuÄQÓx? 

15. (a) Describe the advantages of E-banking. 

  ªßÚq Á[Q°ß |ßø©PøÍ ÂÁ›. 

Or 

 (b) Describe briefly any five recent developments in the 
banking sector. 

  Á[Qz xøÓ°À H÷uÝ® I¢x \«£Põ» 

•ß÷ÚØÓzøu ÂÁ›. 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. Discuss the merits and demerits of Unit Banking. 

 A»S Á[Q°ß |ßø© wø©PøÍ ÂÁ›. 

17. Discuss the modern trends in lending by banks. 

 Á[Q Phß ÁÇ[P¼À |ÃÚ •øÓPøÍ ÂÁ›UP. 
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18. Enumerate the operational performance of the Regional 

Rural Banks. 

 Ámhõμ Qμõª¯ Á[Q°ß C¯USuø» ÂÁ›UPÄ®. 

19. Describe the role of Central Bank in the economic 
development of India. 

 C¢v¯ ö£õ¸Íõuõμ •ß÷ÚØÓzvÀ ©zv¯ Á[Q°ß 

£oø¯ ÂÁ›. 

20. Explain the merits and demerits of Privatisation of 
banks. 

 Á[QPÒ uÛ¯õº©¯©õu¼ß |ßø© wø©PøÍ ÂÁ›. 

 

——————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2017 

Third Semester 

Commerce 

BUSINESS STATISTICS  

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is secondary data? 

 Cμshõ® {ø»zuPÁÀ GßÓõÀ GßÚ? 

2. What is stratified sample? 

 TÔh¨£mh ©õv› GßÓõÀ GßÚ? 

3. What is harmonic mean? 

 Cø\ \μõ\› GßÓõÀ GßÚ? 

4. What is quartile deviation? 

 PõÀ©õÚ ÂÍUP® GßÓõÀ GßÚ? 

5. What is scatter diagram? 

 scatter Áøμ£h® GßÓõÀ GßÚ? 

6. Define : Regression equation. 

 Áøμ¯Ö : öuõhº ÷Põk \©ß£õk. 

Sub. Code 
4BCO3C3 
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7. What is chain index? 

 öuõhº SÔ±möhs GßÓõÀ GßÚ? 

8. What is chain base? 

 öuõhº Ai¨£øh GßÓõÀ GßÚ? 

9. What is Moving average? 

 |P¸® \μõ\› GßÓõÀ GßÚ? 

10. What is seasonal variation? 

 Põ»{ø» ©õØÓ® GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Distinguish between Primary and Secondary data. 

   •uÀ{ø» uPÁÀ ©ØÖ® Cμshõ® {ø» uPÁø» 

÷ÁÖ£kzxP. 

Or 

 (b)  Explain the different parts of Table. 

   £mi¯»ø©zu¼ß £À÷ÁÖ £SvPøÍ ÂÍUSP. 

12. (a) Write a short note on quartile deviation. Write the 
merits and demerits of it. 

   PõÀ©õÚ Â»UPzøu £ØÔ ]Ö SÔ¨¦ ÁøμP. Auß 

|ßø© wø©PøÍ GÊxP. 

Or 
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 (b)  Calculate the median for the following frequency 
distributions : 

Weight (in Grams) : 410–419 420–429 430–439 440–449

No. of Apples : 14 20 42 54 

Weight (in Grams) : 450–459 460–469 470–479  

No. of Apples : 45 18 7  

 ¤ßÁ¸® Â£μ[PÎ¼¸¢x Cøh{ø» PõsP. 

Gøh (Qμõ®) : 410–419 420–429 430–439 440–449

B¨¤Ò GsoUøP : 14 20 42 54 

Gøh (Qμõ®) : 450–459 460–469 470–479  

B¨¤Ò GsoUøP : 45 18 7  

13. (a) Distinguish between correlation and regression 
analysis. 

   JmkÓÄ ©ØÖ® öuõhº ÷£õUS BQ¯ÄPÐUQøh÷¯ 

÷ÁØÖø©¨ £u® PõsP. 

Or 

 (b)  Calculate the Coefficient of Correlation for the 
following data : 

x : 1 3 5 8 9 10

y : 3 4 8 10 12 11

  ¤ßÁ¸ÁÚÁØÔUS JmkÓÄU öPÊøÁU PõsP. 

x : 1 3 5 8 9 10

y : 3 4 8 10 12 11

14. (a) Explain any two methods of construction of index 
numbers. 

   SÔ±möhs Aø©US® C¸•øÓPøÍ ÂÁ›. 

Or 



AFF–4322

  

  4

Ws9 

 (b)  Calculate Consumer price index number through 
family budget method. 

Commodity Weight Price in 1995 Price in 2005
A 50 15 25 
B 60 18 30 
C 35 10 16 
D 42 6 8 
E 22 20 22 
F 10 6 5 

   RÌUPõq® Â£μ[PÐUS ~Pº÷Áõº Âø» 

SÔ±möhsøn, Sk®£ ÁμÄ ö\»Ä vmh •øÓ°À 

PnUQkP : 

ö£õ¸Ò Gøh Âø» 1995 Âø» 2005

A 50 15 25 
B 60 18 30 
C 35 10 16 
D 42 6 8 
E 22 20 22 
F 10 6 5 

15. (a) What are the methods of measuring Seasonal 
variations? 

   £¸ÁUPõ» ©õÖuÀPøÍ AÍÂk® •øÓPÒ ¯õøÁ? 

Or 

 (b)  Calculate 3-yearly Moving average method for the 
following data : 

Year Sales Year Sales
1992 55 1998 45 
1993 47 1999 72 
1994 59 2000 83 
1995 151 2001 89 
1996 79 2002 102 
1997 36   



AFF–4322

  

  5

Ws9 

  RÌPõq® Â£μ[PÐUS 3–Á¸h |P¸® \μõ\› 

•øÓø¯ PõsP. 

Bsk ÂØ£øÚ Bsk ÂØ£øÚ

1992 55 1998 45 

1993 47 1999 72 

1994 59 2000 83 

1995 151 2001 89 

1996 79 2002 102 

1997 36   

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Analyse various types of samples. 

 ©õv›°ß £À÷ÁÖ ÁøPPøÍ Bμõ´P. 

17. Calculate Standard Deviation for the following data : 
x : 10 20 30 40 50 60

f : 8 12 20 10 7 3 

 RÌUPõq® Â£μ[PÐUS vmh Â»UP® PõsP. 

x : 10 20 30 40 50 60

f : 8 12 20 10 7 3 

18. Calculate two Regression equation : 
x : 40 38 35 42 30

y : 30 35 40 36 29

 RÌPõq® Â£μ[PÐUS C¸ öuõhº ÷£õUS \©ß£õmøh 

PnUQkP. 

x : 40 38 35 42 30

y : 30 35 40 36 29
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19. Find the missing price in the below data, if the ratio 
between Laspeyra’s and Paasche’s index numbers is 
25:24. 
Commodities Base Year Current Year 

 Price Quantity Price Quantity

A 1 15 2 15 

B 2 15 – 30 

 »õì¤¯›ß SÔ±mk Gsq® £õæ°ß SÔ±mk Gsq® 

25:24 GßÓ ÂQuzvÀ C¸¢uõÀ, RÌUPsh AmhÁøn°À 

Âk£mh GsønU PõsP. 

ö£õ¸ÒPÒ uÍ Bsk |h¨¦ Bsk 

 Âø» GsoUøP Âø» GsoUøP

A 1 15 2 15 

B 2 15 – 30 

20. Calculate Trend Values by the method of least square. 
Year : 1993 1994 1995 1996 1997 1998

Production (units) : 17 20 19 26 24 40 

Year : 1999 2000 2001 2002 2003  

Production (units) : 35 55 50 74 69  

 RÌUPõq® Â£μ[PÎ¼¸¢x SøÓ¢u ÁºUP•øÓ ‰»® 

÷£õU÷Põk PõsP. 

Á¸h® : 1993 1994 1995 1996 1997 1998

EØ£zv (A»SPÎÀ): 17 20 19 26 24 40 

Á¸h® : 1999 2000 2001 2002 2003  

EØ£zv (A»SPÎÀ): 35 55 50 74 69  

 

 
———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2017 

Third Semester 

Commerce 

ADVANCED ACCOUNTANCY – III 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is fixed capital? 

 {ø»¯õÚ •uÀ GßÓõÀ GßÚ? 

2. What is meant by sacrifice ratio? 

 v¯õP® ÂQu® GßÓõÀ GßÚ? 

3. What is revaluation of assets? 

 ö\õzxUPÒ ©Ö©v¨¥k GßÓõÀ GßÚ? 

4. How reserves are treated at the time of admission of a 
partner? 

 J¸ £[Suõμ›ß ÷\ºUøP°À C¸¨¦UÒ G¨£i 

|hzu¨£kQÓx? 

5. Define: Amalgamation of firms. 

 {Ö© JßÔøÚzuÀ Áøμ¯ÖUP. 

Sub. Code 
4BCO3C4 
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6. Define: Joint life policy. 

 Tmk B²Ò Põ¨¥k vmh®& Áøμ¯ÖUP. 

7. Garner Vs Murray- explain. 

 PõºÚº vs •º÷μ: ÂÍUSP. 

8. Define: Insolvent. 

 ö|õi¨¦ {ø»¯º&Áøμ¯ÖUP. 

9. Give the meaning of maximum loss method. 

 ö£õ¸Ò öPõkUP: AvP£m\ CÇ¨¦ •øÓ. 

10. Give the meaning of gradual distribution of assets. 

 ö£õ¸Ò öPõkUP: £i¨£i¯õP ö\õzxUPøÍ £QºuÀ u¸P. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Give the format of profit and loss appropriation 
account. 

  »õ£ |mh JxUS PnUQß £iÁ® u¸P. 

Or 

 (b) Write up the capital and current accounts of the 
partners A and B from the following: 

 A B 

Capital on 1.1.2004 40000 35000

Current accounts on 1.1.04 (Cr.) 200 100

Drawings during the year 2004 8000 7000

Interest on drawings 200 100

Share of profit for 2004 4200 3300

Interest on capital 6% 6%

Salary 3600 nil
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  A ©ØÖ® B •uÀ ©ØÖ® |h¨¦ PnUS GÊxP. 

 A B 

•uÀ 1.1.2004 40000 35000

|h¨¦ PnUS 1.1.04 ÁμÄ 200 100

Gk¨¦ 2004 8000 7000

Gk¨¦ «uõÚ Ámi 200 100

C»õ£ £[S 2004 4200 3300

‰»uÚ Ámi 6% 6%

\®£Í® 3600 nil

12. (a) Describe the steps taken when a new partner is 
admitted. 

  ¦v¯ £[Suõμº ÷\ºUøP°À £i{ø»PøÍ ÂÁ›. 

Or 

 (b) Akila and Banu are partners sharing profits in the 
ratio 3:2. A new partner Chandra is admitted. Akila 
surrenders 1/5th share of her profit in favour of 
Chandra and Banu 2/5th of her share in favour of 
Chandra. Calculate New ratio. 

  3:2 GßÓ ÂQuzvÀ AQ»õ ©ØÖ® £õÝ »õ£ £QºÄ 

ö\´QßÓÚº. \¢vμõ GßÓ ¦v¯ £[Suõμº 

÷\ºUP¨£kQÓõº. AQ»õ uÚx »õ£zvÀ 5 À J¸ 

£[øP²® £õÝ uÚx £[QÀ 5 À 2 ²® \¢vμõÄUS 

v¯õP® ö\´QÓõº. ¦v¯ ÂQu® PõsP. 
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13. (a) Describe the steps taken when a partner retires 

from business. 

  £[Suõμº K´Ä ö£ÖøP°À EÒÍ £i{ø»PøÍ 

ÂÁ›. 

Or 

 (b) Sumit. Amit and Neha are partners sharing profit 
in the ratio of 4:3:1. when Amit retired, their 
adjusted capitals were Rs.76.000: Rs. 45,000 and  
Rs. 34,000 respectively. Sumit and Neha decided to 
have their total capital of the firm in the ratio of 3:2. 
The necessary adjustments were to be made in cash 
only. Calculate actual cash to be paid off or brought 
in by each partner. 

  4:3:1 GßÓ ÂQuzvÀ _ªz, Aªz, ÷|Põ »õ£ £QºÄ 

ö\´uÚº. Bªz K´Ä ö£Ö® ö£õÊx ‰»uÚ® 

•øÓ÷¯ ¹. 76,000, ¹. 45,000, ¹. 34,000. _ªz ©ØÖ® 

÷|Põ 3:2 GßÓ ÂQuzvÀ AÁºPÍx ‰»uÚ® C¸UP 

•iÄ ö\´uÚº. \›UPmhÀPÒ £nzvß ‰»® ©mk® 

|øhö£Ö® JÆöÁõ¸ £[Suõμ¸® öPõsk 

Áμ÷Ási¯ AÀ»x Gkzxa ö\À¾® öuõøPø¯ 

PnUQkP. 

14. (a) What are the reasons for dissolution of firms? 

  {ÖÁÚU Pø»¨¤ß Põμn[PÒ ¯õøÁ? 

Or 

 (b) Kumar, Yash and Zakir commenced business on 
January 1. 2001 with capitals of Rs. 1,00,000  
Rs. 80,000 and Rs. 60,000 respectively. Profits are 
shared in the ratio 4:3:3. Capitals carried interest at 
5% pa. During 2001 and 2002 they made profits of 
Rs. 40,000 and Rs. 50,000 (before allowing interest 
on capitals). Drawings of each partner were  
Rs. 10,000 per year. On December 31.2002 the firm 
was dissolved. Creditors on that date were  
Rs. 24,000. The assets realized Rs. 2,60,000 net. 
Prepare the necessary accounts to close the books of 
the firm. 
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  S©õº, ¯õè ©ØÖ® áRº 1.1.2001 À ‰»uÚ©õP 

•øÓ÷¯ 1,00,000, 80,000, 60,000 øÁzx C¸¢uÚº. 

»õ£ ÂQu® 4:3:3 ‰»uÚ Ámi Á¸hzvØS 5% 

•u¾US E›¯ ÁmiUS •ß£õP 2001 ©ØÖ® 2002 

»õ£® ¹. 40,000, ¹. 50,000 BsiØS JÆöÁõ¸ 

£[Suõμ›ß Gk¨¦ ¹. 10,000. 31.12.2002 À {ÖÁÚ® 

Pø»UP¨£mhx. Az÷uv°À PhÜ¢÷uõº ¹. 24,000. 

ö\õzx ÂØ£øÚ 2,60,000 {ÖÁÚ wºÄUPnUSPøÍ 

ÁøμP. 

15. (a) Explain: Maximum loss Method. 
  ÂÁ›: AvP£m\ |mh •øÓ. 

Or 
 (b) The following is the balance sheet of X,Y,Z  share 

profits in the ratio of 4:3:1 on 1/1/2006 on which 
date they dissolve partnership. Their capitals are to 
be repaid as and when the assets are realized 

Balance sheet as at 1/1/2006 
Liabilities Rs.  Assets Rs. 

Creditors 52,500  Building 60,000

Bank OD 17,500  Machine 80,000

X-capital 1,40,000  Stock 1,00,000

Y-capital 60,000  Debtors 1,30,000

Z-capital 1,00,000   

 3,70,000   3,70,000

  The assets were realised as under 
  I installment Rs. 40,000 
  II Rs. 30,000 
  III Rs. 50,000 
  IV Rs. 80,000 
  V Rs. 1,30,000 
  Prepare a statement showing the distribution of 

cashon the basis of proportionate capital method. 
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  4:3:1 »õ£ ÂQuzvÀ 1.1.2006 À X,Y,Z ß C¸¨¦ 

{ø»USÔ¨¦, Az÷uv°À Tmhõsø© 

Pø»UP¨£mhx. ö\õzxUPÎß £i{ø» ÂØ£øÚ 

Ai¨£øh°À AÁºPÍx •uÀ £n® v¸¨¤ 

ö\¾zu¨£k® 

C¸¨¦ {ø»U SÔ¨¦ 1.1.2006 

ö£õÖ¨¦PÒ ¹.  ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 52,500  Pmih® 60,000

Á[Q ÷©ÀÁøμ¨ £ØÖ 17,500  C¯¢vμ[PÒ 80,000

X-•uÀ 1,40,000  \μUS 1,00,000

Y-•uÀ 60,000  PhÚõÎPÒ 1,30,000

Z-•uÀ 1,00,000   

 3,70,000   3,70,000

 ö\õzxUPÒ ÂØ£øÚ Á¸©õÖ: 

 •uÀ uøÁn ¹. 40,000, Cμshõ® uÁøn ¹. 30,000, 

‰ßÓõ® uÁøn ¹. 50,000, |õßPõ® uÁøn ¹. 80,000, 

I¢uõ® uÁøn ¹. 1,30,000, \›ÂQu ‰»uÚ® •øÓ°À £n 

£QºÄ AmhÁøn u¯õ›UP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. A and B are partners in a firm sharing profit and losses 
in the ratio of 4: 1. On 1st April 2006, the capital of the 
partners : A-Rs. 50,000 and B — Rs. 40,000. The Profit 
and Loss a/c of the firm for the year ended 31st March 
2007 showed a net profit of Rs. 1.75,000. 

 You are required to give the P & L appropriation a/c of 
the firm after taking into consideration on the following: 

 (a) Interest on capital at 5% pa. 

 (b) Interest on B’s Loan a/c of Rs. 50,000 for the whole 
year @ 6% pa. 
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 (c) Interest on drawings of partners of 6% p.a. on 

drawings of A — Rs. 15,000; B —Rs. 10,000. 

 (d) Transfer 10% of the distributable profit, before 
distribution to the Reserve Fund of the firm. 

 4:1 GßÓ ÂQuzvÀ A ©ØÖ® B »õ£ £QºÄ ö\´uÚº. 

1.1.2006 À AÁºPÎß ‰»uÚ® A = Rs. 50,000, B = 40,000, 
»õ£ |mh PnUQß£i 31.3.2007 À {Pμ»õ£® 1.75,000. 

 RÌUPõq® ö\´vPÐUS ¤ÓS »õ£ |mh JxUS PnUS 

u¯õ›UP. 

 (A) ‰»uÚ Ámi Á¸hzvØUS 5% 

 (B) B °ß Phß 50,000 US •Ê BsiØS 6% Ámi 

 (C) Gk¨¦ «uõÚ Ámi BsiØUS 6% A Gk¨¦ = 15000  

B Gk¨¦ = 10,000 

 (D) £QºÄ SÔ¯ »õ£zvÀ 10% {ÖÁÚzvß Põ¨¦ 

PnUQØS ©õØÖP.  

17. A, B and C are partners sharing profits in the ratio of 
5:5:4. D is admitted as a partner. D introduced Rs. 40,000 
as capital for his 1/4th share. Goodwill of the firm is to be 
valued at 2 years purchase of 3 years profits which have 
been Rs. 15,000, Rs. 26,000 and Rs. 22,000. Give journal 
entries if:  

 (a) There is no Goodwill in the books of the firm 

 (b) The Goodwill Account appears at Rs. 14,000 and 

 (c) The Goodwill already standing in the books is  
Rs. 56,000. 

 A, B ©ØÖ® C TmhõÎPÒ 5:5:4 ÂQuzvÀ C»õ£zøu 

£QºQßÓÚº. D&J¸ TmhõÎ¯õP AÝ©vUP¨£kQÓõº.  

D uÚx 1/4 £[QØS ¹. 40,000&I »uÚ©õP AÔ•P® 

ö\´QÓõº. |Øö£¯º 2 Bsk öPõÒ•uÀ •øÓ°À 3 Bsk 

C»õ£©õÚ ¹. 15,000, ¹. 26,000 ©ØÖ® ¹. 22,000&À 

©v¨¤h¨£kQÓx. ¤ßÁ¸® {ø»US HØÓ£i SÔ¨÷£mk¨ 

£vÄPÒ u¸P. 
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 (A) {ÖÁÚ HkPÎÀ |Øö£¯º CÀ»õu÷£õx 

 (B) HkPÎÀ |Øö£¯º ¹. 14,000 BP ÷uõßÖ® ÷£õx 

÷©¾® 

 (C) HkPÎÀ |Øö£¯º ¹. 56,000 HØPÚ÷Á Põn¨£mi¸US® 

÷£õx. 

18. Laxman and Hari were equal partners in a partnership. 
Laxman decided to retire from business on 31.3 2002 and 
his son chakrapani was to be admitted with 1/3 share in 
profits. The Balance Sheet as at 31.3.2002 

Liabilities  Rs. Assets Rs. 

Creditors 9,800 Bank 11,000

Capitals: Laxman 34,000 Debtors 16,100

Capitals- Hari 28,200 Plant 14,200

  Building 20,700

  Goodwill 10,000

 72,000  72,000

 On that date goodwill was valued at Rs. 27,000 and 
building at Rs. 24,000. It was agreed that enough money 
should be introduced to enable Laxman to be paid out and 
to leave Rs. 10,000 as working capital. Hari and 
Chakrapani were to provide such sums as would make 
their capitals proportionate to their share of profits. 
Laxman agreed to provide half of the capital which 
chakrapani had to provide. 

 Prepare necessary accounts and Balance Sheet of Hari 
and Chakrapani. 
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 ö»m_©n® ©ØÖ® í› \©¨£[Suõμº 31.3.2002 À 

ö»m_©nß K´Ä ö£ØÖ AÁμx ©Pß \UPμ£õo 1/3 £[S 

»õ£zvØS AÝ©vUP¨£kQÓõº. 31.3.2002 À C¸¨¦ {ø» 

SÔ¨¦ Á¸©õÖ. 

C¸¨¦ {ø»U SÔ¨¦ 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ ¹. 
PhÜ¢÷uõº 9,800 Á[Q 11,000
•uÀ ö»m_©n® 34,000 PhÚõÎPÒ 16,100
•uÀ í› 28,200 AøμP»ß 14,200
  Pmih® 20,700
  |ß©v¨¦ 10,000
 72,000  72,000

 Az÷uv°À |ß©v¨¦ 27,000, Pmih® 24,000 |øh•øÓ 

‰»uÚzvØS ¹. 10,000 øÁUPÄ® ©ØÖ® ö»m_©n 

•Êø©¯õP ö\¾zx® •øÓ°¾® ÷uøÁ¯õÚ £n® 

öPõsk Áμ •iÄ ö\´¯¨£mkÒÍx. A¨£nzøu í› 

©ØÖ® \[Pμ£õo AÁºPÍx »õ£ ÂQuzvÀ öPõsk 

Á¸Áº. \UPμ£õo öPõsk Á¸® ‰»uÚ öuõøP°À 

£õvø¯ öPõsk Áμ ö»m_©nß \®©vzuõº. ÷uøÁ¯õÚ 

÷£÷μmkPÒ 

 u¯õ›zx í› ©ØÖ® \UPμ£õo C¸¨¦{ø»ø¯U PõsP. 

19. The Balance Sheet of K, M and L who were sharing 
profits in the ratio of 3:1:1, stood as follows on 31.12.06 
that is the data of dissolution 

Liabilities Rs. Assets Rs. 

Creditors 1,05,000 Sundry assets 1,09,000

Capitals –K 15,000 L’s capital 21,000

Capital – M 10,000  

 1,30,000  1,30,000

 The assets realised Rs. 79,750 realisation expenses were 
Rs. 2,000. Prepare necessary ledger accounts assuming 
that all partners are insolvent 
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 31.12.2006 À ; K,M,L ß »õ£ ÂQu® 3:1:1 Az÷uv°À 

{ÖÁÚ® Pø»UP¨£mhx 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹.

PhÛ¢÷uõº 1,05,000 Ev› ö\õzxUPÒ 1,09,000

•uÀ K 15,000 •uÀ L 21,000

•uÀ M 10,000  

 1,30,000  1,30,000

 ö\õzxUPÒ ÂØ£øÚ ¹. 79,750, ÂØ£øÚ ö\»Ä ¹. 2,000 

AøÚzx® £[Suõμ¸® ö|õi¨¦ {ø» Aøh¢uuõP FQzx 

÷uøÁ¯õÚ ÷£÷μkPÒ u¯õ›UP.  

20. P, Q and R share the profits of a firm in the ratio of 2:2:1 
respectively. The partnership was dissolved on  
31-12-04. Show how the proceeds should be distributed as 
and when received by following the maximum loss 
method. On the date of dissolution, their balance sheet 
stood as follows: 

Liabilities Rs. Assets Rs. 

Creditors 6,000 Cash in hand 2,000

Profit and loss a/c 5,000 Sundry assets 38,000

P capital 16,000  

Q capital 10,000  

R capital 3,000  

 40,000  40,000

 The assets realized instalment Rs. 10,000: second 
installment – Rs. 10,000 and last installment. Rs. 13,000. 
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 P, Q ©ØÖ® R&ß {ÖÁÚ »õ£ ÂQu® 2:2:1. 31.12.04 À 

{ÖÁÚ® Pø»UP¨£mhx. AvP£m\ |mh •øÓ°À ÂØ£øÚ 

Á¸Áõ´ £QºÂøÚ PnUQmk GÆÁõÖ £Qº¢uÎ¨£õ´. 

{ÖÁÚ Pø»¨¤ß ÷uv°À C¸¨¦ {ø»U SÔ¨¦ Á¸©õÖ 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 6,000 øP°¸¨¦ 2,000

»õ£ |mh 5,000 Ev› ö\õzx 38,000

 •uÀ P  16,000  

•uÀ Q 10,000  

•uÀ R 3,000  

 40,000  40,000

  ö\õzxUPÒ ÂØ£øÚ •uÀ uÁøn ¹. 10,000 

  Cμshõ® uøÁøn ¹. 10,000 

  Pøh] uøÁøn ¹. 13,000. 

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2017 

Fourth Semester 

Commerce 

PRINCIPLES OF MANAGEMENT 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. Mention the advantages of Direction. 

 ÁÈPõmku¼ß |ßø©PøÍ SÔ¨¤kP. 

2. What is Scientific management? 

 ÂgbõÚ §ºÁ ÷©»õsø© GßÓõÀ GßÚ? 

3. What is adhoc plan? 

 uØPõ¼P vmh® GßÓõÀ GßÚ? 

4. What is core decision? 

 •UQ¯ •iÄ GßÓõÀ GßÚ? 

5. What is delegation of authority? 

 AvPõμ J¨£øhÄ GßÓõÀ GßÚ? 

6. Define: Decentralisation. 

 Áøμ¯Ö. £μÁ»õUPÀ. 
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7. What are social needs? 

 \‰P ÷uøÁ GßÓõÀ GßÚ? 

8. What is written communication? 

 GÊzx §ºÁ uPÁÀ GßÓõÀ GßÚ? 

9. What is meant by PERT? 

 PERT GßÓõÀ GßÚ? 

10. What is meant by budgetary control? 

 vmhªhÀ Pmk¨£õk GßÓõÀ GßÚ? 

 Section B  (5  5 = 25) 

Answer all the questions. 

11. (a) Explain the contributions of F.W. Taylor in 
management. 

  ÷©»õsø©US F.W. öh´»›ß £[QøÚ ÂÁ›. 

Or 

 (b) Explain the contributions of Henry Fayol in 
management. 

  öíßÔ £õ°¼ß ÷©»õsø©UPõÚ £[QøÚ ÂÁ›. 

12. (a) What are the steps involved in decision making? 

  •iöÁkzu¼ß £i{ø»PøÍ ¯õøÁ? 

Or 

 (b) How to make the planning effective? 

  vmhªhø» G[VÚ® ]Ó¢uuõUP»õ®? 
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13. (a) What are the merits and demerits of the line 

organization? 

  Á›ø\ Aø©¨¤ß |ßø© wø©PÒ ¯õøÁ? 

Or 

 (b) What are the principles of delegation of authority? 

  AvPõμ J¨£øhÂß öPõÒøPPÒ ¯õøÁ? 

14. (a) Explain the features and assumptions of Theory X 
and Theory Y. 

  X  ©ØÖ® Y ÷uØÓzvß ußø©PÒ ©ØÖ® FP[PøÍ²® 

ÂÁ›UP. 

Or 

 (b) Maslow’s theory is more relevant in the recent 
times. Do you agree? Discuss. 

  |ÃÚ Põ»zvÀ ©õì÷»õ ÷Põm£õk ªPÄ® 

\®©¢u¨£mhuõ´ EÒÍx. HØÖU öPõÒÃμõ? ÂÁ›. 

15. (a) How to make budgeting an effective controlling 
technique? 

  vmhªhø» G[VÚ® ]Ó¢u Pmk¨£õmkU P¸Â¯õP 

BUSÂº. 

Or 

 (b) Write a note on continuous controlling. 

  öuõhº Pmk¨£õk £ØÔ¯ SÔ¨¦ ÁøμP. 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. Explain the contributions of Peter F.Drucker to 
management. 

 ÷©»õsø©US ¥mhº F.iμUP›ß £[PÎ¨ø£ ÂÁ›. 
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17. Express the types of plans. 

 vmhªh¼ß ÁøPPøÍ ÂÁ›. 

18. Explain the features and principles of organization. 

 Aø©¨¦ öPõÒøP°ß ußø©PøÍ ÂÁ›. 

19. Discuss the principles of effective communication. 

 |À» uPÁÀ öuõhº¦ öPõsi¸UP ÷Ási¯ Sn[PøÍ 

ÂÁ›. 

20. Explain the various techniques of control. 

 £À÷ÁÖ Pmk¨£õk EzvPøÍ ÂÁ›. 

————————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2017 
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Commerce 

BANKING LAW AND PRACTICE 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. What is depository relationship?  

 øÁ¨¦ öuõøP°ß EÓÄ•øÓ GßÓõÀ GßÚ? 

2. What is trustee relationship? 

 |®¤UøP¯õÍ›ß EÓÄ GßÓõÀ GßÚ? 

3. What is current account? 

 |h¨¦ PnUS GßÓõÀ GßÚ? 

4. What is meant by fixed deposit account? 

 {ø» øÁ¨¦ PnUS £ØÔ AÔÁx ¯õx? 

5. What is general crossing? 

 ö£õxU RÓ¼hÀ GßÓõÀ GßÚ? 

6. What is Banker’s cheque? 

 Á[Q¯õÍº Põ÷\õø» GßÓõÀ GßÚ? 

Sub. Code 
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7. What is Blank endorsement? 

 öÁÖø©¯õÚ HØ¤ø\Ä GßÓõÀ GßÚ? 

8. Who is Paying Banker? 

 ö\¾zx® Á[Q¯º Gß£Áº ¯õº? 

9. What is meant by pay in slip? 

 ö\¾zuÀ Chõ¨¦ £ØÔ AÔÁÚ ¯õx? 

10. What is meant by withdrawal form? 

 Gk¨¦ £iÁ® £ØÔ AÔÁÚ ¯õx? 

 Section B  (5  5 = 25) 

Answer all questions. 

11. (a) Write short notes on : 

  (i) Banker 

  (ii) Customer. 

  ]Ö SÔ¨¦ ÁøμP. 

  (i) Á[Q¯º 

  (ii) ÁõiUøP¯õÍº. 

Or 

 (b) Explain the agency relationship of a banker with 

their customer. 

  Á[Q¯º uÚx ÁõiUøP¯õÍº «x •Pø© EÓÄ 

øÁzxÒÍõº ÂÍUSP. 
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12. (a) Briefly explain the types of Deposit Accounts. 

  £À÷ÁÖ ÁøP¯õÚ øÁ¨¦ PnUSPøÍ Bμõ´P. 

Or 

 (b) What are the differences between cash book and 
pass book? 

  öμõUP HmiØS® Á[Q ö\À÷»miØS® Cøh÷¯ EÒÍ 

÷ÁÖ£õkPÒ ¯õøÁ? 

13. (a) Explain the differences between the cheque and 
Bills of Exchange. 

  Põ÷\õø»US® ©õØÖu¾US›¯  Esi¯¾US® EÒÍ 

÷ÁÖ£õkPøÍ ÂÍUSP. 

Or 

 (b) What is material alteration? Explain with a case 
law.  

  ö£õ¸Ò v¸zu® GßÓõÀ GßÚ? ÁÇUS Âv²hß  

ÂÍUSP. 

14. (a) Explain the precautions to be taken by the paying 
banker. 

  ö\¾zx® Á[Q¯º GkUP÷Ási¯ •ßGa\›UøPPÒ 

£ØÔ ÂÍUSP. 

Or 

 (b) Under what Circumstances the cheques are 
dishonoured? 

  G¢u Ai¨£øh°À Põ÷\õø»PÒ AÁ©vUP¨£kQÓx? 

15. (a) Explain the features of a credit card. 

  Phß Amøh°ß ]Ó¨£®\[PøÍ ÂÍUSP. 

Or 

 (b) Explain : Letter of credit. 

  ÂÍUSP : PhÝÖvU Piu®. 
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 Section C  (3  10 = 30) 

Answer any three questions. 

16. Explain briefly the general relationship between banker 
and customer. 

 Á[Q¯¸US® ÁõiUøP¯õÍ¸US® Cøh÷¯ EÒÍ ö£õx 

EÓÄ £ØÔ ÂÍUSP. 

17. What are the preliminary steps to be taken by a banker 
before opening an account in the name of a company? 

  J¸ {Ö©zvß ö£¯›À Á[Q PnUS öuõh[S® ÷£õx 

Á[Q¯º ÷©ØöPõÒÍ  ÷Ási¯ •ßöÚa\›UøP 

|hÁiUøPPÒ ¯õøÁ? 

18. Describe the significance of crossing. 

 RÓ¼h¼ß •UQ¯zxÁzøu ÂÁ›. 

19. Explain the duties of a banker when he come across 
Forgery of drawer’s signature. 

 Áøμ£Áº øPö¯ÊzvÀ ÷©õ\i ö\´²® £m\zvÀ Á[Q¯º 

÷©ØöPõÒÐ® £oø¯ ÂÍUSP. 

20. Explain the statutory protection available to the 
collecting banker. 

 Á`¼US®  Á[Q¯¸US E›¯ \mh§ºÁ©õÚ £õxPõ¨¦ £ØÔ 

ÂÍUSP. 

———————— 
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(CBCS – 2014 onwards) 
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 Section A  (10  2 = 20) 

Answer all questions. 

1. What is Compound interest? 
 Tmk Ámi GßÓõÀ GßÚ? 

2. What is Simple interest? 
 uÛ Ámi GßÓõÀ GßÚ? 

3. What is Depreciation? 
 ÷u´©õÚ® GßÓõÀ GßÚ? 

4. What is Annuities value? 
 Á¸hõ¢vμ ©v¨¦ GßÓõÀ GßÚ? 

5. What is inter section? 
 SÖUS ÷Põk GßÓõÀ GßÚ? 

6. Simplify : 
3
1

log
12
15

log
5

16
log  . 

 _¸USP : 
3
1

log
12
15

log
5

16
log   
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7. What is Simple event? 
 uÛ {PÌÄ GßÓõÀ GßÚ? 

8. State Baye’s theorem. 
 ÷£´¯ì ÷uØÓzøu GÊxP. 

9. Bring out Poisson distribution. 
 £õ´éõß £μÁø» GkzxU TÖP. 

10. What is theoretical distribution? 
 ÷Põm£õk ÁÈ¨ £μÁÀ GßÓõÀ GßÚ? 

 Section B (5  5 = 25) 

Answer all questions. 

11. (a) The difference between the compound interest and 
simple interest is Rs. 398.60 Number of years :  
5 Rate of interest 9% find the Principal. 

   TmkÁmiUS® uÛ ÁmiUS® EÒÍ Âzv¯õ\®  

¹. 398.60. Á¸h[PÒ 5 Ámi ÂQu® 9% A\ø»U 

PõsP. 

Or 

 (b) If Rs. 10,000 is deposited at 12.5% per annum 
compound interest, in how many years the amount 
will be tripled? 

   BskUS 12.5% TmkÁmi GÚ ¹. 10,000 

•u¼h¨£kQÓx. Ax GzuøÚ BskPÎÀ 

•®©h[S BS®. 

12. (a) Describe the types of logarithms. 
   ©hUøP°ß ÁøPPøÍ ÂÁ›. 

Or 

 (b) Simplify : 
120log

1000log8log27log 
. 

   _¸USP : 
120log

1000log8log27log 
. 
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13. (a) Explain the features of set. 
   Pnzvß ]Ó¨¤¯À¦PøÍ ÂÁ›. 

Or 
 (b) If    12,11,10,8,10,9,8,7,6,5  BA  and 

 10,6,5,4,2C  find  CBA  . 

    10,9,8,7,6,5A  GÛÀ  12,11,10,8B  ©ØÖ® 

 10,6,5,4,2C  PõsP  CBA  . 

14. (a) Explain various conditions of Probability. 
   {PÌuPÂß £À÷ÁÖ {£¢uøÚPøÍ ÂÁ›. 

Or 
 (b) What is the Probability of picking queen or a king 

from a pack of 52 cards? 
   52 ^mkPÒ öPõsh Pmi¼¸¢x Aμ] AÀ»x Aμ\ß 

ö£ÖÁuØPõÚ {PÌuPÄ ¯õx? 

15. (a) Explain the uses of Binomial Theorems. 
   DÖ¸¨¦ ÷uØÓzvß £¯ßPøÍ ÂÁ›. 

Or 
 (b) If the 11th and 12th terms in the expansion of 

 221 x  are equal, find the value of x . 
   £vöÚßÓõÁx ©ØÖ® £ßÛμshõÁx £u[PÒ 

 221 x  GßÓ Â›ÂÀ \©® GßÓõÀ x &ß ©v¨ø£ 

PõsP. 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. A bill for Rs. 6,000 drawn on 1.2.2000 for a period of  
5 months is discounted in a bank on 10.2.2000 for a 
discount @ 6% PA. Calculate the discount for the bank, 
True discount, Bankers gain and the amount received by 
the party. 

 1.2.2000&À, 5 ©õu[PÐUöPÚ ¹. 6,000 ^mk Áøμ¯¨£mk 

10.2.2000&À Á[Q°À Á¸hzvØS 6% Ámi GÚ Ámhg 

ö\´¯¨£mhx. Á[QUPõÚ uÒÐ£i, Esø©z uÒÐ£i, 

Á[Q¯›ß »õ£®, |£º ö£ØÓ £n® BQ¯ÁØøÓ Psk¤iUP. 
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17. Evaluate : 
80
81

log3
25
16

log7
24
25

log5  . 

 ©v¨¤kP : 
80
81

log3
25
16

log7
24
25

log5  . 

18. Given that      8,5,3,2,1,7,4,2,1,5,3,1,0  CBA  
prove that  

 (a)      CBCACBA   

 (b)      CBCACBA   

 öPõkUP¨£mhøÁ      8,5,3,2,1,7,4,2,1,5,3,1,0  CBA  

{¸¥UP. 

 (A)      CBCACBA   

 (B)      CBCACBA  . 

19. Assume that on an average the telephone number out of 
15 is busy. What is the probability that is 6 randamly 
selected telephone numbers are called : 

 (a) Not more than 3 will be busy 

 (b) At least 3 of them will be busy. 

 ö©õzu EÒÍ 15 öuõø»÷£]PÎÀ JßÖ ©mk® 

E£÷¯õPzvÀ EÒÍx GÚ P¸xP. AÁØÔÀ GøÁ÷¯Ý® 

BÖ ©mk® E£÷¯õPzvÀ C¸¨£uØPõÚ {PÌuPÄ GßÚ? 

 (A) ‰ßÖUS ÷©À E£÷¯õPzvÀ C¸¨£uØPõÚ {PÌuPÄ 

 (B) SøÓ¢ux ‰ßÖ E£÷¯õPzvÀ C¸¨£uØPõÚ {PÌuPÄ. 

20. Expand and simplify :    66
1212  . 

 ÂÁ›UP ©ØÖ® _¸USP :    66
1212  . 

 
———————— 
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 Section A  (10  2 = 20) 

Answer all questions. 

1. What is WIP reserve? 

 •iÄÓõ ö£õ¸Ò Põ¨¦ GßÓõÀ GßÚ? 

2. What is a cost plus contract? 

 AhUPÂø» Cøn¢u J¨£¢u® GßÓõÀ GßÚ? 

3. What is minimum rent? 

 SøÓ¢u £m\ ÁõhøP GßÓõÀ GßÚ? 

4. What is meant by Royalty? 

 E›ø©z öuõøP GßÓõÀ GßÚ? 

5. Bring out the impact of ‘non-payment’ of any instalment 
amount in Hire purchase. 

 ÁõhøP öPõÒ•uÀ •øÓ°À uÁønz öuõøP 

öPõkUPõuuõÀ HØ£k® ÂøÍÄPÒ ¯õøÁ? 

Sub. Code 
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6. State any four features of Hire Purchase System. 

 ÁõhøPU öPõÒ•uÀ •øÓ°ß H÷uÝ® |õßS 

ußø©PøÍU TÖP. 

7. Why is statement of affairs prepared? 

 Phß wºÄ ÂÁμ AÔUøP Hß u¯õ›UP¨£kQÓx? 

8. What is Deficiency a/c? 

 £ØÓõ SøÓ P/S GßÓõÀ GßÚ? 

9. How will you allocate expenses in Departmental 
Accounts? 

 xøÓÁõ› PnUQÀ ö\»ÂÚ[PÒ GÆÁõÖ £Qμ¨£kQÓx? 

10. What are independent branches? 

 \õμõu QøÍPÒ GßÓõÀ GßÚ? 

 Section B (5  5 = 25) 

Answer all the questions. 

11. (a) Explain the method of computing profit on 
incomplete contract. 

   {øÓÄ ö£Óõu J¨£¢uzv¼¸¢x C»õ£® 

PnUQh¨£k® •øÓPøÍ ÂÍUSP. 

Or 

 (b) Contract price – Rs. 10,00,000 

  Work certified – Rs. 5,00,000 

  Notional Profit – Rs. 2,40,000 

  Cash received is 80% of work certified 

  Calculate the amount to be transferred to the  
profit and loss account. 
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   J¨£¢u Âø» – ¹. 10,00,000 

   \õßÓÎUP¨£mh ÷Áø» – ¹. 5,00,000 

   ¦»ÚõPμ C»õ£® – ¹. 2,40,000 

   80% \õßÓÎUP¨£mh ÷Áø»US öuõøP ö£Ó¨£mhx. 

   C»õ£ |mh PnUQÀ Põmh¨£h ÷Ási¯ öuõøPø¯ 

PõsP. 

12. (a) What is meant by recoupment of short working? 
Explain its different types. 

   SøÓ EØ£zv «m¦ Gß£uß ö£õ¸Ò ¯õx? Cuß 

£À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

Or 

 (b) On 1st January 2001, the Gudur Mines leased some 
land for a minimum rent of Rs. 3,000 for the first 
year, Rs. 5,000 in the second years and thereafter 
Rs. 10,000 per annum merging into a royalty of  
50 paise per ton with power to recoup Short working 
over two years after occurring of short workings. 
The outputs were as follows : 

  2001 – 3,000 tons 
  2002 – 8,600 tons 
  2003 – 22,000 tons 
  2004 – 50,000 tons 

  Show how the accounts would appear in the books 
of the Gudur Mines. 

  áÚÁ› 1, 2001 AßÖ “Skº” _μ[P® SøÓ¢u AÍÄ 

ÁõhøP¯õP •uÀ BsiØS ¹. 3,000, Cμshõ® 

BsiØS ¹. 5,000 ÷©¾® Auß ¤ÓS BsiØS 

¹. 10,000 GÚÄ® Aøu Põ¨¦›ø©z öuõøP²hß J¸ 

hßÛØS 50 ø£\õ GÚ Cønzx ö£Ö©õÖ SzuøPUS 

J¨¦U öPõskÒÍx. ÷©¾® {øÓÄö£Óõu ÷Áø»ø¯ 

Cμsk BsiØS¨¤ß ö£Ö©õÖ® J¨¦U 

öPõÒÍ¨£mhx : 
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  EØ£zv ¤ßÁ¸©õÖ : 

  2001 – 3,000 hßPÒ 

  2002 – 8,600 hßPÒ 

  2003 – 22,000 hßPÒ 

  2004 – 50,000 hßPÒ 

  Skº _μ[P PnUS HkPÎÀ Cx GÆÁõÖ ÷uõßÖ® 

Gß£øu PshÔP. 

13. (a) What are the differences between Hire-Purchase 
and Instalment System? 

   ÁõhøP öPõÒ•u¾US®, uÁønU öPõÒ•u¾US® 

EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) X Ltd. had purchased a machinery on hire purchase 
system from Y Ltd. The terms are that X Ltd. would 
pay Rs. 20,000 down on signing the agreement and 
annual instalments of Rs. 11,000 each commencing 
from the beginning of the next year. X Ltd. charged 
depreciation at 10% per annum under diminishing 
balance system. Y Ltd. charged interest at 10% per 
annum, Prepare machinery account and Y Ltd. a/c 
in the books of X Ltd. 

   X {ÖÁÚ® Y {ÖÁÚzvhª¸¢x ÁõhøPU öPõÒ•uÀ 

•øÓ°À J¸ C¯¢vμzøu öPõÒ•uÀ ö\´ux.  

X {ÖÁÚ® J¨£¢uzvÀ øPö¯õ¨£ªk® ÷£õx  

¹.20,000 •uÀ öuõøP¯õPÄ® «v öuõøPø¯  

¹. 11,000 Ãu® |õßS Bskz uÁøn¯õPÄ® Akzu 

Bsk Bμ®£® •uÀ uμ÷Áskö©Ú {£¢uøÚ 

EÒÍx. BsiØS 10% SøÓ¢xö\À C¸¨¦ •øÓ 

÷u´©õÚzøu X {Ö©® _©zxQÓx. BsiØS  

10% Ámiø¯ Y {ÖÁÚ® _©zxQÓx. X {ÖÁÚ 

HkPÎÀ Y {ÖÁÚ PnUøP²® ÷©¾® C¯¢vμU 

PnUøP²® u¯õº ö\´P. 
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14. (a) Distinguish between insolvency of an individual and 
a Partnership firm.  

  uÛ |£º ö|õi¨¦ {ø»US® Tmhõsø© {ÖÁÚ 

ö|õi¨¦ {ø»US® Cøh÷¯ EÒÍ ÷ÁÖ£õkPøÍ 

TÖP. 

Or 

 (b) The assets of Ram of Bombay on 31.6.2003 as shown 
by his books were Rs. 28,000 and his liabilities  
Rs. 22,000. The estimated his deficiency Rs. 15,000. 
He found the following were not taken into account. 

  (i) Interest at 6% on his capital from 1.1.2003. 

  (ii) A contingent liability of Rs. 1,250 on bills 
discounted by him for Rs. 5,000. 

  (iii) Amount due as wage Rs. 300; Rent Rs. 100; 
Taxes Rs. 150. 

   Prepare Statement of Affairs. 

   31.6.2003&À £õ®÷£, μõªß ö\õzx ¹. 28,000 ö£õÖ¨¦ 

¹. 22,000 AÁμx umk¨£õmk öuõøP ¹. 15,000. 

RÌPõq® ö\´vPÒ £v¯¨£hÂÀø» GÚ 

öu›ÂUQÓõº. 

  (i) 1.1.2003 •uÀ 6% Ámi°À AÁμx •uÀ 

  (ii) Ámhg ö\´¯¨£mh ¹. 5,000 ^mk, Gvº£õμõ 

ö£õÖ¨¦ ¹. 1,250 

  (iii) öPõk£h ÷Ási¯ \®£Í® ¹. 300, ÁõhøP  

¹. 100, Á› ¹. 150 

    {ø» AÔUøP PõsP. 
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15. (a) Write short notes on ‘Branch Adjustment Account’. 

   QøÍ \›UPmkuÀ PnUS ]Ö SÔ¨¦ GÊxP. 

Or 

 (b) The Bombay Textiles Ltd. Opened a branch at Delhi 
on 1st April, 1993. 

  From the following particulars, prepare all the 
accounts effected for 1993-94 and 1994-95 in the 
books of the head office : 
 1993-94 

(Rs.) 
1994-95 

(Rs.) 

Goods sent to Delhi 45,000 1,35,000

Cash sent to Branch for : 

Rent 6,000 6,000

Salaries 4,800 6,800

Other Expenses 2,000 3,000

Cash received from Branch 70,000 1,60,000

Stock on 31st March 7,000 26,000

Petty cash in hand on 31st March 120 260

  £®£õ´ {ÖÁÚ® 1.4.93À öhÀ¼°À QøÍ 

öuõh[Q¯x. uø»ø© {ÖÁÚ ¦zuPzvÀ 93&94 ©ØÖ® 

94&95&ØPõÚ AøÚzx PnUSPøÍ²® u¯õ›UP.  

 1993&-94 

(¹.) 

1994&-95 

(¹.) 

öhÀ¼US AÝ¨£¨£mh ö£õ¸Ò 45,000 1,35,000

QøÍ ö\»ÂØS AÝ¨£¨£mh £n® :

ÁõhøP 6,000 6,000

\®£Í® 4,800 6,800

©ØÓ ö\»ÄPÒ 2,000 3,000

QøÍ°¼¸¢x ö£Ó¨£mh £n® 70,000 1,60,000

31 ©õºa]À \μUQ¸¨¦ 7,000 26,000

31 ©õºa]À ]Ö öuõøP C¸¨¦ 120 260
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 Section C  (3  10 = 30) 

Answer any three questions. 

16. A firm of builders, carrying out large contracts kept in a 

contract ledger separate accounts for each contract.  

The following particulars relate to a certain contract 

carried out during the year ended 30th June.        

 Rs. 

Work certified by Architects 1,43,000

Cash received from the contractee 1,30,000

Materials sent to site 64,500

Labour engaged on site 54,800 

Plant installed at site 11,300

Value of plant at 30th June (closing) 8,200

Cost of work not yet certified 3,400

Establishment charges 3,250

Direct Expenditure 2,400

Wages accrued due 1,800

Materials, closing balance 1,400

Materials returned to store 400

Direct expenses accrued due 200

Contract price 2,00,000

 You are required to prepare an account, showing the 

profit on the contract to 30th June. 
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 J¸ ö£›¯ Pmih {Ö©®, ö£›¯ AÍÂ»õÚ J¨£¢u[PøÍ 

uÛuÛ ÷£÷μmkU PnUSPÎÀ ÷©ØöPõskÒÍx. 

¤ßÁ¸® ÂÁμ[PÒ áúß 30&À •iÄÖ® BsiØPõÚ J¸ 

J¨£¢u® öuõhº¦øh¯uõS®. 

 ¹. 

Pmih {¦nºPÍõÀ \õßÓÎUP¨£mh ÷Áø»°ß 

AÍÄ 1,43,000

J¨£¢uuõμ›hª¸¢x ö£Ó¨£mh öμõUP® 1,30,000

£o°hzvØS AÝ¨£¨£mh \μUQß ©v¨¦ 64,500

£o°hzvÀ £o¦›÷Áõº ©v¨¦ 54,800 

£o°hzvÀ {ÖÁ¨£mh uÍÁõh[PÒ 11,300

áúß 30 |õÍßøÓ¯ uÍÁõh[PÎß ©v¨¦  

(CÖv ©v¨¦) 8,200

\õßÓÎUP¨£hõu £o°ß ©v¨¦ 3,400

{ÖÄu¾UPõÚ ö\»ÄPÒ 3,250

÷|μi ö\»ÄPÒ 2,400

öPõk£h ÷Ási¯ T¼ 1,800

\μUSPÎß CÖv ©v¨¦ 1,400

£shP\õø»US v¸¨¤ AÝ¨£¨£mh \μUSPÒ 400

÷|μi ö\»ÄPÒ öPõk£h ÷Ási¯x 200

J¨£¢u Âø» 2,00,000

 30 áúß |õÍßøÓ¯ J¨£¢u® «uõÚ C»õ£zøu Põmk® 

PnUS JßøÓ u¯õº ö\´¯ {Ãº ÷Põμ¨£kQÕº. 
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17. A coal company owns lease of a mine of a royalty of  
Rs. 2 per ton of coal raised, with a Dead Rent of  
Rs. 40,000 per annum. The agreement provides the lease 
with the power of recouping each year’s excess of 
Minimum Rent over Royalties out of the royalties of the 
next two years. 

 The output for the first five years was as follows :  
2001 – 2,500 tons; 2002 – 12,000 tons; 2003 – 20,000 tons; 
2004 – 30,000 tons; 2005 – 30,000 tons. Write up the 
Minimum Rent Account, Royalty Account, short workings 
Account and the Land Lord Account. 

 J¸ BsiØPõÚ ö©õzu ÁõhøP ¹. 40,000 GÚÄ® J¸ hß 

{»UP›US Põ¨¦›ø©¯õP ¹. 2 GÚÄ® J¨¦U öPõÒÍ¨£mk 

J¸ {»UP› {Ö©® J¸ _μ[Pzøu SzuøPUS öPõskÒÍx. 

J¨£¢uzvß£i JÆöÁõ¸ BsiØS©õÚ SøÓ¢u AÍÄ 

ÁõhøPø¯Âh AvP©õP EÒÍ öuõøPø¯ Põ¨¦›ø©US 

÷©»õP Akzu Cμsk BskPÎÀ ö£Ö® AvPõμzøu 

öPõskÒÍx. •uÀ I¢x BskPÐUPõÚ EØ£zv 

¤ßÁ¸©õÖ : 2001 – 2,500 hßPÒ; 2002 – 12,000 hßPÒ; 

2003 – 20,000 hßPÒ; 2004 – 30,000 hßPÒ; 2005 –  

30,000 hßPÒ; SøÓ¢u AÍÄ ÁõhøP PnUS, Põ¨¦›ø©U 

PnUS, SøÓÄ÷Áø» AÍÄU PnUS ©ØÖ® {» 

E›ø©¯õÍº PnUS BQ¯ÁØøÓz u¯õº ö\´P. 

18. Mr. Gupta purchased a machine under hire purchase 
agreement from Mr. Pankaj. The cash price of the 
machine was Rs. 15,500. The payment for the purchase is 
to be made us under. 

 On Signing the agreement Rs. 3,000 End of the first year 
Rs. 5,000 End of the second year Rs. 5,000 End of the 
third year Rs. 5,000 Make necessary journal entries in 
the books of both the parties. Charge depreciation at the 
rate of 10% diminishing balance method. 
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 v¸. S¨uõ Gß£Áº v¸. £[Pä Gß£Á›hª¸¢x J¸ 

C¯¢vμzøu ÁõhøP öPõÒ•uÀ J¨£¢u£i öPõÒ•uÀ 

ö\´xÒÍõº. C¯¢vμzvß öμõUP {ø» ¹. 15,500. 

öPõÒ•u¾UPõÚ Âø» ¤ßÁ¸©õÖ ö\¾zu¨£mhx. 

 J¨£¢u® øPö¯ÊzuõS® ÷£õx ¹. 3,000 •u»õsk 

CÖv°À ¹. 5,000 Cμshõ©õsk CÖv°À ¹. 5,000 

‰ßÓõ©õsk CÖv°À ¹. 5,000 Cμsk |£ºPÎß 

HkPÎ¾® ÷uøÁ¯õÚ SÔ¨÷£mk¨ £vÄPøÍU u¸P. 

SøÓ¢x ö\À C¸¨¦ •øÓ¨£i 10% ÷u´©õÚzøu GÊxP. 

19. Caravan company purchases a motor car from Madurai 

Motor Company on the instalment system. On January  

1, 1971, paying cash Rs. 10,000 and agreeing to pay three 

further instalment of Rs. 10,000 each on December  

31, each year. The cash price of the car is Rs. 37,250 and 

the Madurai Motor Company charges interest at 5% p.a. 

Caravan company writes off 10% p.a. as depreciation on 

the Written Down Value system. 

 Journalise these transaction in the books of Caravan 

Company and Madurai Motor. 

 ©xøμ ÷©õmhõº P®ö£Û°h® PõμÁõß {Ö©® 1.1.71 AßÖ 

¹. 10,000 ö\¾zv uÁøn •øÓ°À Áõ[Q¯x ©ØÖ® 

JÆöÁõ¸ Bsk 31 i\®£›À ‰ßÖ uÁøn ¹. 10,000 

Ãu® ö\¾zu J¨¦U öPõshÚº. Põ›ß AhUP Âø»  

¹. 37,250 BsiØS 5% Ámi GÚ ©xøμ ÷©õmhõº {ÖÁÚ® 

öu›Âzux. SøÓ¢u ö\À ©v¨¥k •øÓ°À PõμõÁõß 

P®ö£Û Á¸hzvØS 10% ÷u´©õÚ® ÷£õUöPÊv¯x. ©xøμ 

÷©õmhõº ©ØÖ® PõμõÁõß P®ö£Û PnUQÀ •uØSÔ¨¦ 

ÁøμP. 
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20. A company with its head office at Bombay has a branch 
at Calcutta. The Branch receives all goods from head 
office who also remits cash for all expenses. Sales are 
made by the branch on credit as well as for cash. 

 Total sales by the branch for the year ended 31.3.1995 
amounted to Rs. 5,60,000 out of which, 20% is cash sales. 
The following further information is relevant. 

Particulars 1.4.94 
(Rs.) 

31.3.95 
(Rs.) 

Stock in trade 25,000 36,000

Debtors 60,000 48,000

Petty cash 120 180

 Expenses actually incurred by the branch during the year 
were as follows : 

 Salary  Rs. 36,000 

 Rent   Rs. 12,000 

 Petty expenses Rs. 5,600 

 All sales are made by the branch at cost plus 10 percent. 
You are required to Prepare the Calcutta Branch account 
in the books of head office for the year ended 31.3.1995. 

 •®ø£°À uø»ø© {ø»¯® öPõsh {Ö©zvß QøÍ 

öPõÀPzuõÂÀ EÒÍx. QøÍUS ö£õ¸mPÒ AøÚzx® 

uø»ø© A¾Á»Pzv¼¸¢x Á¸QÓx ©ØÖ® ö\»ÄPÐUS 

£n® ö\¾zxQÓx. öμõUP® ©ØÖ® Phß •øÓ°À 

ÂØ£øÚø¯ QøÍ |hzxQÓx. 

 31.3.95 QøÍ°ß ö©õzu ÂØ£øÚ ¹. 5,60,000 AvÀ 

 20% öμõUP ÂØ£øÚ. ÷©¾® ö\´vPÒ Á¸©õÖ : 

Â£μ® 1.4.94 

(¹.) 

31.3.95 

(¹.) 

\μUQ¸¨¦ 25,000 36,000

PhÚõÎPÒ 60,000 48,000

]Ö öuõøP 120 180
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 |øhö£ØÓ ö\»ÄPÒ Á¸©õÖ : 

 \®£Í®  ¹. 36,000 

 ÁõhøP  ¹. 12,000 

 ]Ö ö\»ÄPÒ ¹. 5,600 

 QøÍ ÷©ØöPõsh ÂØ£øÚ Gß£x AhUP Âø»²hß 

10 \uÃu® ÷\º¢ux. 31.3.95&À A¾Á»P ¦zuPzvÀ 

öPõÀPzuõ QøÍ PnUøP u¯õ›UPÄ®. 

 

 
———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2017 

Fifth Semester 

Commerce 

CORPORATE ACCOUNTING 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. Give an account on the types of debentures. 

 PhÜmk¨ £zvμ[PÎß ÁøPPÒ £ØÔU TÖP. 

2. What is Underwriting? 

 J¨¦Öv GßÓõÀ GßÚ? 

3. What is lumpsum method of purchase consideration? 

 öPõÒ•u¼ß öPõk¨¤À ö©õzu £n•øÓ GßÓõÀ GßÚ? 

4. What is meant by profit prior to incorporation? 

 £vÄUS•ß »õ£® GßÓõÀ GßÚ? 

5. What is managerial remuneration? 

 {ºÁõPzvÚ¸UPõÚ \®£Í® GßÓõÀ GßÚ? 

6. What is internal reconstruction? 

 EÒ ^μø©¨¦ GßÓõÀ GßÚ? 

Sub. Code 

4BCO5C1 
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7. What are the formalities to be adhered for capital 
reduction? 

 ‰»uÚ SøÓ¨¤ØPõÚ ÷uøÁ¯õÚ |øh•øÓPÒ ¯õøÁ? 

8. Who is called liquidator? 

 Pø»¨£õÍº Gß£õº ¯õº? 

9. Write a note on the powers of liquidators and his 
remuneration. 

 Pø»¨£õÍ›ß AvPõμ® ©ØÖ® Fv¯® £ØÔ SÔ¨¦ ÁøμP. 

10. What is meant by Net asset method? 

 {Pμ ö\õzx •øÓ GßÓõÀ GßÚ? 

 Section B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the legal Provisions relating to redemption 
of preference share. 

  •ßÝ›ø© £[SPÒ «m¦ öuõhº£õP \mh \μzxUPøÍ 

ÂÍUSP. 

Or 

 (b) Raja Ltd. issued 20,000 shares of Rs. 10 each at a 
premium of Rs. 2 payable as follows: 

  Rs. 2 on application Rs. 5 on allotment (including 
premium Rs. 2); Rs. 2 on first call; Rs. 3 on final call, 

  Applications for 15000 shares were received and all 
these were allotted. The first call was made and the 
amount due there on was received except the 
amount on 500 shares. Hence these shares were 
forfeited and reissued at Rs. 7 each. Pass journal 
entries. 
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  μõáõ ¼ªöhm {Ö©® u»õ ¹. 10 ©v¨¦ÒÍ 20000 

£[SPøÍ ¹. 2 •øÚ©zvÀ öÁÎ°mhx. öuõøP 

£S¨¤ß ÂÁμ® : 

  Âsn¨£zxhß ¹. 2, £[S JxUSu¼ß ÷£õx ¹. 5 

(¹. 2 •øÚ©® ÷\ºzx) •uÀ AøÇ¨¦ ¹. 2 CÖv 

AøÇ¨¦ ¹. 3 ö©õzu® 15,000 £[SPÐUPõÚ 

Âsn¨£[PÒ ö£Ó¨£mk, £[S JxURk® 

ö\´¯¨£mhx. •uÀ AøÇ¨¤À 500 £[SPÐUPõÚ 

öuõøP uÂμ ©ØÓøÁ ö£Ó¨£mhx. GÚ÷Á A¢u¨ 

£[SPøÍ JÖ¨¤Ç¨¦ ö\´x, u»õ ¹. 7US ©Ö 

öÁÎ±k ö\´¯¨£mhx. ÷uøÁ¯õÚ SÔ¨÷£mk¨ 

£vÄPøÍz u¸P. 

12. (a) Discuss the steps involved in Acquisition of 
business. 

  {ÖÁÚU øP¯P¨ £kzu¼ß £i {ø»PøÍ ÂÁ›. 

Or 

 (b) A company which was incorporated on May 1, 2007 
acquired the business of a sole trader on January 1, 
2007. The account of the company were closed for 
the first time on September 30, 2007 disclosed a 
gross profit of Rs. 84,000 The establishment 
expenses were Rs. 21,330; Directors fees Rs. 1,500 
per month ; Preliminary expenses written off  
Rs. 2,250 Rent up to June Rs. 150 per month but 
thereafter it was increased to Rs. 375 per month; 
Included in the director’s fees was salary to the 
manager at Rs. 750 per month ; who was appointed 
as a director at the time of incorporation of the 
company. Prepare a Statement showing profits prior 
to and post incorporation assuming that the net 
sales were Rs. 12,30,000 the monthly average of 
which for the first four months of 2007 was half that 
of the remaining period. 
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  ÷© 1, 2007À öuõh[P¨£mh {Ö©® uÛ {ÖÁÚ® 

JßøÓ 1.1.2007À öPõÒ•uÀ ö\´ux. 

  30.9.2007À PnUS •uÀ•øÓ¯õP •iUP¨£mhx. 

  ö©õzu»õ£® – ¹. 84,000 

  Aø©¨¦ ö\»Ä – ¹. 21,330 

  C¯US|º Pmhn® – ¹. 1,500 ©õu® JßÖUS. 

÷£õUöPÊu¨£mh öuõhUP ö\»ÄPÒ ¹. 2,250. 

  150 Ãu® áúß Áøμ°À ÁõhøP ö\¾zu¨£mh ¤ÓS  

¹. 375 GÚ E¯ºzu¨£mhÚ. C¯US|º \®£ÍzvÀ 

©õu® JßÖUS ¹. 750 ÷©»õÍ¸US ÁÇ[P¨£mh 

\®£Í® ÷\º¢xÒÍx. C¯US|º £vÂß ÷£õx £uÂ°À 

÷\º¢uõº. £vÄUS •ß ©ØÖ® ¤ß EÒÍ »õ£zøu 

PõsP. ÂØ£øÚ ¹. 12,30,000. 2007&À •uÀ 4 

©õuzvÀ ©õu \μõ\›, ¤ßÁ¸® ©õu[PÎÀ £õv¯õS® 

GÚU öPõÒP. 

13. (a) Give an imaginary “Balance Sheet” of a Joint Stock 
Company. 

  Kº {Ö©zvß C¸¨¦ {ø»U SÔ¨¤ß PØ£øÚ 

©õv›ø¯z u¸P. 

Or 

 (b) From the following details of ABC Company Ltd., 
Prepare Profit and Loss Appropriation A/c for the 
year ended 31.12.2000. 

  P & L A/c (Cr.) Transferred to (on 01.01.2000)  
Rs. 67,000  

  General reserve Rs. 55,000 

  Cash balance 10,000  

  Proposed dividend Rs. 60,000  

  Creditors Rs. 19,000  

  Net profit in 2000 Rs. 1,33,000. 
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  RÌUPsh Â£μ[PÎ¼¸¢x A B C {ÖÁÚzvß »õ£-

&|mh JxURmk PnUøP 31.12.2000 •i¯ 

u¯õ›UPÄ®. 

  »õ£ |mh P/S (01.01.2000&À) ¹. 67,000 (ÁμÄ) 

  ö£õx Põ¨¤ØS ©õØÔ¯x ¹. 55,000 

  öμõUP C¸¨¦ ¹. 10,000 

  £[Põuõ¯ JxURk ¹. 60,000 

  PhÜ¢÷uõº ¹. 19,000 

  2000&À {Pμ »õ£® ¹. 1,33,000. 

14. (a) What is meant by purchase consideration? Explain 
the different method of purchase consideration. 

  öPõÒ•uÀ ©Ö£¯ß GßÓõÀ GßÚ? öPõÒ•uÀ 

©Ö£¯Ûß £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

Or 

 (b) The company B takes over the business of A 
company. The value agreed for various assets is 
goodwill Rs. 22,000, land and Buildings Rs. 25,000 
Plant Rs. 24,000 Stock Rs.13,000, Debtors  
Rs. 8,000. B company does not take over cash but 
agree to assume the liability of creditors at  
Rs. 5,000. Calculate purchase consideration. 

  A {Ö©zøu B {Ö©® øP¯P¨£kzv¯x. ö\õzxUPÎß 

HØP¨£mh ©v¨¦ |Øö£¯º – ¹. 22,000; Pmih® ©ØÖ® 

{»® – ¹. 25,000: öPõvP»ß – ¹. 24,000: \μUS C¸¨¦ 

– ¹. 13,000 PhÚõÎPÒ – ¹. 8,000: B {Ö©® 

öμõUPzøu GkzxU öPõÒÍÂÀø». BÚõÀ 

PhÜ¢÷uõøμ ¹. 5,000ØS GkzxU öPõshx. 

öPõÒ•uÀ ©Ö£¯øÚU Psk¤iUP. 

15. (a) Explain the determinants of value of goodwill. 

  |Øö£¯º ©v¨ø£ {ºn°US® PõμoPøÍ ÂÁ›. 

Or 
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 (b) A liquidator is entitled to receive remuneration @ 
2% of the assets realized and 3% on the amount 
distributed among the unsecured creditors. The 
assets realized Rs. 70,00,000 against which 
payment was made as follows: 

  Liquidation expenses Rs. 50,000  

  Preferential creditors Rs. 1,50,000  

  Secured creditors Rs. 40,00,000 

  Calculate the total remuneration payable to the 
liquidator. 

  J¸ Pø»¨£õÍº ö\õzx ÂØÓ¼À 2% ©ØÖ® 

Ah©õÚªÀ»õ PhÜ¢÷uõ¸US ÁÇ[Q¯ öuõøP°À 

3% Fv¯® ö£Ó uSv²ÒÍÁº. ö\õzxUPÒ  

¹. 70,00,000&US ÂØP¨ ö£ØÖ Av¼¸¢x 

ö\¾zu¨£mhøÁ RÌÁ¸©õÖ. 

  Pø»¨¦a ö\»ÄPÒ ¹. 50,000 

  •ßÝ›ø© PhÜ¢÷uõº ¹. 1,50,000 

  Ah©õÚ® ö£ØÓ PhÜ¢÷uõº ¹. 40,00,000 

  Pø»¨£õÍ¸US ö\¾zu ÷Ási¯ Fv¯® PnUQkP. 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. A company had Rs. 4,00,000, 5% Debentures on 1st 
January, 2006 (redeemable on 31st December 2006). On 
that date the sinking fund stood at Rs. 3,74,500 
represented by Rs. 50,000 own debentures purchased at 
an average price of Rs. 99 and Rs. 3,30,000. 3% stock.  
The annual instalment was Rs. 14,200. On  
31st December, 2006 investments were realized at Rs. 98 
and the debentures were redeemed. Write up the 
accounts for 2006. 
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 1.1.2006À J¸ {Ö©® 5% Ámi öPõsh ¹. 4,00,000 Phß 

£zvμzøuøÁzxÒÍx (v¸¨¤ AÎUP ÷Ási¯ ÷uv 

31.12.2006). A÷u ÷uv°À v¸¨¤ ö\¾zu E¸ÁõUP¨£mh 

{v 3,74,500US C¸¢ux. AvÀ ¹. 50,000 ö\õ¢u Phß 

£zvμ®. Auß ©v¨¦ ¹. 99 ©ØÖ® ¹. 3,30,000UPõÚ 3% 

\μUS. Á¸h uÁøÚ ¹. 14,200 i\®£º 31, 2006À •u½kPÒ 

¹. 98 Ãu® ÂØP¨£mk Phß v¸¨£¨£mhÚ. 2006ØPõÚ 

PnUøP GÊxP. 

17. A company incorporated on 1st May, 2005 acquires a 
business as from 1st January 2005. The first accounts are 
drawn upto 30th September 2005. The gross profit for this 
period of 9 months was Rs. 56,000. The general expenses 
Rs. 14,220. The directors fees Rs. 12,000 per annum, 
formation expenses Rs. 1,500. Rent to 30th June was  
Rs. 1,200 per annum, after which it was increased to  
Rs. 3,000 per annum. Salary of the manager who upon 
incorporation of the company became a director was  
Rs. 6,000 per annum (since incorporation included the 
directors fees mentioned above). Show profit and loss 
account assuming that the net sales were Rs. 8,20,000 
the monthly average of which for the first four months of 
2005 being one-half of that of the remaining period. The 
profit was earned uniformly on sales. 

 1.5.2005 AßÖ £vÄ ö\´¯¨£mh J¸ P®ö£Û 1.1.2005 

÷uv°mh J¸ öuõÈø» Áõ[Q¯x. PnUSPÒ 30.9.2005 

Áøμ •iUP¨£mkÒÍÚ. C¢u 9 ©õu C»õ£® ¹. 56,000. 

ö£õxa ö\»ÄPÒ ¹. 14,220. C¯US|º Fv¯® BskUS  

¹. 12,000, öuõhUP ö\»ÄPÒ ¹£õ´ 1,500. áüß 30 

ÁøμÁõhøP BskUS ¹. 1,200 Auß ¤ß¦ ÁõhøP 

BskUS ¹. 3,000 BP E¯ºzu¨£mhx. £vÄUS ¤ß 

C¯US|º BUP¨£mh ÷©»õÍ›ß \®£Í® BskUS  

¹. 6,000 (£vÄUS ¤¢v¯ \®£Í® C¯US|º Fv¯zvÀ 

EÒÍhUQ²ÒÍx). ÂØ£øÚ ¹. 8,20,000 (2005&À •uÀ 

|õßS ©õu \μõ\› «v ©õu[PÎÀ \›£õv) ÂØ£øÚUS›¯ 

»õ£® ^μõP C¸¢ux. C»õ£ |mhU PnUS u¯õ›UP. 
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18. R’ Ltd was registered with an authorized capital of  
Rs. 1,00,000 Rs. 10 per share. Out of that 40,000 shares 
were issued and fully paid. 

Trial Balance as on 31.3.2004 
Debit balance :  Rs. Credit balance Rs. 

Stock 1.4.2003 1,86,420 Sales 11,69,900
Purchases 7,18,210 Purchase 

returns 
9,850

Sales return 12,680 18% bank Loan 50,000
Manufacturing 
wages 

1,09,740 Creditors 62,220

Manufacturing 
Expenses 

19,240 P/L account 
[1.4.2003]  

38,640

Carriage inwards 4,910 Share Capital 4,00,000
Interest on bank 
loan 

4,500   

Office Salary 17,870   
Audit fees  8,600   
Director’s 
remuneration 

26,250   

Preliminary 
expenses 

6,000   

Premises 1,64,210   
Machinery 1,28,400   
Furniture 5,000   
Tools 12,500   
Debtors 1,05,400   
Cash in hand 19,530   
Cash at bank 1,81,150   

 17,30,610  17,30,610 

 Adjustment : (a) Manufacturing wages due Rs. 1,890 and 
office salary Outstanding Rs. 1,200 on 31.3.2004.  
(b) Provide for interest on bank loan for 6 months.  
(c) Depreciate: Plant Machinery — 15%, Furnitures — 
10%. (d) Closing stock — Rs. 1,24,840. (e) Write off 1/3 of 
preliminary expenses. Prepare Company’s Final 
Accounts. 
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 ‘R’ ¼m ß A[RP›UP¨£mh •uÀ £vÄ ö\´ux ¹. 10,00,000 

¹. 10 J¸ £[S Ãu®. AvÀ 40,000 £[SPÒ öÁÎ±k ö\´x 

•ÊÁx® ö£Ó¨£mhx. 31.3.2004 •i¯ C¸¨¦a ÷\õuøÚ 

R÷Ç öPõkUP¨£mkÒÍÚ. {Ö©zvß CÖvU PnUSPøÍ 

u¯õº ö\´P. 

£ØÖz öuõøPPÒ :  ¹. ÁμÄz öuõøPPÒ ¹. 

\μUQ¸¨¦ 

1.4.2003 

1,86,420 ÂØ£øÚ 11,69,900

öPõÒ•uÀ 7,18,210 öPõÒ•uÀ v¸¨£® 9,850

ÂØ£øÚz 

v¸¨£® 

12,680 18% Á[QUPhß 50,000

EØ£zvUPõÚ T¼ 1,09,740 PhÜ¢÷uõºPÒ 62,220

EØ£zva 

ö\»ÄPÒ 

19,240 C»õ£ |mhU P/S 

1.4.2003 

38,640

EÒyUSU T¼ 4,910 £[S•uÀ 4,00,000

Á[QUPhß «x 

Ámi 

4,500   

A¾Á»Pa 

\®£Í® 

17,870   

uoUøPU 

Pmhn® 

8,600   

C¯US|º \®£Í® 26,250   

öuõhUPa 

ö\»ÄPÒ 

6,000   

Pmih® 1,64,210   

G¢vμ® 1,28,400   

©øÚxøn¨ 

ö£õ¸Ò 

5,000   

Ev›a \õuÚ[PÒ 12,500   

PhÚõÎPÒ 1,05,400   

øP°¸¨¦ 

öμõUP® 

19,530   

Á[Q°¸¨¦ 1,81,150   

 17,30,610  17,30,610 
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 \›UPmkuÀPÒ : 

 (A)  31.3.2004 AßÖ EØ£zvUPõÚ T¼ {¾øÁ ¹. 1,890 

©ØÖ® A¾Á»P® \®£Í {¾øÁ ¹. 1,200. 

 (B) Á[QUPhÝUS 6 ©õuzvØPõÚ Ámiø¯ JxUSP. 

 (C) ÷u´©õÚ®  G¢vμ® 15%, ©øÚzxøn¨ö£õ¸Ò 10% 

 (D) CÖva \μUQ¸¨¦ ¹. 1,24,840 

 (E) öuõhUPa ö\»ÄPÎÀ 1/3 £[øP ÷£õUöPÊxP. 

19. Following was the balance sheet of X Ltd. as on 
31.03.2006 : 
Liabilities Rs. Assets Rs. 

Equity capital :  Goodwill 50,000
4000 shares of Rs. 
100 each 

4,00,000 Land and 
buildings 

1,40,000

7% preference share 
of Rs. 100 each 

2,00,000 Plant and 
machinery 

1,50,000

6% debentures 2,00,000 Patent rights 40,000
Sundry creditors 2,00,000 Stock 1,60,000
  Debtors 2,15,000

  Cash in hand 5,000
  Preliminary 

expenses 
25,000

  Discount of 
debentures 

15,000

  Profit and loss 
account 

2,00,000

 10,00,000  10,00,000

 The following scheme of reconstruction was duly 
accepted. 

 (a) Equity shares to be reduced to equal number of fully 
paid shares of Rs. 50 each 

 (b) 7% preference shares are to be reduced by 30% and 
the rate of dividend increased to 9% 

 (c)  The value of land and buildings is to be increased by 
10% 
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 (d)  The debentures are to be reduced by 20% 

 (e) All nominal and fictitious assets are to be 
eliminated and balance used to write off patents 

 (f) Further equity shares are to be issued for  
Rs. 50,000 for cash 

  Assuming that the scheme is fully carried out, pass 
journal entries and prepare the balance sheet. 

 GUì {Ö©zvß 31.03.2006 ÷uv°ß C¸¨¦ {ø»USÔ¨¦ 

¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

÷|ºø©¨ £[S •uÀ :  |Øö£¯º 50,000

4000 £[SPÒ ¹. 100 

Ãu® 

4,00,000 {»®, Pmih® 1,40,000

7% •ßÝ›ø© £[SPÒ 

JßÖ ¹. 100 Ãu® 

2,00,000 ö£õÔ, 

C¯¢vμ® 

1,50,000

6% Phß £zvμ[PÒ 2,00,000 ¦øÚö£õ¸Ò 

E›ø© 

40,000

£Ø£» PhÜ¢÷uõºPÒ 2,00,000 \μUQ¸¨¦ 1,60,000

  PhÚõÎPÒ 2,15,000

  øP°¸¨¦ 

öμõUP® 

5,000

  öuõhUPa 

ö\»ÄPÒ 

25,000

  Phß £zvμ 

Ámh® 

15,000

  C»õ£ |mh P/S 2,00,000

 10,00,000  10,00,000

 RÌUPsh ©Ö Aø©¨¦z vmh® E›¯ •øÓ°À HØÖU 

öPõÒÍ¨£mhx. 

 (A) ÷|ºø©¨ £[SPÒ A÷u GsoUøP²ÒÍ •ÊÁx® 

ö\¾zu¨£mh JßÖ ¹. 50 £[SPÍõP SøÓUP¨£h 

÷Ásk®. 

 (B) 7% •ßÝ›ø© £[SPÒ 30% SøÓUP¨£mk, 

£[Põuõ¯® 9% BP E¯ºzu¨£h ÷Ásk®. 
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 (C) {»®, Pmih® ©v¨¦ 10% E¯ºzu¨£h ÷Ásk®. 

 (D) Phß£zvμ ©v¨¦ 20% SøÓUP¨£h ÷Ásk®. 

 (E) ö£¯μÍÄ, ¦»ÚõPõa ö\õzxPÒ AøÚzx® }UP¨£mk, 

«vø¯ ¦øÚö£õ¸Ò E›ø©°À PÈUP ÷Ásk®. 

 (F) ÷©¾® ¹. 50,000US ÷|ºø©¨ £[SPÒ öμõUPzvØS 

ÁÇ[P¨£kuÀ ÷Ásk®. 

  Czvmh® •Êø©¯õP A•À£kzu¨£mhöuÚU 

öPõsk, SÔ¨÷£mk¨ £vÄPÒ u¢x C¸¨¦ {ø»U 

SÔ¨ø£z u¯õ›UPÄ®. 

20. From the following particulars, calculate the value per 
equity share: 

 Rs. 
2000, 9% Preference shares Rs. 100 each 2,00,000 
50,000, Equity shares of Rs. 10 each Rs. 8 
per share paid up 

4,00,000 

Expected profits per year before tax 2,18,000 
Rate of tax 50% 
Transfer to General reserve every year 20% of the 

profit 
Normal Rate of Earnings 15% 

 RÌPõq® ö\´vUS J¸ \©£[S ©v¨¦ PõsP : 
 ¹. 

2000, 9% •ßÝ›ø© £[SPÒ ¹. 100 Ãu® 2,00,000 

50,000 \©£[S ¹. 10 Ãu® ¹. 8 

ö\¾zu¨£mhøÁ  

4,00,000 

Gvº£õºUP¨£mh Á›US •ß Bsk 

Á¸©õÚ® 

2,18,000 

Á› ÂQu® 50% 

JÆöÁõ¸ Bsk® ö£õxU Põ¨¤ØS ©õØÓ® »õ£zvÀ 

20%  

\õuõμn »õ£ ÂQu® 15% 

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2017 

Fifth Semester  

Commerce 

COSTING 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. Define Cost centre. 

 Áøμ¯Ö AhUP ø©¯®. 

2. What is cost sheet? 

 AhUP¨ £mi¯À GßÓõÀ GßÚ? 

3. What is BIN card? 

 BIN Amøh GßÓõÀ GßÚ? 

4. What is perpetual inventory system? 

 {ø» \μUS •øÓ GßÓõÀ GßÚ? 

5. What do you mean by idle time? 

 C¯[Põ ÷|μ® GßÓõÀ GßÚ? 

6. What is meant by incentive wage system? 

 FUP \®£Í® GßÓõÀ GßÚ?  

Sub. Code 

4BCO5C2 
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7. What is meant by allocation of overhead? 

 ÷©Ø ö\»Ä JxUS GßÓõÀ GßÚ? 

8. What is machine hour rate method? 

 C¯¢vμ ©o ÷|μ® GßÓõÀ GßÚ? 

9. What is by products? 

 xøn¨ ö£õ¸Ò GßÓõÀ GßÚ? 

10. What are joint products? 

 Cøn¨ ö£õ¸Ò GßÓõÀ GßÚ? 

 Section B  (5  5 = 25) 

Answer all questions. 

11. (a) Briefly state the various elements of cost. 

  AhUPa ö\»Âß £À÷ÁÖ TÖPøÍ _¸UP©õP TÖP. 

Or 

 (b) Calculate the amount of Production Cost. 

  Prime cost Rs.1,00,000 

  WIP (Opening) 10,000 

  WIP (Closing) 5,000 

  Sale of scrap 500 

  Production overheads 10,000 

  EØ£zv AhUP Âø»ø¯U PõsP. 

  •ußø© ö\»Ä  1,00,000 

  WIP (öuõhUP®) 10,000 

  WIP (•iÄ) 5,000 

  PÈÄ ÂØ£øÚ 500 

  EØ£zv ÷©Øö\»ÄPÒ 10,000 
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12. (a) Explain the objectives of material control. 

  ‰»¨ö£õ¸Ò Pmk¨£õmiß ÷|õUP[PøÍ ÂÍUSP. 

Or 

 (b) Calculate the Economic Order Quantity: 
  (i) Consumption during the year = 600 units. 
  (ii) Ordering cost Rs. 12 per order. 
  (iii) Earning cost 20%. 
  (iv) Price per unit Rs. 20. 

  ]UPÚ Bøn AÍÄ PnUQhÄ®.  

  (i) Bsk ~PºÄ & 600 A»SPÒ 

  (ii) \μUS ÁøP°À AÝ¨£õøÚ ¹. 12 J¸ BønUS 

  (iii) HØ¦ AÝ¨£õøÚ 20% 

  (iv) J¸ A»Qß AhUP® ¹. 20. 

13. (a) What are the essential features of a good wage 
system? 

  |À» \®£Í •øÓ°ß Sn[PÒ ¯õøÁ? 

Or 

 (b) From the following particulars, calculate the labour 
cost per man day of 8 hours. 

  (i) Basic salary – Rs. 300 per month 
  (ii) Leave salary – 6% of (i) basic salary 
  (iii)  Employer’s contribution to P.F. – 6% of  

(i) and (ii) 
  (iv)  Employer’s contribution to state insurance – 

5% of (i), (ii) and (iii) 
  (v)  Pro-rate expenditure on amenities to labour – 

Rs. 25 per head per month 
   Number of working days in a month – 25 days 

of 8 hours each. 
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  RÌPõq® ÂÁμ[PÎ¼¸¢x 8 ©o ÷|μ® öPõsh J¸ 

|õÎØPõÚ T¼°øÚ Põmk® AÔUøP°øÚ u¯õ›UP. 

  (i) Ai¨£øh Fv¯® & ©õu® ¹. 300 Ãu® 

  (ii) Âk¨¦ Põ» Fv¯® & (i) À 6% 

  (iii)  \Põ¯ {vUS £o¯Î¨£Á›ß £[PÎ¨¦ &  

(i) ©ØÖ® (ii) À 6% 

  (iv)  ©õ{» Põ¨¥miØS (E.S.I) £o¯Î¨£Á›ß 

£[PÎ¨¦  – (i), (ii) ©ØÖ® (iii) À 5% 

  (v)  £o¯õÍ¸US AÎUP¨£k® Á\v & ©õu® J¸ 

|£¸US ¹. 25 

   J¸ ©õu ÷Áø» ÷|μ® & 25 |õmPÒ 8 ©o ÷|μ® 

Ãu®. 

14. (a) What are the bases of apportionment of overhead? 

  ÷©Øö\»ÂøÚ £QºÄ ö\´²® Ai¨£øhPÒ ¯õøÁ? 

Or 

 (b) In a company there are three production 
Departments A and B and C and Three Service 
Departments Time keeping (X), stores (Y) and 
maintenance (Z). Following are the expenses for the 
month of march 2008. 

Cost incurred in Rs. 

A – Product Dept. 1,20,000

B – Product Dept. 80,000

C – Product Dept. 60,000

Service Department – X Time Keeping 24,000

Service Department – Y Stores 20,000

Service Department – Z maintenance 10,000
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  Following additional information may be of use. 

Dept. S1 – x S2 – y S3 – z A B C 

No of employees – 20 20 180 160 100

No. of store requisitions – – 200 2500 1300 1200

Machine hours – – – 180 180 120

  Follow the principles of step ladder method. 

  J¸ {Ö©zvÀ A, B ©ØÖ® C BQ¯ ‰ßÖ EØ£zv 

xøÓPÒ ‰ßÖ ÷|μUPõ¨¦ X £shP \õø» Y ©ØÖ®  

Z £μõ©›¨¦ xøÓPÒ EÒÍÚ. 

  ©õºa 2008ß AhUP ö\»ÄPÒ Á¸©õÖ: 

 ¹. 

A – EØ£zv xøÓ 1,20,000

B – EØ£zv xøÓ 80,000

C – EØ£zv xøÓ 60,000

÷\øÁ xøÓ – X ÷|μU Põ¨¦ 24,000

÷\øÁ xøÓ – Y £shP \õø» 20,000

÷\øÁ xøÓ – Z £μõ©›¨¦ 10,000

  E£› ö\´vPÒ Á¸©õÖ. 

xøÓ S1 – x S2 – y S3 – z A B C 

öuõÈ»õÍºPÒ GsoUøP – 20 20 180 160 100

‰»¨ö£õ¸Ò ÷Pm¦ – – 200 2500 1300 1200

C¯¢vμ ©oPÒ – – – 180 180 120

  Ho¨ £i •øÓø¯U øP¯õÒP. 



AFF–4329

  

  6

Ws 2
15. (a) What are the reasons for reconciliation of costing 

profit and financial profits? 

  AhUP »õ£® ©ØÖ® {v°¯À »õ£zøu \›UPmk® 

Põμn[PÒ ¯õøÁ? 

Or 

 (b) A product A passes through three distinct processes. 
The product is transferred to finished stock after 
the third process. Prepare the process accounts from 
the information given below 

 Process I Process II Process III

Direct materials 40,000 6,000 5,500

Direct labour 15,000 16,000 9,000

Direct expenses 6,500 4,000 –

  Total production overheads during the period were 
Rs. 60,000. It is to be apportioned to different 
process on the basis of 150% of direct labour. There 
was no opening or closing stock production during 
the period, was 200 units. 

  ‘A’ GßÓ ö£õ¸Ò ‰ßÖ £i•øÓ Ph¢x •Êö£õ¸Ò 

BQÓx. J¸ £i•øÓ Ph¢x Akzu £i•øÓUS Ax 

Pa\õ¨ö£õ¸ÍõP ©õÖQÓx. CÆÁõÖ ‰ßÖ 

£i•øÓPøÍ PhUP ÷Ási²ÒÍx. 

  RÌUPsh uPÁÀPøÍ £¯ß£kzv £i•øÓ 

PnUQ¯ø» u¯õ›UPÄ®. 

 £i•øÓ I £i•øÓ II £i•øÓ III

÷|μi Pa\õ¨ö£õ¸Ò 40,000 6,000 5,500

÷|μi T¼ 15,000 16,000 9,000

÷|μi ö\»Ä 6,500 4,000 –

  ö©õzu EØ£zv ÷©À ö\»Ä ¹. 60,000 AøÁ 150% 

\®£Í ÂQu •øÓ°À ¤›UP¨£k®. Bμ®£ ©ØÖ® 

•iÄa \μUS GxÄªÀø». Põ»zvß EØ£zv 200 

A»SPÒ BS®. 
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 Section C  (3  10 = 30) 

Answer any three questions. 

16. From the following data relating to the manufacture of a 
standard product during the month of September 2009, 
Prepare a statement showing the cost and profit per unit: 

 Raw materials used – Rs. 40,000,  

 Direct wages – Rs. 24,000,  

 Machine hours worked – 9,500 hours, 

 Machine hour rate – Rs. 4 per hour  

 Office overheads – 20% on works cost.  

 Selling overheads – Rs. 1 per unit,  

 Units produced – 20,000 units,  

 Units sold – 18000 @ Rs. 10 per unit. 

 J¸ ö£õ¸øÍ EØ£zv ö\´ÁuØPõP, 2009 ö\¨h®£º 

©õuzvØPõÚ uPÁÀPÒ R÷Ç öPõkUP¨£mkÒÍÚ. J¸ 

A»QØPõÚ AhUPa ö\»Ä ©ØÖ® C»õ£® CÁØÔøÚ 

Põmk® AÔUøP°øÚ u¯õ›UPÄ®. 

 £¯ß£kzv¯ ‰»¨ö£õ¸mPÒ – ¹. 40,000 

 ÷|μiT¼ – ¹. 24,000 

 C¯¢vμ® ÷Áø» ö\´u ÷|μ® – 9,500 ©oPÒ 

 C¯¢vμzvØPõÚ ö\»Ä – J¸ ©oUS ¹. 4 Ãu® 

 A¾Á»P ÷©Øö\»ÄPÒ – £o AhUPzvÀ 20% 

 ÂØ£øÚ ö\»ÄPÒ – J¸ A»QØS ¹. 1 Ãu® 

 EØ£zv ö\´¯¨£mh A»SPÒ – 20,000 A»SPÒ 

 ÂØ£øÚ ö\´¯¨£mh A»SPÒ & A»S JßÔØS ¹. 10 Ãu® 

18,000 A»SPÒ. 
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17. Two components A and B are used as follows: 

 Normal usage: 600 units per week each 

 Maximum usage: 1000 units per week each 

 Minimum usage: 500 units per week each 

 Reorder quantity: A – 3,400 units, B – 4,600 units 

 Reorder period : A – 4 to 6 weeks, B – 2 to 4 weeks. 

 Calculate for each component: 

 (a) Reorder level. 

 (b) Minimum level. 

 (c) Maximum level. 

 (d) Average stock level. 

 Cμsk ö£õ¸mPÒ A ©ØÖ® B ~PºÄ ¤ßÁ¸©õÖ. 

 C¯À¦ £¯ß£õk: Áõμ® JßÔØS JÆöÁõßÖ®  

600 A»SPÒ 

 Ea\ AÍÄ £¯ß£õk: Áõμ® JßÔØS JÆöÁõßÖ®  

1,000 A»SPÒ. 

 SøÓ¢u AÍÄ £¯ß£õk: Áõμ® JßÔØS JÆöÁõßÖ®  

500 A»SPÒ 

 ©Ö•øÓ AÍÄ: A & 3,400 A»SPÒ, B & 4,600 A»SPÒ 

 ©Ö•øÓU Põ»®: A : -4&6 Áõμ[PÒ, B: 2&4 Áõμ[PÒ 

 PnUQkP  

 (A)  ©Ö Bøn ©mh®  

 (B)  SøÓ¢u ©mh®  

 (C)  E¯º ©mh®  

 (D)  \μõ\›\μUS ©mk®.  
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18. The time card of a worker shows the following 

information: 

 Normal working hours per week  44 

 Actual Hours worked   52 

 The worker was idle for 2 hour, due to machine  
Break-down. 

 Rate per Hour – Rs. 20 per Hour. 

 Overtime is paid double the normal rates 

 Calculate the earnings for the week and pass necessary 
journal entries for the wage payment. 

 öuõÈ»õÍ›ß ÷Áø» Amøh Â£μ® Á¸©õÖ. 

 Áõμzvß \õuõμn ÷Áø» ©oPÒ & 44 

 Esø©¯õP ÷Áø» ö\´u ©oPÒ & 52 

 Cμsk ©o ÷|μ® ÷Áø» ö\´¯ÂÀø». C¯¢vμ¨ £Êx 

Põμn® ©o ÷|μ \®£Í® & ¹. 20 

 ªøP ÷|μzvØS \õuõμn \®£Ízvß C¸©h[S 

 Áõμ \®£Í® PnUQmk ÷uøÁ¯õÚ •ußø©U 

SÔ¨ö£ÊxP. 

19. From the Data given below prepare a secondary 
Distribution statement by adopting Simultaneous  
equations method. Cost as per summary 

 Rs. 

Production Dept P1 80,000

Production Dept P2 60,000

Production Dept P3 40,000

Service Dept C 10,000

Service Dept D 10,000



AFF–4329

  

  10

Ws 2
 The following may be taken as the basis of 

reapportionment. 

 P1 P2 P3 C D 

Service Dept C 40% 30% 20% – 10%

Service Dept D 30% 30% 20% 20% – 

 J÷μ \©ß •øÓø¯¨ £¯ß£kzv Cμshõ® {ø»¨ £QºÄ 

ö\´P. R÷Ç öPõkUP¨£mkÒÍ Â£μ[PÎÀ AhUP {ø» 

Ai¨£øh°À. 

 ¹. 

EØ£zv xøÓ P1 80,000

EØ£zv xøÓ P2 60,000

EØ£zv xøÓ P3 40,000

÷\øÁzxøÓ C 10,000

÷\øÁzxøÓ D 10,000

 ¤ßÁ¸£øÁPÎÀ E£› ö\´vPÒ uμ¨£mkÒÍÚ. 

 P1 P2 P3 C D 

÷\øÁzxøÓ C 40% 30% 20% – 10%

÷\øÁzxøÓ D 30% 30% 20% 20% – 

20. For a company the profit as per cost accounts is 86,250. 
The following points are found out an comparison 
between cost accounts financial: 
  Cost accounts Financial accounts

(a) Opening stock:   

 Material 11,300 10,500

 Work in progress 8,500 8,500

(b) Closing stock: 

 Materials 16,000 14,200

 Work in progress 6,500 5,600
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  (i) Dividend and Interest received Rs. 650 

  (ii) Loss on sale of investments Rs. 1,300 

  (iii) Rs. 1,400 expenses charged in cost accounts 
but not considered in financial accounts. 

  (iv) Good will Rs. 2,600 and preliminary expenses  
Rs. 3,200 have been written off during the 
year 

  (v)  Overheads incurred Rs. 40,000 but overheads 
recovered amount to Rs. 38,500. 

  (vi) Find out the profits as per financial accounts 
by preparing a reconciliation statements. 

  J¸ {ÖÁÚzvß C»õ£® AhUPÂø» PnUQ¯¼ß 

£i ¹. 86,250. RÌUPsh uPÁÀPÒ {v PnUQ¯¾US®, 

AhUPÂø» PnUQ¯¾US® uμ¨£mkÒÍÚ.  
  AhUPÂø» 

PnUSPÒ 

{v{ø» 

PnUSPÒ 

(A) öuõhUP 

\μUQ¸¨¦: 

  

 Pa\õ¨ö£õ¸Ò 11,300 10,500

 ÷Áø» ÁÍºa] 8,500 8,500

(B) CÖv 

\μUQ¸¨¦: 

 Pa\õ¨ö£õ¸Ò 16,000 14,200

 ÷Áø» ÁÍºa] 6,500 5,600

   (i) £[Põuõ¯® ©ØÖ® Ámi ö£ØÓx ¹. 650 

   (ii) •u½møh ÂØÓuÚõÀ ö£ØÓ |mh® ¹. 

1,300 

   (iii) ¹. 1,400 ö\»Ä ö\´ux AhUPÂø» 

PnUQ¯¼À £vÄ ö\´¯ÂÀø» BÚõÀ 

{v°¯À PnUQ¯¼À £vÄ 

ö\´¯¨£mkÒÍx. 
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   (iv) |Øö£¯º ¹. 2,600 ©ØÖ® öuõhUP ö\»Ä  

¹. 3,200 C¢u Á¸hzvÀ ÷£õUS 

GÊu¨£mhx 

   (v) ÷©Øö\»ÄPÒ ö\´ux ¹. 40,000 BÚõÀ 

£vÄ ö\´¯¨£mhx ¹. 38,500 

   (vi) {v°¯À PnUQß £i C»õ£zøu 

Psk¤i ©ØÖ® J¨¥mk £mi¯À 

u¯õ›UPÄ®.  

  

 
———————— 
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Commerce 

COMMERCIAL LAW 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10 2 = 20) 

Answer all questions. 

1. What is acceptance? 

 HØ¦ GßÓõÀ GßÚ? 

2. What is revocation? 

 uÒÐ£i ö\´uÀ GßÓõÀ GßÚ? 

3. What is subrogation? 

 Phß £ØÖ›ø© ©õØÕk GßÓõÀ GßÚ? 

4. What is indemnity? 

 DmkÖv GßÓõÀ GßÚ? 

5. Who is called bailee? 

 J¨£øhÄ ö\´¯¨£mhÁº Gß£Áº ¯õº? 

Sub. Code 

4BCO5C3 



AFF–4330

  

  2

Ws 2
6. Who is called pawner? 

 AhS ö\´£Áº Gß£Áº ¯õº? 

7. What is Ratification? 

 EÖv ö\´uÀ GßÓõÀ GßÚ? 

8. Who is an authorized agent? 

 HØÖU öPõÒÍ¨£mh •PÁº Gß£Áº ¯õº? 

9. Define: Mercantile agent. 

 Áøμ¯Ö: ÁºzuP •PÁº. 

10. What is called sub agent? 

 xøn •PÁº GßÓõÀ GßÚ? 

 Section B  (5  5  = 25) 

Answer all the questions. 

11. (a) When will be a contract voidable? 

  Ga`Ç¼À J¸ J¨£¢u® μzx ö\´¯¨£kQßÓx? 

Or 

 (b) Explain the rules regarding acceptance. 

  HØ¦ \®©¢u¨£mh \mh \μzxPøÍ ÂÁ›. 

12. (a) Discuss the various kinds of quasi contracts. 

  PõÀ©õÚ J¨£¢uzvß ÁøPPøÍ ÂÁ›. 

Or 

 (b) Explain the kinds of guarantee. 

  ö£õÖ¨¦Öv°ß ÁøPPøÍ ÂÁ›. 
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13. (a) How a bailment is terminated? 

  J¨£øhÄ G[VÚ® •ÔUP¨£kQÓx? 

Or 

 (b) What are the differences between mortgage and 
sale? 

  ÂØ£øÚUS® Ah©õÚzvØS® EÒÍ ÷ÁÖ£õk ¯õx? 

14. (a) Explain the liability of principal to the agents. 

  •PÁºPÐUS •ußø©¯›ß ö£õÖ¨¦PøÍ ÂÁ›. 

Or 

 (b) Explain the kinds of agents. 

  •PÁ›ß ÁøPPøÍ ÂÁ›. 

15. (a) Explain the differences between sale and hire. 

  ÁõhøP ©ØÖ® ÂØ£øÚø¯ ÷ÁÖ£kzxP. 

Or 

 (b) Enumerate the distinction between sale and 
agreement to sell. 

  ÂØ£øÚ ©ØÖ® ÂØ£øÚUPõÚ J¨£¢u® BQ¯ÁØøÓ 

÷ÁÖ£kzxP. 

 Section C  (3  10  = 30) 

Answer any three questions. 

16. What is meant by breach of contract? Write the remedies 
available to an aggrieved party incase of breach of 
contract. 

 J¨£¢u •ÔÄ GßÓõÀ GßÚ? J¨£¢u •ÔÂÀ 

£õvUP¨£mhÁ¸USÒÍ wºÄPøÍ GÊxP. 
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17. Explain various right of subrogation. 

  Phß £ØÖ›ø© ©õØÕmiß E›ø©PÒ ¯õøÁ? 

18. Enumerate the rights and duties of pawner and pawnee. 

 AhS øÁ¨£Áº ©ØÖ® AhS ö£Ö£Á›ß ö£õÖ¨¦PÐ® 

©ØÖ® Phø©PøÍ²® ÂÁ›UP. 

19. Explain the liability of the agent to the principal. 

 •ußø©¯¸US •PÁ›ß ö£õÖ¨¦PøÍ ÂÁ›UP. 

20. Explain the rights of an unpaid seller. 

 J¸ öPõk£hõ ÂØ£øÚ¯õÍ›ß E›ø©PøÍ ÂÍUSP. 

 
 
 
 

———————— 
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AFF–4331   

B.Com. DEGREE EXAMINATION, NOVEMBER 2017 

Fifth Semester 

Commerce 

Elective – INCOME TAX  – I 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. In which year the Income Tax Act was enacted? 
 G¢u Bsk Á¸©õÚ Á› \mh® C¯ØÓ¨£mhx? 

2. What are the objectives of income tax? 
 Á›Âv¨¤ß ÷|õUP[PÒ ¯õøÁ? 

3. Who is an Assessee? 
 ©v¨¥mhõÍº Gß£Áº ¯õº? 

4. What is the meaning of person? 
 |£º Gß£Á›ß ö£õ¸Ò u¸P? 

5. What is meant by payment of gratuity? 
 £oöPõøh ÁÇ[PÀ £ØÔ AÔÁÚ ¯õx? 

6. What is meant by NAV? 
 {Pμ Bsk ©v¨¦ GßÓõÀ GßÚ? 

7. What is Business Income? 
 Áõo£ Á¸©õÚ® GßÓõÀ GßÚ? 

Sub. Code 
4BCOE1A 
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8. What is Professional Income? 

 öuõÈÀ Á¸©õÚ® GßÓõÀ GßÚ? 

9. What is the meaning of casual income? 

 uØö\¯À Á¸©õÚ® ö£õ¸Ò ¯õx? 

10. Define STCG. 

 STCG C»UPn® u¸P. 

 Part B (5  5 = 25) 

Answer all the questions. 

11. (a) Write about the history of Indian Income Tax. 

   C¢v¯ Á¸©õÚ Á›°ß Áμ»õÖ £ØÔ GÊxP. 

Or 

 (b)  When a company is Indian resident and 
nonresident? 

   G¨ö£õÊx J¸ {ÖÁÚ® C¢v¯U Si²›ø© ö£ÖQÓx 

©ØÖ® G¨ö£õÊx C¢v¯U Si²›ø© CÇ¢uuõP 

P¸u¨£kQÓx. 

12. (a) Mr. Rajan left for Singapore on 15.03.13 after 
staying in India for 15 years, he returned to India 
on 31.08.2015. What will be his residential status 
for the assessment year 2016-2017? 

   v¸. μõáß 15.03.2013 AßÖ 15 Á¸h® C¢v¯õÂÀ 

C¸¢x Âmk ][P¨§º ö\ÀQÓõº. ÷©¾® 31.08.15 À 

C¢v¯õÂØS v¸®¦QÓõº. ©v¨¥mk Bsk 2016–

2017À Si°¸¨¦ {ø»ø©ø¯ PõsP. 

Or 

 (b)  Define Assessee. Assessee in default. 

   Áøμ¯Ö : ©v¨¥mhõÍº. ©v¨¥mhõÍ¸US £v¼. 
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13. (a) Mr. Abdulla is an employee of MN Ltd. Receive  
Rs. 68,000 as gratuity. He is covered by payment of 
Gratuity Act 1972. He retired on 15th July 2015 
after rendering service of 36 years and 9 months. At 
the time of retirement his monthly basic salary was 
Rs. 3,200 and DA (forming part) was Rs. 1000. 
Calculate the exempted gratuity. 

   MN {Ö©zvÀ £o¦›¢u v¸. A¨xÀ»õ ¹. 68,000 

£oUöPõøh ö£ÖQÓõº. £oUöPõøh \mh® 1972À 

RÌ Á¸QÓõº. AÁº 36 Á¸h® 9 ©õu[PÒ £o ö\´x 

15.07.2015À K´Ä ö£ÖQÓõº. K´Ä AßøÓ¯ 

Ai¨£øh \®£Í® ©õu® JßÖUS ¹. 3,200 £g\£i 

(Em£mhx) ¹. 1,000 Á› Â»US ö£ØÓ £oUöPõøh 

öuõøPø¯U PõsP. 

Or 

 (b)  Calculate the income from house property of Mr. X 
for the assessment year 2016-17 from the following 
particulars : 

  Municipal value Rs. 50,000 

  Fair rent  Rs. 60,000 

  Standard rent Rs. 55,000 

  Municipal tax Rs. 4,000 

  Interest on loan Rs. 10,000 

   75% of the house is let out on a monthly rent of  
Rs. 4,000. 

    ¤ßÁ¸® uPÁÀPÎ¼¸¢x v¸. X Gß£Á›ß  

2016–2017 Á› Âv¨£õskUPõÚ Ãmka 

ö\õzv¼¸¢x ö£Ö® Á¸©õÚzøuU PnUQkP. 

   |Pμõm] ©v¨¦  ¹. 50,000 

  {¯õ¯©õÚ ÁõhøP  ¹. 60,000 

  uμ ÁõhøP   ¹. 55,000 

  |Pμõm] Á›PÒ  ¹. 4,000 

  Phß «uõÚ Ámi  ¹. 10,000 

   75% Ãk ©õu® ¹. 4,000 GßÖ ÁõhøPUS 

Âh¨£kQÓx. 
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14. (a) Profit and Loss a/c of Mr. S is as follows : 
Particulars Rs. Particulars Rs. 

To salary 50,000 By gross profit 2,00,000

To income tax 9,000 By dividend 20,000

To entertainment  
  exp. (entire amount  

  

  is for business) 20,000  

To bad debts 1,000  

To net profit 1,40,000  

 2,20,000  2,20,000

  Compute the business income. 

   v¸. S C»õ£ |mh P/S ¤ßÁ¸©õÖ : 

Â£μ® ¹. Â£μ® ¹. 

\®£Í® 50,000 ö©õzu C»õ£® 2,00,000

Á¸©õÚ Á› 9,000 £[Põuõ¯® 20,000

ö£õÊx÷£õUS ö\»Ä   

(•ÊÁx® ÁoP®) 20,000  

ÁμõUPhß 1,000  

{Pμ C»õ£® 1,40,000  

 2,20,000  2,20,000

  Áõo£ Á¸©õÚzøu PnUQkP. 

Or 

 (b)  Describe the procedure for computing business 
income. 

   Áõo£ Á¸©õÚzøu PnUQk® ÁÈ•øÓPøÍ TÖP. 
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15. (a) A building has been acquired by Mr. Vivek on 
1.6.1980 for Rs. 1,00,000. The assesseee converts 
the building into stock in trade of his property 
dealing business on 1.1.1992. When the fair market 
value of the building is Rs. 10,00,000. The stock in 
trade is sold by the assessee on 1.1.2016 of  
Rs. 15,00,000 (FMV as on 1.4.1981 was  
Rs. 1,80,000). Compute his capital gain and 
business profit taxable for assessment year 2016-17. 

   J¸ Pmihzøu v¸. Â÷ÁU 1.6.1980À ¹. 1,00,000ØS 

øP¯P¨£kzvÚõº. AUPmihzøu AÁμx ö\õzvß 

\μUPõP 1.1.1992À ©õØÔÚõº. Pmih {¯õ¯ ©v¨¦  

¹. 10,00,000. A¢|£º 1.1.2016 À \μUQ¸¨ø£  

¹. 15,00,000 ØS (FMV 1.4.1981 À ¹. 1,80,000) AÁμx  

‰»uÚ »õ£® ©ØÖ® Â¯õ£õμ »õ£zøu 

Á›Âv¨£õsk 2016–2017 ØS PõsP. 

Or 

 (b) From the following particulars find out the income 
from other sources for the AY 2016–2017. 

   Directors fees    Rs. 22 000 

  Ground rents    Rs. 18,000 

  Dividend from an Indian company Rs. 25,000 

  Royalty from books  Rs. 10,000 

  Dividend from co-operative society  Rs. 2,000 

    ¤ßÁ¸® Â£μ[PÎ¼¸¢x Cuμ ÁøP ÁÈPÒ 

Á¸©õÚzøu Á› Âv¨£õsk 2016–2017US 

PnUQkP. 

   C¯US|ºPÒ Pmhhn®   ¹. 22 000 

  uÍ ÁõhøP      ¹. 18,000 

  C¢v¯ {ÖÁÚzvhª¸¢x £[Põuõ¯®   ¹.  25,000 

  ¦zuPzvØS Qøhzu μõ¯Ài   ¹. 10,000 

   TmkÓÄa \[Pzv¼¸¢x £[Põuõ¯® ¹. 2,000 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain any ten tax exempted incomes. 
 H÷uÝ® £zx Á› Â»US AÎUP¨£mh Á¸©õÚ® £ØÔ 

ÂÍUSP. 

17. Mrs. Rekha furnishes the following details of her income 
for the previous year 2015-16. 

 (a) Income accrued in America but received in India  
Rs. 19,000   

 (b) Interest on U.K. Government securities 1/3 of which 
received in India Rs. 15,000 

 (c) Salary received in India for services rendered in 
Germany Rs. 28,000 

 (d) Income from agriculture in Bangladesh received 
and spent there only Rs. 16,000 

 (e) Income from profession in china received there. The 
profession was set up in India Rs. 12,000 

 (f) Income accrued in India but received in China  
Rs. 14,000 

 (g) Gift in foreign currency from relative received in 
India Rs. 10,000 

  Compute the total income of Rekha for the  
A.Y 2016-17 if she is (i) Resident (ii) Not ordinary 
resident (iii) Non resident. 

 •¢øu¯ 2015–16 ØS ÷μPõ Gß£Áº RÌPsh uPÁÀ 

u¸QÓõº. 

 (A) C¢v¯õÂÀ ö£Ó¨£mh Aö©›UPõÂÀ ÷\º¢u »õ£®  

¹. 19,000 

 (B) U.K. Aμ_ £zvμ Ámi AvÀ 1/3 C¢v¯õÂÀ 

ö£Ó¨£mhx ¹. 15,000 

 (C) öáºö©Û°À ÷\øÁ ö\´x C¢v¯õÂÀ ö£Ó¨£mh 

ö\´ux ¹. 28,000 



AFF–4331

  

  7

Ws9 

 (D) £[PÍõ÷uæÀ ÂÁ\õ¯ Á¸©õÚ® A[÷P÷¯ ö\»Ä 

ö\´ux ¹. 16,000 

 (E) ^ÚõÂÀ öuõÈÀ ‰»® A[S ö£Ó¨£mhx. öuõÈÀ 

C¢v¯õÂÀ Aø©UP¨£mhx ¹. 12,000. 

 (F) C¢v¯õÂÀ ÷\º¢u »õ£® ^ÚõÂÀ ö£Ó¨£mhx  

¹. 14,000 

 (G) öÁÎ|õmk £n[PÍõP öÁS©v¯õP EÓÂÚ›h® 

C¢v¯õÂÀ ö£ØÓx – ¹. 10,000. 2016–17 ØP ÷μPõÂß 

ö©õzu »õ£zøuU PõsP. (i) Si²›ø© ö£ØÔ¸¢uõÀ 

(ii) \õuõμn©õP Si²›ø© CÀø» GÛÀ  

(iii) Si²›ø© AØÓÁÓõP C¸¢uõÀ.   

18. Calculate gross annual value from the following. 
Particulars  House I House II House III

MRV 40,000 30,000 25,000 

FRV 42,000 – – 

SR 42,000 28,000 NA 

Actual rent (per month) 4,500 1,750 1,900 

Unrealised rent (URR),  
rule 4 satisfied 

4,000 2,500 3,500 

Period in months 12 12 12 

 ¤ßÁ¸ÁÚÁØÔ¼¸¢x ö©õzu Á¸h©v¨ø£ Psk¤iUP. 

Â£μ®  Ãk I Ãk II Ãk III

|Pμõm] ÁõhøP ©v¨¦ (MRV) 40,000 30,000 25,000

{¯õ¯©õÚ ÁõhøP ©v¨¦ (FRV) 42,000 – – 

uμÁõhøP (SR) 42,000 28,000 NA 

Esø© ÁõhøP (©õu®) 4,500 1,750 1,900 

ö£Ó¨£hõu ÁõhøP  

(Âv 4 ¤ß£ØÓ¨£mhx) 

 
4,000 

 
2,500 

 
3,500 

©õu[PÒ 12 12 12 
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19. Mr. K an advocate, furnishes the following receipts and 
payment for the A.Y. 2016-17. 

Receipts Rs. Payments Rs. 

To Balance b/d 6,540 By Rent 2,400 

To legal fees 84,400 By telephone 3,000 

To Interest on   By salaries 2,400 

  debentures 
To salary (as part 

2,700 By subscription of  
  law journal 

 
240 

  time lecturer) 3,600 By Travelling charges 560 

To gift from client 10,000 By office expenses 600 

To rent 6,000 By stamp paper 1,600 

To Interest on   By interest on loan 870 

  foreign security 8,000 By Donation to a school 5,000 

To refund of    
  company deposit 

 
2,000 

By Balance c/d 1,06,570

 1,23,240  1,23,240

 Compute Professional Income. 

 Á›Âv¨£õsk 2016–2017UPõÚ ÁURÀ v¸. K Á¸©õÚ 

ö\»Ä PnUS ¤ßÁ¸©õÖ : 

ö£ÖuÀPÒ ¹. ö\¾zxuÀPÒ ¹. 

C¸¨¦ R/öPõ 6,540 ÁõhøP 2,400

\mh ö\»ÄPÒ 84,400 öuõø»÷£] 3,000

Phß £zvμ Ámi 2,700 \®£Í® 2,400

\®£Í® (£Sv ÷|μ 

Â›Äøμ¯õÍº) 

3,600 \¢uõ–\mh 

¦zuPzvØS 

 

240 

öÁS©v 10,000 £¯n ö\»ÄPÒ 560 

ÁõhøP 6,000 A¾Á»P ö\»ÄPÒ 600 
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ö£ÖuÀPÒ ¹. ö\¾zxuÀPÒ ¹. 

A¯À|õmk ¤øn¯®  

«uõÚ Ámi 

 

8,000 

•zvøμ uõÒ 1,600

{Ö© öh£õ]m   Phß «uõÚ Ámi 870 

  v¸®£ ö£ØÓx 2,000 |ßöPõøh £ÒÎUS 5,000

  

 

C¸¨¦ R/C 1,06,570

 1,23,240  1,23,240

 öuõÈÀ Á¸©õÚzøuU PõsP. 

20. Mr. Rahul’s investment during the year ended 31.3.2016 
consisted of the following : 

  Rs. 

(a) 9% government securities 25,000

(b) 11% Delhi Corporation bonds 20,000

(c) 12% Bombay port trust bonds 30,000

(d) 7 year PO national saving certificate 5,000

(e) 7% National plan certificate 10,000

(f) 8% government of England bonds 15,000

 (g) He paid Rs. 150 as commission for collecting the 
interest income. 

 (h) SBI savings bank interest in Rs. 19,500. Compute 
his taxable income from other sources for the  
AY 2016- 17 

  31.12.2016 À μõS¼ß •u½k Á¸©õÚ® ¤ßÁ¸©õÖ : 

  Rs. 

(A) 9% Aμ_ £zvμ® 25,000

(B) 11% öhÀ¼ |Pμõm] Phß £zvμ® 20,000

(C) 12% •®ø£ xøÓ•P £zvμ® 30,000



AFF–4331

  

  10

Ws9 

(D) 7 Á¸h u£õÀ A¾Á»P ÷\ª¨¦ £zvμ® 5,000

(E) 7% ÷u]¯ vmh £zvμ® 10,000

(F) 8% C[Q»õ¢x Aμ_ £zvμ® 15,000

 (G) uμS ¹. 150 ö\¾zv Ámi Á¸©õÚ® ö£ØÓõº.  

 (H) £õμu ì÷hm Á[Q Ámi ¹. 19,500. 

  Á› Âv¨£õsk 2016–17 US AÁμx Cuμ 

Á¸©õÚzøuU PnUQkP. 

 

 

 
———————— 
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AFF–4332   

B.Com. DEGREE EXAMINATION, NOVEMBER 2017 

Sixth Semester 

Commerce 

SPECIAL ACCOUNTS 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. What is Contingent Liability? 

 {a\¯©ØÓ ö£õÖ¨¦ GßÓõÀ GßÚ? 

2. What is cash reserve? 

 öμõUP Põ¨¦  GßÓõÀ GßÚ? 

3. What is meant by reinsurance? 

 ©ÖPõ¨¥k Gß£x £ØÔ E©x P¸zx ¯õx? 

4. Write a note on interest on doubtful debts. 

 \¢÷uPU Phß Ámi GßÓõÀ GßÚ? 

5. What is Clear Profit? 

 öuÎÁõÚ C»õ£® GßÓõÀ GßÚ? 

6. What is Double Account System? 

 Cμmøh PnUS •øÓ GßÓõÀ GßÚ? 

Sub. Code 
4BCO6C1 
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7. How would you ascertain the amount of Minority 
Interest? 

 ]Ö£õßø©°Úº |»øÚ GÆÁõÖ PnUQkÁõ´? 

8. Define a subsidiary company. 

 xøn {Ö©® & Áøμ¯Ö. 

9. What is meant by address commission? 

 Â»õ\ uμS GßÓõÀ GßÚ? 

10. What is ‘Voyage Account’? 

 PhØ£¯nU PnUS GßÓõÀ GßÚ? 

 Section B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) How is Interest on Doubtful Debts is treated in 
Bank Accounts? 

   Á[QU PnUSPÎÀ I¯U Phß «x Ámi G[VÚ® 

øP¯õÍ¨£kQÓx. 

Or 

 (b) From the following details relating to Ahmadabad 
Bank Ltd. find out the Net Profit earned in the year 
ended 31st March 2014.  

  Rs. (in ‘000)
Interest earned 3,904
Other incomes 468
Interest expended 2,085
Operating expenses 490
Provisions and Contingencies 1,300
Profit brought forward nil
Transfer to statutory reserve 78
Transfer to other reserves nil
Transfer to proposed dividend 110
Balance to Balance Sheet 182
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  ¤ßÁ¸® uPÁÀPÎ¼¸¢x 31.3.2014 AßÖ 

AP©uõ£õz Á[Q {Ö©zvß {Pμ »õ£zøu Psk¤i. 

  ¹. (‘000)

Ámi ö£ØÓx 3,904

Cuμ Á¸Áõ´PÒ 468

Ámi ö\»ÁÈzux 2,085

|øh•øÓa ö\»ÄPÒ 490

JxURk ©ØÖ® {PÌÄPÒ 1,300

Ph¢u Á¸h »õ£® –

\mh Põ¨¤ØS ©õØÔ¯x 78

Cuμ Põ¨¤ØS ©õØÔ¯x –

£[Põuõ¯ JxURmiØS ©õØÔ¯x 110

C¸¨¦{ø» SÔ¨¤ØS ©õØÔ¯ »õ£® 182

12. (a) What do understand by reserve for unexpired risk? 
And state the percentages of reserve for unexpired 
risks for marine insurance business. 

  Põ»õÁv BPõu Chº Põ¨¦ GßÓõÀ GßÚ? PhÀ 

Põ¨¥miØS GzuøÚ \uÃu® Põ»õÁv BPõu Chº 

Põ¨¦ JxURk ö\´¯ ÷Ásk®? 

Or 

 (b) The Life Assurance Fund of an Insurance Company 
on 31.3.2016 showed a balance of Rs. 87,96,500.  
It was later found that the following were not taken 
into account. 

  (i)  Dividend from investments Rs. 7,80,000 

  (ii)  Income tax on above Rs. 59,000 

  (iii)  Bonus in reduction of premium Rs. 8,79,500 

  (iv) Claims covered under reinsurance Rs. 4,28,000 

  (v)  Claims intimated but not acceptable by 
company Rs. 7,92,000 

   Ascertain the correct Balance of the Fund. 
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   31.3.2016 AßÖ J¸ Põ¨¦Öv {Ö©zvß B²Ò 

Põ¨¥mk {v°ß C¸¨¦ ¹.87,96,500 BP C¸¢ux. 

   ¤ßÁ¸ÁÚÁØøÓ PnUQÀ GkzxU öPõÒÍõux 

uõ©u©õP PshÔ¯¨£mhx. 

  (i) •u½miß «x £[Põuõ¯® ¹.7,80,000 

  (ii) ÷©÷» SÔ¨¤mhuØS, Á¸©õÚ Á› ¹. 59,000 

  (iii) •øÚ©zvÀ \›UPmh¨£mh »õ£¨ £[S 

¹.8,79,500. 

  (iv) ©ÖPõ¨¥miß ‰»® \›ö\´¯¨£mh 

÷Põ›UøPPÒ ¹.4,28,000. 

  (v) ÷Põ›UøPPÒ {Ö©zvØS öu›¯¨£kzu¨£mk 

HØÖU öPõÒÍõu ÷Põ›UøPPÒ ¹.7,92,000. 

   \›¯õÚ B²Ò Põ¨¥mk {v C¸¨ø£ Psk¤i. 

13. (a) Distinguish between Single accounting system and 
Double accounting system. 

   JØøÓ PnUQ¯À •øÓUS® Cμmøh PnUQ¯À 

•øÓUS® EÒÍ ÷ÁÖ£õmøh u¸P. 

Or 

 (b) The Delhi Electric Co, Ltd rebuilt and re-equipped a 
part of their power-house at a cost of Rs. 90,00,000; 
the part of the old power-house thus superseded had 
cost originally Rs. 53,00,000 but if erected at the 
present time would cost 25% more. Rs. 6,50,000 is 
realized from the sale of old materials and  
Rs. 3,50,000 worth of old materials are used in the 
reconstruction and are included in the cost of  
Rs. 80,00,000 mentioned above. 

  Give necessary entries for recording the above 
transactions in the books of the company, indicating 
the allocations between capital and revenue and 
give reasons for such allocations. 
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   öhÀ¼ G»Um›U P®ö£Û ¼ªöhm ¹.90,00,000 

ö\»ÂÀ AuÝøh¯ ªß\õμ EØ£zv ¤›øÁ, ©Ö 

Pmhø©¨¦ ©ØÖ® C¯¢vμ[PøÍ ©õØÔ Aø©zux. 

AuÝøh¯ £øÇ¯ ªß\õμ EØ£zv ¤›øÁ 

¹.53,00,000 ö\»ÂÀ öuõh[Q¯x. Aøu uØö£õÊx 

öuõh[QÚõÀ 25% \uÃu® TkuÀ ö\»Ä BS®. 

¹.6,50,000 £øÇ¯ ö£õ¸mPøÍ ÂØ£øÚ ö\´Áuß 

‰»® Qøhzux ¹.3,50,000, ©v¨¦ÒÍ ö£õ¸mPÒ ©Ö 

Pmhø©¨¦US £¯ß£kzu¨£mhx. ¹.80,00,000&À 

CøÁ CμskUS® ÷\ºUP¨£mkÒÍx. 

   ÷©ØTÓ¨£mhøÁUS, {Ö©zvß ¦zuP[PÎÀ 

÷uøÁ¯õÚ SÔ¨÷£kPøÍ u¯õº ö\´P. ÷©¾® •u½k 

©ØÖ® Á¸Áõ´ GÆÁõÖ ¤›UP¨£k®. AÁØÔß 

Põμnzøu ÂÍUSP. 

14. (a) How would you ascertain the amount of goodwill or 
capital reserve while preparing a consolidated 
balance sheet? Discuss the advantages of holding 
company. 

   öuõSUP¨£mh C¸¨¦ {ø»U SÔ¨¤øÚ u¯õ›US® 

ö£õÊx, |Øö£¯º AÀ»x •u½mk Põ¨ø£ GÆÁõÖ 

PnUQkÁõ´? ¤i¨¦ {Ö©zvß |ßø©PÒ ¯õøÁ? 

Or 
 (b) R Ltd., acquired 65% shares of S limited on 

1.10.2008. Profit and Loss Account in the books of  
S Ltd showed a debit balance of Rs. 40,000 on 
1.4.2008. The balance sheet of S Limited showed a 
Profit and Loss Account balance of Rs. 1,20,000 on 
31.03.2009. Calculate Capital profits and revenue 
profits. 

   1.10.2008 &À Gì ¼m&ß 65%. £[SPøÍ Bº ¼m 

Áõ[Q¯x. 1.4.2008&À Gì ¼m&ß HkPÒ £i C»õ£ 

|mhU PnUQÀ £ØÖ C¸¨¦ ¹.40,000 C¸¢ux. 

31.3.2009&À Gì ¼m&ß C¸¨¦ {ø»U SÔ¨¦ &I 

C»õ£ |mhU PnUS Põmk® C¸¨¦ ¹.1,20,000 

‰»uÚ C»õ£® ©ØÖ® Á¸Áõ°Ú C»õ£® 

BQ¯ÁØøÓU PnUQkP. 
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15. (a) What are the points to be considered while 
preparing the Farm accounts? 

   ÂÁ\õ¯ PnUS u¯õ›US® ö£õÊx {ø»°À öPõÒÍ 

÷ÁskÁÚ ¯õøÁ? 

Or 

 (b) S.S. Himalaya set a voyage from Kolkata to 
Mumbai, on December 31, on which date the 
accounts are to be closed the return voyage had not 
been completed. The details of entire Voyage to 
Mumbai and back to Kolkata completed after 31, 
December were as follows. 
 Rs. 
Freight 4,00,000
Coal 70,000
Stores 30,000
Port charges 15,000
Salaries 40,000
Depreciation 40,000
Insurance- ship 20,000
Insurance - freight 8,000
Primage 10%
Address commission 5% only
Only Rs.150000 freight was   
available in the return journey 

  Prepare voyage account up to December-31. 

   S.S. î©õ»õ¯õ uÚx PhÀ £¯nzøu PÀPzuõ •uÀ 

•®ø£ Áøμ Aø©zux. i\®£º 31&À PnUS •iQÓ 

|õÎÀ Aø©zux. v¸®£ Á¸® £¯n® {øÓÄ 

ö£ÓÂÀø». ö£ØÓx •®ø£ ö\ßÖ öPõÀPzuõ 

v¸®¦® Áøμ EÒÍ AøÚzx 31 i\®£¸US ¤ÓS 

EÒÍ ö\´vPÒ Á¸©õÖ : 

 ¹. 

Pmhn® 4,00,000

P› 70,000

‰»¨ö£õ¸Ò 30,000
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 ¹. 

xøÓ•P ö\»Ä 15,000

\®£Í® 40,000

÷u´©õÚ® 40,000

Põ¨¥k & P¨£À 20,000

Põ¨¥k & Pmhn® 8,000

\μUS T¼US ÷©Ø£mh ¡ØÖ©õÚ öuõøP 10%

Â»õ\ Pmhn® 5% ©mk®

  v¸®¤ Á¸øP°À ¹.1,50,000 Pmhn® ©mk® 

Qøhzux.  PhÀ PnUS u¯õ›UP (i\®£º 31&À) 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. From the following particulars, prepare Profit and Loss 
Account of M Bank Limited for the year ending  
31st March 2006 : 

 Rs. in ‘000  Rs. in ‘000

Interest on   Interest on loans 3,490

fixed deposits 2,650 Commission 94

Rebate on Bills   Office expenses 1,550

discounted 480 Rent and Taxes 180

Discount on Bills   Director’s fees 42

discounted 1,940 Postal expenses 15

Interest on   Other expenses 18

cash credit 2,240 Printing and stationery 39

Interest on    

current Accounts 120  

Interest on overdrafts 1,280  

Interest on savings    

Deposits 690  

 Adjustments : Rebate on bills discounted Rs. 5,20,000 
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 RÌÁ¸® uPÁÀPÒ öPõsk G® Á[Q ¼m&ß 31 ©õºa 2006 

Ehß •iÁøh²® BsiØPõÚ C»õ£ |mhU PnUS 

u¯õ›UP. 

  
 ¹. ‘000  ¹. ‘000

{ø» øÁ¨¦PÒ   PhßPÒ «x Ámi 3,490

«x Ámi 2,650 PÈÄ 94

Ámhg ö\´u ©õØÖa   A¾Á»Pa ö\»ÄPÒ 1,550

^miß «uõÚ Ámh® 480 ÁõhøP  

Ámhg ö\´u ©õØÖa  ©ØÖ® Á›PÒ 180

^miß «x uÒÐ£i 1,940 C¯US|º Pmhn® 42

öμõUPUPhß «x Ámi 2,240 u£õÀ ö\»ÄPÒ 15

|h¨¦U PnUS «x Ámi 120 Cuμ ö\»ÄPÒ 18

÷©ÀÁøμ¨£ØÖ «x Ámi 1,280 Aa_ ©ØÖ®  

÷\ª¨¦ øÁ¨¦PÒ «x Ámi 690 GÊx ö£õ¸mPÒ 39

 \›UPmkuÀPÒ : 

 Ámhgö\´u ©õØÖa^miß «uõÚ uÒÐ£i ¹.5,20,000. 

17. From the figures given below prepare the revenue 
account of the Bharat life assurance company limited for 
the year ended 31.3.2007. 

                 Particulars   Rs. 

 Premium received   26,00,000 

 Interest and dividend received 15,00,000 

 Bonus in cash    1,12,000 

 Bonus in reduction of premium 4,050 

 Claims paid    2,60,000 

 Surrenders    1,90,000 

 Annuities paid    1,14,000 
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  Particulars   Rs. 

 Expenses of management  2,20,000 

 Commission paid to agents  1,25,000 

 Reassurance balance irrecoverable 2,000 

 Income tax    2,40,000 

 Surplus on revaluation of reversion purchased 9,000 

 Consideration for annuities granted 85,000 

 Fines for revival of lapsed policies 1,250 

 £õμz B²Ò Põ¨¥mk {ÖÁÚzvß 31.3.2007&À Á¸Áõ´ 

PnUS u¯õ›UPÄ®. 

  Â£μ®    ¹. 

 ö£ØÓ •øÚ©®    26,00,000 

 ö£ØÓ Ámi ©ØÖ® £[Põuõ¯®  15,00,000 

 öμõUP ÁiÂÀ P¸ønz öuõøP 1,12,000 

 •øÚ©zvÀ PÈUP¨£mh P¸ønz öuõøP 4,050 

 ö\¾zv¯ ÷PõÓÀ    2,60,000 

 \μs      1,90,000 

 ö\¾zv¯ Á¸hz öuõøP   1,14,000 

 {ºÁõP ö\»ÄPÒ    2,20,000 

 •PÁ¸US ö\¾zv¯ uμS   1,25,000 

 Á`¼UP C¯»õu ©ÖPõ¨¥k C¸¨¦ 2,000 

 Á¸©õÚ Á›    2,40,000 

 «sk® Áõ[Q¯vÀ ©Ö ©v¨¥mk E£› 9,000 

 Á¸hõ¢vμ ö\¾zu¾US \¾øP  85,000 

 Põ»õÁv BQ Âmh J¨£¢u E°¹mh A£μõu® 1,250 
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18. Dawn Electricity Ltd earned a profit of Rs. 26,95,000 
during the year ended March 31, 2014, after debenture 
interest 12 % on Rs.5,00,000 With help of the figures 
given below, show the Disposal of Profits. 

 Original cost of Fixed Assets Rs, 2,00,00,000 

 Formation and other expenses Rs.11,00,000 

 Monthly average of current assets (net) Rs. 52,00,000 

 Reserve Fund (represented by 8% govt. securities) 
Rs.21,00,000 

 Contingencies Reserve Investments Rs. 5,00,000 

 Loan from Electricity Board Rs.30,00,000 

 Total depreciation written off to date Rs.40,00,000 

 Tariffs and Dividends control Reserve Rs.1,00,000 

 Security Deposit received from customers Rs.4,00,000 

 Assume the bank rate as 11 %. 

 hõß G»Um›U ]mi ¼ªöhm 31.3.2014 AßÖ Phß £zvμ 

Ámi 12% ¹.5,00,000 ö\¾zv¯ ¤ß¦ ¹.26,95,000 »õ£® 

Dmi¯x. ¤ßÁ¸® uPÁÀPøÍU öPõsk »õ£zøu £Qº¢uÎ. 

 {ø»a ö\õzxUPÎß Esø© AhUP® ¹.2,00,00,000 

 E¸ÁõUP® ©ØÖ® Cuμ ö\»ÄPÒ ¹.11,00,000 

 |h¨¦a ö\õzxUPÒ ©õuõ¢vμ \μõ\› ({Pμ) ¹.52,00,000 

 Põ¨¦ {v (8% Aμ\õ[P £zvμ[PÒ) ¹.21,00,000 

 Cuμ Põ¨¦ •u½kPÒ ¹.5,00,000 

 ªß\õμ Áõ›¯ªhzv¼¸¢u Phß ¹.30,00,000 

 uØö£õÊx Áøμ GÊu¨£mh ö©õzu ÷u´©õÚ® ¹.40,00,000 

 Á› ©ØÖ® £[Põuõ¯ Pmk¨£õmk Põ¨¦ ¹.1,00,000 

 ÁõiUøP¯õÍ›hª¸¢x ö£Ó¨£mh £õxPõ¨¦ øÁ¨¦ 

öuõøP ¹.4,00,000 

 Á[Q ÂQu® 11% GÚ FP® ö\´P. 
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19. From the Balance Sheet given below prepare a 
consolidated Balance Sheet of A Ltd and its subsidiary 
company B Ltd. 

  
Liabilities A Ltd  B Ltd  Assets A Ltd B Ltd 

 Rs.  Rs.   Rs. Rs. 

Share capital      Land and 

Rs.10 each 25,00,000  6,00,000  Buildings 6,40,000 2,00,000

General reserve 3,60,000  1,20,000  Machinery 12,60,000 3,40,000

P and L account 2,40,000  1,80,000  Furniture  1,40,000 60,000

Creditors 3,50,000  1,00,000  40,000 shares 

     in B Ltd 5,00,000 –

     Stock 4,10,000 2,50,000

     Debtors 3,80,000 1,00,000

     Bank balance 1,20,000 50,000

 34,50,000  10,00,000   34,50,000 10,00,000

 At the date of acquisition of a limited of its holding of 
40,000 shares in B limited, the latter company had 
undistributed profits and reserves amounting to  
Rs. 1,00,000, none of which has been distributed then. 

 RÌÁ¸® C¸¨¦ {ø»U SÔ¨¤¼¸¢x A {Ö© ©ØÖ® Auß 

xøn {Ö©® B {Ö©zvß J¸[Qøn¢u C¸¨¦ {ø»U 

SÔ¨¦ ÁøμP. 

ö£õÖ¨¦PÒ A {Ö©®  B {Ö©®  ö\õzxUPÒ A {Ö©® B {Ö©®

 ¹.  ¹.   ¹. ¹. 

10 öPõsh    {»® ©ØÖ®  

£[S •uÀ 25,00,000 6,00,000  Pmih® 6,40,000 2,00,000

ö£õxU Põ¨¦ 3,60,000 1,20,000  C¯¢vμ® 12,60,000 3,40,000
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ö£õÖ¨¦PÒ A {Ö©®  B {Ö©®  ö\õzxUPÒ A {Ö©® B {Ö©®

 ¹.  ¹.   ¹. ¹. 

»õ£ |mh    ©øÚz  

PnUS 2,40,000 1,80,000  xøn¨ö£õ¸Ò 1,40,000 60,000

PhÜ¢÷uõº 3,50,000 1,00,000  B {Ö©zvÀ 

   40000 £[S 5,00,000 –

   \μUS 4,10,000 2,50,000

   PhÚõÎPÒ 3,80,000 1,00,000

   Á[Q C¸¨¦ 1,20,000 50,000

 34,50,000 10,00,000   34,50,000 10,00,000

 A÷u ÷uv°À A {Ö©® B {Ö©zv öPõsi¸¢u 40,000 

£[SPÎÀ ¤ß ö\õÀ»¨£mh {Ö©zvÀ £[Rk ö\´¯¨£hõu 

»õ£•® Põ¨¦® ¹.1,00,000&US C¸¢ux. Auß ¤ÓS® 

GxÄ® £[Rk ö\´¯¨£hÂÀø». 

20. Prepare a farm account with imaginary figures of your 
choice with as many figures as possible. 

 E[PÒ Â¸¨£¨£i PØ£øÚ¯õÚ öuõøPPÐhß J¸ 

ÂÁ\õ¯ PnUS u¯õ›UP. AvÀ AvP¨£i¯õÚ ö\´vPÒ 

C¸UP ÷Ásk®. 

 

 

————————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2017 

Sixth Semester 

Commerce 

MANAGEMENT ACCOUNTING  

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. State any two limitations of Management Accounting. 

 ÷©»õsø©U PnUQ¯¼ß C¸SøÓPøÍ TÖP. 

2. What are vertical statements? 

 E¯μ¨ ÷£õUS AÔUøP GßÓõÀ GßÚ? 

3. What is Proprietary ratio? 

 •u½m÷hõº £S¨£õ´Ä GßÓõÀ GßÚ? 

4. What are the components of current ratio? 

 |h¨¦ ÂQuzvß TÖPÒ ¯õøÁ? 

5. What is fund flow statement? 

 {v Kmh AÔUøP GßÓõÀ GßÚ? 

6. What is cash from operation? 

 C¯USu¼À E¸ÁõQ¯ £n® GßÓõÀ GßÚ? 

Sub. Code 
4BCO6C2 



AFF–4333

  

  2

Ws5

7. What is cash planning? 

 öμõUP vmh® GßÓõÀ GßÚ? 

8. What is fixed budget? 

 {ø»¯õÚ vmh® GßÓõÀ GßÚ? 

9. What do you mean by fixed cost? 

 {ø»¯õÚ ö\»Ä GßÓõÀ GßÚ? 

10. What are the different material variances? 

 ‰»¨ö£õ¸Ò Â»UPzvß ÁøPPÒ ¯õøÁ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Explain briefly the scope and functions of 
management accounting. 

  ÷©»õsø©U PnUQ¯¼ß Áμ®ö£Àø» ©ØÖ® 

£oPøÍa _¸[PU TÖP. 

Or 

 (b) Explain the differences between financial 
accounting and management accounting. 

  {vU PnUQ¯¾US® ÷©»õsø©U PnUQ¯¾US® 

EÒÍ ÷ÁÖ£õkPøÍ ÂÁ›. 

12. (a) State the significance of accounting ratios in the 
analysis of financial statements. 

  {v AÔUøP £Szuõ´ÂÀ PnUQ¯À ÂQu[PÎß 

•UQ¯zxÁzøuU TÖP. 

Or 
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 (b) Balance Sheet of Viji Ltd. as on 31.12.2009 is as 
follows :  

Liabilities Rs.  Assets Rs. 

Equity capital 1,50,000 Fixed assets 2,60,000

7% preference shares  50,000 Stock 60,000

6% debentures 1,40,000 Debtors 70,000

Profit and loss a/c 28,000 Cash 20,000

Creditors 12,000   

B/P 30,000   

 4,10,000  4,10,000

  Find out : 

  (i) Current ratio 

  (ii) Liquidity ratio. 

  Ââ ¼ªöhmiß 31.12.2009 AßøÓ¯ C¸¨¦{ø»U 

SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹.  ö\õzxUPÒ ¹. 

\©£[S •uÀ 1,50,000  {ø»a ö\õzxUPÒ 2,60,000

7% •ßÝ›ø© £[S •uÀ  50,000  \μUQ¸¨¦ 60,000

6% PhÜmk¨ £zvμ® 1,40,000  PhÚõÎPÒ 70,000

C»õ£ |mh PnUS 28,000  öμõUP® 20,000

PhÜ¢÷uõº 12,000    

ö\¾zxuØS›¯ ©õØÖa^mk 30,000    

 4,10,000   4,10,000

  u¯õ›UP : 

  (i) |øh•øÓ ÂQu® 

  (ii) }º© ÂQu®. 
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13. (a) What are the uses of fund statement? 

  {v Kmh AÔUøP°ß £¯ßPÒ ¯õøÁ? 

Or 

 (b) From the following summarised balance sheet of 
Lakshmi Ltd. prepare a fund flow statement.  

Liabilities 2004  2005 Assets 2004 2005 

 Rs.  Rs.  Rs. Rs. 

Share capital 4,00,000  5,75,000 Land 75,000 1,00,000 

Creditors 1,06,000  70,000 Stock 1,21,000 1,36,000 

P and L a/c 14,000  31,000 Debtors 1,81,000 1,70,000 

    Cash 1,43,000 2,70,000 

 5,20,000  6,76,000  5,20,000 6,76,000 

  ¤ßÁ¸® {v Â£μ[PÎ¼¸¢x {v Kmh AÔUøPø¯ 

u¯õº ö\´P : 

ö£õÖ¨¦  2004  2005  ö\õzx 2004 2005 

  ¹.  ¹.   ¹. ¹. 

£[S ‰»uÚ®  4,00,000  5,75,000  {»® 75,000 1,00,000

PhÜ¢÷uõº  1,06,000  70,000  \μUQ¸¨¦ 1,21,000 1,36,000

C»õ£&|mh P/S  14,000  31,000  PhÚõÎPÒ 1,81,000 1,70,000

      öμõUP® 1,43,000 2,70,000

  5,20,000  6,76,000   5,20,000 6,76,000

14. (a) What are the uses of Budgets? Also state the 
different types of Budgets. 

  ÁμÄ ö\»Äz vmh[PÎß £¯ßPÒ ¯õøÁ? £»ÁøP 

ÁμÄ ö\»Äz vmh[PøÍ²® TÖP. 

Or 
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 (b) Brindha Ltd. plans to sell 1,10,000 units of a 
product line in the first fiscal quarter. 1,20,000 
units in the second quarter, 1,30,000 units in the 
third quarter and 1,50,000 units in the fourth 
quarter and 1,40,000 units in the first quarter of the 
following year. At the beginning of the first quarter 
of the current year, there were 14,000 units of 
product in stock. At the end of each quarter, the 
company plans to have an inventory equal to one 
fifth of the sales for the next fiscal quarter. 

  How many units must be manufactured in each 
quarter of the current year? 

  ¤›¢uõ ¼m., J¸ EØ£zv¨ ö£õ¸øÍ ÂØ£øÚ ö\´¯ 

Ez÷u]zxÒÍx, •uÀ {vU Põ»õsiÀ 1,10,000 

A»SPÒ, Cμshõ® Põ»õsiÀ 1,20,000 A»SPÒ, 

‰ßÓõ® Põ»õsiÀ 1,30,000 A»SPÒ, |õßPõ® 

Põ»õsiÀ 1,50,000 A»SPÒ ©ØÖ® Akzu Bsiß 

•uÀ Põ»õsiØS 1,40,000 A»SPÒ BS®. 

|h¨£õsiß •uÀ Põ»õsiß öuõhUPzvÀ, 14,000 

A»SPÒ \μUQ¸¨¤À C¨ö£õ¸Ò C¸¢ux. JÆöÁõ¸ 

Põ»õsiß öuõhUPzv¾® Akzu Põ»õsiß 

ÂØ£øÚ°À I¢vÀ J¸ £[SUSa \©©õPa \μUQ¸¨¦ 

C¸UP ÷Ásk® GÚ C¢u {Ö©® vmhªkQÓx. 

JÆöÁõ¸ Põ»õsiØS® GzuøÚ A»SPÒ EØ£zv 

ö\´¯¨£h ÷Ásk®? 

15. (a) Discuss various types of standards. 

  uμzvß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

Or 

 (b) A company budgets a production of 5,25,000 units at 
a variable cost of Rs. 25 each. The fixed costs are  
Rs. 25,00,000. The selling price is fixed to show a 
profit of 20%. Calculate 

  (i) Profit-volume ratio and 

  (ii) Break even point. 
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  JßÖ ¹. 25 Ãu® ©õÖ£k® ö\»Ähß J¸ P®ö£Û 

5,25,000 A»SPøÍ EØ£zv ö\´¯ vmhªkQßÓx. 

©õÓõu ö\»ÄPÒ ¹. 25,00,000. ÂØ£øÚ Âø»ø¯ 20% 

C»õ£® u¸® ÁøP°À {ºn°UQÓx. 

  (i) £[PÎ¨¦ ÂQu® ©ØÖ®  

  (ii) C»õ£ |mhªÀ»õ {ø» CøÁPøÍU PõsP. 

 Part C  (3  10 = 30) 
Answer any three questions. 

16. M and N sell product X in the same market for the year 
ended 31.12.08. Their forecasted P&L a/c is as under : 

 M Ltd. N Ltd. 

 Rs.  Rs. Rs. Rs. 

Sales   5,00,000 5,00,000

Less :    

Variable cost 2,75,000   2,50,000

Fixed cost 75,000  3,50,000 1,00000 3,50,000

   1,50,000 1,50,000

 Calculate : 
 (a) P.V. ratio, BEP and margin of safety 
 (b) Sales volume at which each business will earn a 

profit of Rs. 75,000. 

 M ©ØÖ® N {Ö©[PÒ J÷μ \¢øu°À J÷μ ©õv›¯õÚ X 

EØ£zv¨ ö£õ¸mPøÍ ÂØ£øÚ ö\´QßÓÚº. 31.12.08&À 

Auß PoUP¨£mh C»õ£ |mh PnUS uμ¨£mkÒÍx : 

 M ¼ªöhm N ¼ªöhm 

 ¹.  ¹. ¹. ¹. 

ÂØ£øÚ   5,00,000 5,00,000

PÈUP :   

©õÖ® ö\»ÄPÒ 2,75,000  2,50,000

©õÓõ ö\»ÄPÒ 75,000  3,50,000 1,00000 3,50,000

©v¨¤mh C»õ£®   1,50,000 1,50,000
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 PnUQkP : 

 (A) JÆöÁõ¸ öuõÈ¾US®, C»õ£ AÍÄ ÂQu®, 

\©{ø»¨ ¦ÒÎ, £õxPõ¨¦ ÂÎ®¦ 

 (B) JÆöÁõ¸ öuõÈ¾® ¹. 75,000 C»õ£® Dmh 

÷©ØöPõÒÍ ÷Ási¯ ÂØ£øÚ AÍÄ. 

17. Prepare a Balance Sheet from the following particulars : 
 Gross profit = Rs. 80,000 
 Gross profit to cost of goods sold = 1/3 
 Stock velocity = 6 times 
 Opening stock = Rs. 36,000 
 Accounts receivable velocity = 72 days (year = 360 days) 
 Current assets = Rs. 150,000 
 Accounts payable velocity = 90 days 
 Bills receivable = Rs. 20,000 
 Bills payable = Rs. 5,000 
 Fixed assets turnover ratio (on cost of goods sold) =  

8 times. 

 RÌPõq® ö\´vPÐUS C¸¨¦{ø»U SÔ¨¦ ÁøμP  

 ö©õzu C»õ£®  – ¹. 80,000 

 ö©õzu C»õ£® öuõh[Q¯ ÂØP¨£mh   

 ö£õ¸Ò AhUPÂø» – 1/3 

 \μUS _ÇØ] – 6 uhøÁPÒ 

 Bμ®£ \μUQ¸¨¦ – ¹. 36,000 

 ö£ÖuÀ _ÇØ] – 72 |õmPÒ (Á¸h® 360 |õmPÒ) 

 |h¨¦ ö\õzx – ¹. 1,50,000 

 PnUS ö£ÖuÀ _ÇØ] – 90 |õmPÒ 

 ö£ÖuÀ ^mk – ¹. 20,000 

 ö\¾zx ^mk – ¹. 5,000 

 {ø»a ö\õzx •uÀ _ÇØ] ÂQu® – (ö£õ¸Ò AhUPÂø» 

«x) – 8 uhøÁ. 
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18. From the following balance sheets, prepare a cash flow 
statement. 

 2006 2007  2006 2004 

 Rs. Rs.  Rs. Rs. 

Share capital 6,00,000 6,50,000 Goodwill 3,00,000 2,50,000

P & L a/c 3,40,000 2,60,000 Plant 6,00,000 5,00,000

Current 
 liabilities 

 
1,20,000 

 
30,000 

Current 
 assets 1,60,000 1,90,000

 10,60,000 9,40,000  10,60,000 9,40,000

 Additional information : 

 (a) Depreciation of Rs. 2,00,000 on plant was charged to 
P & L a/c 

 (b) Dividends of Rs. 12,000 was paid during the year. 

 RÌUPõq® C¸¨¦{ø»U SÔ¨¤¼¸¢x öμõUP |h©õmh 

AÔUøP u¯õ›UP : 

 2006  2007  2006 2004 

 ¹.  ¹.  ¹. ¹. 

£[S •uÀ 6,00,000  6,50,000 |Øö£¯º 3,00,000 2,50,000

C»õ£ |mh P/S 3,40,000  2,60,000 AøÓP»ß 6,00,000 5,00,000

|h¨¦ ö£õÖ¨¦ 1,20,000  30,000 |h¨¦ ö\õzx 1,60,000 1,90,000

 10,60,000  9,40,000  10,60,000 9,40,000

 HøÚ¯ ÂÁμ[PÒ : 

 (A)  AøÓP»ß «x ¹. 2,00,000 ÷u´©õÚ® GÊu¨£mhx 

 (B) Á¸hzvÀ ¹. 12,000 £[Põuõ¯® ö\¾zu¨£mhx. 
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19. The expenses for budgeted production of 10000 units in a 
factory are given below : 

 Rs. per unit
Raw materials 70 
Labour 25 
Variable overheads 20 
Fixed overheads (Total Rs. 1,00,000) 10 
Variable expenses (Direct) 5 
Selling expenses (10% fixed) 13 
Distribution expenses (20% fixed) 7 
Administration on expenses (Total Rs. 50,000) 5 

 Prepare a flexible budget for production of 

 (a) 8000 units 

 (b) 6000 units indicating cost per unit at both the 
levels. Assume that administration expenses are 
fixed for all levels of production. 

 Kº EØ£zv Bø»°À 10,000 A»SPÒ EØ£zvUPõÚ 

vmhªh¨£mh ö\»ÄPÒ ¤ßÁ¸©õÖ : 

 Kº A»SUS (¹.)

Pa\õ¨ ö£õ¸Ò 70 

T¼ 25 

©õÖ® ÷©Øö\»ÄPÒ 20 

©õÓõa ö\»ÄPÒ (ö©õzu® ¹. 1,00,000) 10 

(÷|μi) ©õÖ® ö\»ÄPÒ 5 

ÂØ£øÚ ö\»ÄPÒ (10% {ø»¯õÚx) 13 

£QºÄa ö\»ÄPÒ (20% {ø»¯õÚx)  7 

{ºÁõPa ö\»ÄPÒ (ö©õzu® ¹. 50,000) 5 

 EØ£zv AÍÄUPõÚ ©õÖ® ÁμÄ ö\»Äz vmhzøu u¯õ›UP 
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 (A) 8000 A»SPÒ 

 (B) 6000 A»SPÒ GÚU öPõsk ö|QÌa]z vmh® JßøÓ, 

C¸ AÍÄPÎ¾® AhUPÂø» Kº A»SUSU 

SÔ¨¤mkU Põmk®£i u¯õ›UPÄ® 

  A¾Á»P ö\»ÄPÒ AøÚzx {ø»°¾® 

{ø»¯õÚöuÚU öPõÒP. 

20. From the following particulars relating to three materials 
A, B and C used in a product compute : 

 (a) material cost variance 
 (b) material usage variance 
 (c) material price variance 

 Standard Actual 
Material Qty Unit price Total Qty Up Total 

 kg. Rs. Rs. kg. Rs. Rs. 
A 250 4 1000 200 6 1200
B 350 6 2100 400 12 4800
C 300 12 3600 400 10 4000

 900  6700 1000  10000

 RÌPõq® ÂÁμ[PÒ J¸ EØ£zv¨ ö£õ¸ÐUS¨ £¯ß£k® 

A, B, C BQ¯ ‰ßÖ Pa\õ¨ ö£õ¸mPøÍ SÔ¨£øÁ 

AøÁPÎ¼¸¢x •øÓ÷¯ 

 (A) Pa\õ¨ ö£õ¸Ò AhUPÂø» ©õØÓ® 

 (B) Pa\õ¨ ö£õ¸Ò £¯ß£õk ©õØÓ® 

 (C) Pa\õ¨ ö£õ¸Ò Âø» ©õØÓ® BQ¯ÁØøÓ PnUQkP 

 vmh AhUP® Esø© AhUP® 

Pa\õ¨  AÍÄ J¸ A»S ö©õzu® AÍÄ J¸ A»S ö©õzu®

ö£õ¸Ò Q÷»õ ¹. ¹. Q÷»õ ¹. ¹. 

A 250 4 1000 200 6 1200 

B 350 6 2100 400 12 4800 

C 300 12 3600 400 10 4000 

 900  6700 1000  10000

———————––– 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2017 

Sixth Semester 

Commerce 

INDUSTRIAL LAW 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. Who is called adult as per the Factories Act 1948? 

 öuõÈØ\õø» Âv 1948&ß £i Á¯x Á¢÷uõº Gß£Áº ¯õº? 

2. Define “Health “as per the Factories Act 1948. 

 Áøμ¯Ö : öuõÈØ\õø» Âv 1948&ß £i “EhÀ|»®”. 

3. Mention any four rights of trade unions. 

 öuõÈØ\[P[PÎÀ H÷uÝ® |õßS E›ø©PøÍU SÔ¨¤kP. 

4. Mention any four liabilities of trade unions. 

 öuõÈØ\[Pzvß H÷uÝ® |õßS ö£õÖ¨¦PøÍ SÔ¨¤kP. 

5. What is lay off? 

 £o°ßø© GßÓõÀ GßÚ? 

6. What is strike? 

 ÷Áø» {Özu® GßÓõÀ GßÚ? 

Sub. Code 
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7. What is Penalty? 

 A£μõu® GßÓõÀ GßÚ? 

8. What is injury? 

 Põ¯¨£kuÀ GßÓõÀ GßÚ? 

9. Explain the share of employer in case of Provident Fund. 

 ÷\©|» {v°À •u»õÎ°ß £[S ¯õx? 

10. Give four features of PPF. 

 ö£õx ÷\©|» {v°ß |õßS |ßø©PøÍz u¸P. 

 Section B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the rules regarding leave with wages. 

   Âk•øÓ²hß Ti¯ \®£Í® SÔzu \mh[PøÍ 

ÂÍUSP. 

Or 

 (b) Explain the rules regarding employment of 
children.  

   SÇ¢øuPøÍ £o¯©ºzuÀ SÔzu \mh[PøÍ ÂÁ›. 

12. (a) What are the reasons behind the amalgamation of 
trade unions? 

   öuõÈØ\[P[PÒ Cøn¨¤ß Põμn[PÒ ¯õøÁ? 

Or 

 (b) Describe the procedure for fixing Minimum wages. 

   SøÓ¢u£m\ T¼ •iÄ ö\´u¼ß |hÁiUøPø¯ 

ÂÁ›. 
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13. (a) Explain the causes of lockouts. 

   PuÁøh¨¤ß Põμn[PøÍ ÂÁ›. 

Or 

 (b) Discuss the consequences of strikes. 

   ÷Áø» {Özuzvß ¤ß ÂøÍÄPøÍ ÂÁ›. 

14. (a) Write a note on accident. 

   Â£zx £ØÔ¯ SÔ¨¦ ÁøμP. 

Or 

 (b) What are the Documents to be submitted for claims 
for permanent disablement? 

   {ø»¯õÚ C¯»õø©US E›¯ ÷Põ¸Öø©°À 

CønUP¨£h ÷Ási¯ BÁn[PÒ ¯õøÁ? 

15. (a) Explain the nature of ESI. 

   öuõÈ»õÍº Põ¨¥mk vmhzvß  A®\[PøÍ ÂÁ›. 

Or 

 (b) Explain the powers of the Employee Insurance 
Court. 

   öuõÈ»õÍº Põ¨¥mk }v©ßÓzvß AvPõμzøu ÂÁ›. 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. Explain the rules regarding working hours. 

 ÷Áø» ÷|μ® \®£¢u¨£mh \mh[PøÍ ÂÁ›. 

17. Under what conditions the trade unionsare dissolved? 

 G¢u `Ì{ø»°À öuõÈØ\[P[PÒ Pø»UP¨£kQßÓÚ? 
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18. Write briefly on retrenchment compensation. 

 ÷Áø»°¼¸¢x ÂkÂzu¾UPõÚ |mhDk SÔzx ÂÁ›. 

19. Discuss the rate of temporary disablement benefit. 

 uØPõ¼P C¯»õø© £¯ß \®£¢u©õÚ Ãuzøu ÂÍUSP. 

20. Explain various scheme of Provident fund. 

 ÷\©|»{v°ß £À÷ÁÖ vmh[PøÍ ÂÁ›. 

 

 
———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2017 
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Elective — INCOME TAX – II 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is meant by Total Income? 

 ö©õzu Á¸©õÚ® GßÓõÀ GßÚ? 

2. How many years does the income tax act permit for carry 
forward and set off of unabsorbed losses? 

 DºUP¨£hõu |èh[PøÍ ÷©ØöPõnº¢x \›UPmkuÀ SÔzx 

Á¸©õÚ Á›a \mh® GzuøÚ Bsk Põ» AÁPõ\® 

AÎUQÓx. 

3. What are the procedure for computing the taxable income 
of an individual? 

 uÛ |£º Á¸©õÚ Á› PnUQh¼ß ÁÈ•øÓPÒ ¯õøÁ? 

4. Write short notes on book profit. 

 ¦zuP »õ£® – ]Ö SÔ¨¦ u¸P. 

5. What is meant by return of income? 

 Á¸©õÚ AÔUøP GßÓõÀ GßÚ? 

6. What is an Appellate tribunal? 

 }v©ßÓ ÷©À•øÓ±mk ©Ý GßÓõÀ GßÚ? 

Sub. Code 
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7. What is meant by regular assessment? 
 ÁÇUP©õÚ Po¨¦ GßÓõÀ GßÚ? 

8. Who can rectify a mistake? 
 ¯õμõÀ uÁÖPÒ v¸zu¨£h»õ®? 

9. What is meant by refund of tax? 
 Á`¼zu Á›ø¯z v¸®£¨ ö£ÖuÀ öuõhº£õÚ \mh 

ÂvPøÍ TÖP. 

10. What is meant by belated return? 
 uõ©u AÔUøP GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 
Answer all questions. 

11. (a) Calculate the qualifying amount of deduction under 
section 80C 

  Rs. 
(i) Life insurance premium [on his own 

life] 
20,000

(ii) Contribution to recognized P.F.  
 His own 5,000
 His employer’s 4,000
(iii) Repayment of loan for construction 

of house : 
 Interest 30,000
 Principal repayment 50,000
(iv) Interest accrued on NSC amounted to 1,000

  ¤›Ä 80 C°ß RÌ AÝ©vUP¨£k® PÈÄz 

öuõøPø¯U Psk¤iUPÄ®. 

  ¹. 

(i) B²Ò Põ¨¤mk •øÚ©® (uß B²Ò «x) 20,000
(ii) A[P›UP¨£mh ÷å© |»{vUS AÁμx 

£[S 5,000
 AÁº {¯ª¨£õÍ›ß £[S 4,000
(iii) ÃkPmh Áõ[Q¯ PhÝUPõÚ Ámi 

ö\¾zv¯x 30,000
 A\À ö\¾zv¯x 50,000
(iv) ÷u]¯ ÷\ª¨¦¨ £zvμ® «x ÷\º¢xÒÍ Ámi 1,000

Or 



AFF–4335

  

  3

Sp3 
 (b) What is the order to be followed while carry forward 

and set off? 

  ÷©ØöPõnº¢x \›UPmk® ÷£õx ¤ß£ØÓ¨£h 

÷Ási¯ |èh[PÎß Á›ø\U Qμ©® ¯õx? 

12. (a) Compute the book profit from the following 
information.  

 Rs. 
Net profit as per P & L a/c (after debiting 
the following) 

20,000

Salary to partner A 60,000
                             B 40,000
Commission to A 20,000
Interest on capital @21% to A 14,000
Interest on capital @21% to B 7,000

  The payment to partners have been made in 
accordance with partnership deed. 

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x ¦zuP »õ£zøu PnUQkP.  
 ¹. 

{Pμ »õ£® C»õ£ |mhUPnUQß 

Ai¨£øh°À ¤ßÁ¸ÁÚÁØøÓ £ØÖ øÁzu 

¤ÓS 

20,000

TmhõÎUS›¯ \®£Í® A 60,000
TmhõÎUS›¯ \®£Í® B 40,000
PÈÄ A US›¯x 20,000
A US›¯ ‰»uÚ Ámi 21% 14,000
B US›¯ ‰»uÚ Ámi 21% 7,000

  Tmhõsø© J¨£¢u¨£i TmhõÎPÐUS öuõøP 

ö\¾zu¨£kQÓx. 

Or 

 (b) What are the procedure for computing the taxable 
income of a Hindu Undivided Family? 

  C¢x Tmk Sk®£zvß Á¸©õÚ Á› PnUQh¼ß ÁÈ 

•øÓPÒ ¯õøÁ? 
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13. (a) Write short notes on tax deduction at source. 

  Á› ¤izu® – ]Ö SÔ¨¦ u¸P. 

Or 

 (b) Subramaniam, a salaried employee provides the 
following details of his income for the A.Y 2016-17. 
Determine his tax liablity. 

 Rs. 
Basic salary 50,000
Dearness allowance[forming part of salary] 7,000
Special allowance 8,000
Conveyance allowance 5,000
Interest on co – operative debentures 6,000
Dividends from co – operative society 4,000
Income from house property [computed] 3,00,000

  2016 – 2017 ©v¨¥hõskUS›¯ Á¸©õÚ[PøÍ 

_¨¤μ©o¯® GßÓ Fv¯® ö£Ö® FÈ¯º u¸QÓõº. 

AÁμx Á›ö£õÖ¨¦PøÍ wº©õÛUPÄ®. 

 ¹. 

Ai¨£øha \®£Í® 50,000
APÂø»¨£i (\®£Ízvß £Sv) 7,000
]Ó¨¦ £i 8,000
÷£õUSÁμzx £i 5,000
TmkÓÄ Phß £zvμ[PÎÀ Ámi 6,000
TmkÓÄ \[PzvÀ £[Põuõ¯® 4,000
Ãmk ö\õzvÀ Á¸©õÚ® (PnUQh¨£mhx) 3,00,000

14. (a) What is best judgement assessment? 

  Ezu© wº¨¦ ©v¨¤kuÀ GßÓõÀ GßÚ? 

Or 

 (b) What are the provisions of Income Tax Act 
regarding rectification of mistakes? 

  uÁÖPÒ \›UPmkuÀ öuõhº£õÚ Á¸©õÚ Á›a \mh 

ÂvPÒ ¯õøÁ? 
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15. (a) Enumerate the various types of returns. 

  Á¸©õÚ Á› £iÁzvß £À÷ÁÖ ¤›ÄPøÍ ÂÁ›. 

Or 

 (b) A senior citizen furnishes the following information. 
Compute his income tax. 

 Rs. 
Income from house property [computed] 70,000
Income from business or profession 4,75,000
Short term capital gain 10,000
Long term capital loss 15,000
Bank interest 14,000

  ‰zu Si©Pß J¸Áº RÌUPõq® uPÁÀPÒ u¸QÓõº. 

Á¸©õÚ Á›ø¯U PnUQkP. 

 ¹. 

Ãmka ö\õzvß ‰»® Á¸©õÚ® 70,000
Â¯õ£õμ Á¸©õÚ® 4,75,000
SÖQ¯ Põ» •u¼Ú C»õ£® 10,000
}sh Põ» •u¼Ú |èh® 15,000
Á[Q Ámi 14,000

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Mr. Pramoth has furnished the following particulars for 
the Previous year 2015-16. 

 Rs. 
Income from salary (net) 3,00,000
Income from other sources 80,000
Contribution to RPF 20,000
Premium of Mediclaim policy 10,000
Rent paid for a house at Madurai Rs. 4,000 p.m. 

 Compute the eligible deduction u/s 80 GG. 
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 •¢øu¯ Bsk 2015 – 16 À ¤μ÷©õz AÁºPÒ ¤ßÁ¸® 

uPÁÀPøÍ AÎUQÓõº. 

 ¹. 

\®£Í Á¸©õÚ® ({Pμ ©v¨¦) 3,00,000

Cuμ ÁøP ÁÈ Á¸©õÚ® 80,000

A[RP›UP¨£mh ÷\©|» {vUS £[PÎ¨¦ 20,000

©¸zxÁ Põ¨¥mk •øÚ©® 10,000

©xøμ ÃmiØS ©õu ÁõhøP öPõkzux ¹. 4,000 p.m 

 ¤›Ä 80GG °ß RÌ Á¸® uSv¯õÚ PÈÄPøÍ PnUQkP. 

17. X, Y and Z are partners in a firm sharing profits and 
losses equally. 

P & L a/c of the firm (assessed u/s 185) 

 Rs.  Rs. 

To Manufacturing exp. 9,000 By Gross sales 50,000

To Establishment exp. 6,000 By Interest on securities  

To Depreciation 3,000 (Gross) 3,000

To Sundry expenses 4,000  

To Salary to X 6,000  

To Commission to Y 4,000  

To Interest on capital :   

X 1,000  

Y 2,000  

Z 3,000  

To Net profit :   

X 5,000  

Y 5,000  

Z 5,000  

 53,000  53,000

 Compute the income of the firm and share of allocation. 
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 X, Y ©ØÖ® Z J¸ Tmhõsø© {ÖÁÚzvß TmhõÎPÒ 

»õ£ |mh[PøÍ \©©õP £QºQßÓÚº. 

C»õ£ |mhU PnUS (©v¨¥k ¤›Ä 185) 

 ¹.  ¹. 

u¯õ›¨¦ ö\»ÄPÒ 9,000 ö©õzu ÂØ£øÚ 50,000

¦Úμø©¨¦ ö\»ÄPÒ 6,000 ¤øÚ¯[PÎÀ Ámi 

÷u´©õÚ® 3,000 (ö©õzu®) 3,000

£Ø£» ö\»ÄPÒ 4,000  

X US›¯ Fv¯® 6,000  

Y US›¯ Fv¯® 4,000  

•uÀ «uõÚ Ámi :   

X 1,000  

Y 2,000  

Z 3,000  

{Pμ »õ£® :   

X 5,000  

Y 5,000  

Z 5,000  

 53,000  53,000

 {ÖÁÚzvß Á¸©õÚzøu PnUQkP. ÷©¾® TmhõÎPÒ 

£[SPøÍ PõsP. 

18. Explain in detail any three types of income tax 

assessment. 

 Á¸©õÚ Á› ©v¨¥miß ÁøPPÐÒ H÷uÝ® ‰ßÔøÚ 

Â›ÁõP ÂÍUSP. 
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19. From the following information compute the tax payable 

by Mrs. V.S. for the A.Y 2016-17. 
 Rs. 

Business income from sale of securities 70,000

Long term capital gains 20,000

Interest from bank 22,000

Lottery prizes 20,000

Securities Transaction Tax paid [not deducted 
from Business Income] 4,000

Deposited in PPF 10,000

 RÌUPsh ÂÁμ[PÎ¼¸¢x 2016 – 17 Á›¯õsiÀ v¸©v 

V.S. ö\¾zu ÷Ási¯ Á›ø¯U PnUQkP. 
 ¹. 

£zvμ[PøÍ ÂØÓuß ‰»©õPU Qøhzu 

Â¯õ£õμ Á¸©õÚ® 

70,000

}sh Põ» ‰»uÚ »õ£[PÒ 20,000

Á[Q°¼¸¢x Ámi 22,000

»õmh›¨ £›_PÒ 20,000

£zvμ¨ £›ÁºzuøÚ Á› ö\¾zu¨£mhx 

(Â¯õ£õμ Á¸©õÚzvÀ PÈUP¨£hÂÀø») 4,000

ö£õx Á¸[Põ» øÁ¨¦ {v°À ö\¾zu¨£mhx 10,000

20. Discuss the refund of tax under Income Tax Act. 

 Á¸©õÚÁ›a \mhzvß RÌ v¸®£ ö\¾zx® ÁÈ 

ÂÁ›UPÄ®. 

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2017 

Sixth Semester 

Commerce 

Elective — AUDITING 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. What is meant by errors? 

 ¤øÇ GßÓõÀ GßÚ? 

2. What is called frauds? 

 H©õØÖuÀ GßÓõÀ GßÚ? 

3. What is audit programme? 

 uoUøP vmh® GßÓõÀ GßÚ? 

4. What is audit file? 

 uoUøPU ÷Põ¨¦ GßÓõÀ GßÚ? 

5. What is Voucher? 

 \õßÖ GßÓõÀ GßÚ? 

6. What is fake voucher? 

 PÒÍa \õßÖ GßÓõÀ GßÚ? 

Sub. Code 
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7. What is called trade marks? 

 Â¯õ£õμU SÔ±k GßÓõÀ GßÚ? 

8. Define : Short term investments. 

 Áøμ¯Ö : SÖ[Põ» •u½k. 

9. What is negligence? 

 PÁÚªßø© GßÓõÀ GßÚ? 

10. What is meant by breach of duty? 

 Phø©°¼¸¢x uÁÖuÀ GßÓõÀ GßÚ? 

 Section B  (5  5 = 25) 

Answer all questions. 

11. (a) What are the advantages of periodical audit? 

  Põ»•øÓ uoUøP°ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Discuss the aims of continuous audit. 

  öuõhº uoUøP°ß SÔU÷PõøÍ ÂÁ›. 

12. (a) Explain on internal control. 

  APU Pmk¨£õk £ØÔ ÂÁ›UP. 

Or 

 (b) Explain the internal check with regard to credit 
transactions. 

  Phß |hÁiUøP SÔzx APa ^μõ´øÁ ÂÍUSP. 
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13. (a) Explain the general precautions to be taken while 
vouching the transactions. 

  Â¯õ£õμ |hÁiUøPPøÍ \õßÓõ´Ä ö\´²® ö£õÊx 

öPõÒÍ ÷Ási¯ •ßöÚa\›UøPPøÍ ÂÁ›. 

Or 

 (b) How will an auditor vouch cash receipts and 
payments? 

  öμõUP ÁμÄ ©ØÖ® ö\»ÂøÚ uoUøP¯º G[VÚ® 

\õßÓõ´Ä ö\´Áõº? 

14. (a) Explain the duties of an auditor while verifying 
sales. 

  ÂØ£øÚø¯ \›£õºUS® ö£õÊx uoUøP¯›ß 

Phø©PøÍ ÂÁ›. 

Or 

 (b) Explain the differences between verification and 
valuation. 

  \›£õºzuÀ ©ØÖ® ©v¨¤hø» ÷ÁÖ£kzxP. 

15. (a) Explain the criminal liability of an auditor with a 
case law. 

  J¸ GkzxUPõmkhß uoUøP¯›ß SØÓÂ¯À 

ö£õÖ¨¤øÚ ÂÍUSP. 

Or 

 (b) Explain the criminal liability of an auditor with a 
case law. 

  J¸ GkzxUPõmkhß uoUøP¯›ß ‰ßÓõ® 

|£¸UPõÚ ö£õÖ¨¤øÚ ÂÁ›UP.  
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 Section C  (3  10 = 30) 

Answer any three questions. 

16. Explain the qualities of an auditor. 

 uoUøP¯›ß uSvPøÍ ÂÁ›. 

17. Discuss the objectives of internal check. 

 APU^μõ´Âß ÷|õUP[PøÍ ÂÁ›UP. 

18. Vouching is important - Discuss. 

 \õßÓõ´Ä Gß£x •UQ¯©õÚx ÂÁ›. 

19. Explain the principles of verification and valuation of 
assets and liabilities. 

 ö\õzx ©ØÖ® ö£õÖ¨¦PøÍ ÷\õuøÚ°hÀ ©ØÖ® 

©v¨¤h¼ß öPõÒøPPøÍ ÂÁ›. 

20. Explain the liabilities of an auditor in general. 

 ö£õxÁõP uoUøP¯›ß ö£õÖ¨¦PøÍ ÂÁ›. 

———————– 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2017 

Sixth Semester 

Commerce 

Elective –– ENTREPRENEURSHIP DEVELOPMENT 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Entrepreneurship? 

 öuõÈÀ •øÚÄ GßÓõÀ GßÚ? 

2. Who are imitative entrepreneur? 

 £õºzx öuõÈÀ ö\´²® öuõÈÀ •øÚ÷Áõº ¯õº? 

3. Define : Sole trader. 

 Áøμ¯Ö : uÛ¯õÒ Â¯õ£õ›. 

4. Give any four merits of partnership. 

 Tmhõsø©°ß H÷uÝ® |õßS |ßø©PøÍz u¸P. 

5. What is Low tension power tariff subsidy? 

 SøÓªß Âø\ ©õÛ¯® GßÓõÀ GßÚ? 

6. What is special capital subsidy? 

 uÛ ‰»uÚ ©õÛ¯® GßÓõÀ GßÚ? 
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7. What is Fixed cost? 

 {ø»a ö\»Ä GßÓõÀ GßÚ? 

8. What is variable cost? 

 ©õÖ® ö\»Ä GßÓõÀ GßÚ? 

9. Define : Sick unit. 

 Áøμ¯Ö : |¼¢u A»S. 

10. What is tax holiday? 

 Á› Âk•øÓ GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Describe the Characteristics of Entrepreneurship. 

  öuõÈÀ •øÚÂß ußø©PøÍ ÂÁ›. 

Or 

 (b) Explain any four types of entrepreneur. 

  H÷uÝ® |õßS ÁøP öuõÈÀ •øÚ÷Áõº £ØÔ 

ÂÁ›UP. 

12. (a) What are the differences between sole trader and 
partnership firm? 

  uÛ¯õÒ Â¯õ£õ› ©ØÖ® Tmhõsø© {ÖÁÚ® 

÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) What are the documents to be enclosed while 
getting a license? 

  E›©® ö£Ó CønUP ÷Ási¯ BÁn[PÒ ¯õøÁ? 
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13. (a) Explain the functions of SIDCO. 

  SIDCO ß £oPøÍ ÂÁ›. 

Or 

 (b) Explain the contribution of TIIC in the development 
of entrepreneurship. 

  öuõÈÀ •øÚøÁ •ß÷ÚØÓ TIIC ß £[QøÚ ÂÁ›. 

14. (a) What factors are considered while appraising the 
project? 

  vmhzøu ©v¨¤køP°À PÁÛUP ÷Ási¯ PõμoPÒ 

¯õøÁ? 

Or 

 (b) Explain the importance of conducting technical 
feasibility. 

  öuõÈÀ Ÿv¯õÚ \õz¯ TØÔøÚ Bμõ´Ávß 

•UQ¯zxÁzøu ÂÁ›. 

15. (a) Why is it essential to develop women entrepreneur 
in India? 

  C¢v¯õÂÀ ö£s öuõÈÀ •øÚ÷Áõøμ •ß÷ÚØÓ 

÷Ási¯vß ÷uøÁ¯õx? 

Or 

 (b) How would you remedy industrial sickness? 

  öuõÈØ \õø» |¼øÁ G[VÚ® ^º ö\´Ãº? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the importance of Entrepreneurship. 

 öuõÈÀ •øÚÂß •UQ¯zxÁzøu ÂÁ›. 
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17. Explain the procedures followed to start a small industry. 

 ]ÖöuõÈÀ öuõh[P ¤ß£ØÓ¨£k® £i{ø»PøÍ ÂÁ›. 

18. What are the ways by which NSIC helps the 
entrepreneurs? 

 NSIC G¢u •øÓPÎÀ öuõÈØ •øÚ÷Áõ¸US EuÄQßÓx? 

19. Give a specimen format of project report. 

 vmh AÔUøP°ß ©õv›¨ £iÁzøu u¸P. 

20. Explain the importance of entrepreneurship development 
programmes. 

 öuõÈØ •øÚÄ ÁÍºa]z vmh[PÎß •UQ¯zxÁzøu 

ÂÁ›UP. 

———————— 


